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Ⱥɧɧɨɬɚɰɢɹ ɤ ɪɚɛɨɱɟɣ ɩɪɨɝɪɚɦɦɟ ɞɢɫɰɢɩɥɢɧɵ  
«ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» 

 

Ⱦɢɫɰɢɩɥɢɧɚ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» ɪɚɡɪɚɛɨɬɚɧɚ ɞɥɹ 
ɫɬɭɞɟɧɬɨɜ, ɨɛɭɱɚɸɳɢɯɫɹ ɩɨ ɧɚɩɪɚɜɥɟɧɢɸ ɩɨɞɝɨɬɨɜɤɢ 07.03.03 «Ⱦɢɡɚɣɧ 
ɚɪɯɢɬɟɤɬɭɪɧɨɣ ɫɪɟɞɵ» ɩɪɨɮɢɥɶ «Ⱥɪɯɢɬɟɤɬɭɪɧɨ-ɞɢɡɚɣɧɟɪɫɤɨɟ 
ɩɪɨɟɤɬɢɪɨɜɚɧɢɟ» ɢ ɨɬɧɨɫɢɬɫɹ ɤ ɨɛɹɡɚɬɟɥɶɧɵɦ ɞɢɫɰɢɩɥɢɧɚɦ ɜɚɪɢɚɬɢɜɧɨɣ 
ɱɚɫɬɢ (ɫɨɝɥɚɫɧɨ ɭɱɟɛɧɨɦɭ ɩɥɚɧɭ – Ȼ1.ȼ.ɈȾ.1). 

Ɉɛɳɚɹ ɬɪɭɞɨɟɦɤɨɫɬɶ ɫɨɫɬɚɜɥɹɟɬ 12 ɡ. ɟ. (432 ɱɚɫɚ). ɍɱɟɛɧɵɦ ɩɥɚɧɨɦ 
ɩɪɟɞɭɫɦɨɬɪɟɧɵ ɩɪɚɤɬɢɱɟɫɤɢɟ ɡɚɧɹɬɢɹ (216 ɱɚɫɨɜ) ɢ ɫɚɦɨɫɬɨɹɬɟɥɶɧɚɹ ɪɚɛɨɬɚ 
ɫɬɭɞɟɧɬɨɜ (216 ɱɚɫɨɜ). Ⱦɢɫɰɢɩɥɢɧɚ ɪɟɚɥɢɡɭɟɬɫɹ ɧɚ 3 ɢ 4 ɤɭɪɫɚɯ ɜ 5, 6 ɢ 7 
ɫɟɦɟɫɬɪɚɯ. Ɏɨɪɦɚ ɚɬɬɟɫɬɚɰɢɢ – ɡɚɱɟɬ (5 ɢ 6 ɫɟɦɟɫɬɪɵ), ɷɤɡɚɦɟɧ (7 ɫɟɦɟɫɬɪ). 

Ⱦɢɫɰɢɩɥɢɧɚ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» ɥɨɝɢɱɟɫɤɢ ɫɜɹɡɚɧɚ 
ɫ ɞɢɫɰɢɩɥɢɧɨɣ «ɂɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ», ɪɟɚɥɢɡɭɟɦɨɣ ɧɚ 1-2 ɤɭɪɫɚɯ.  

ɐɟɥɶ ɢɡɭɱɟɧɢɹ ɞɢɫɰɢɩɥɢɧɵ ɡɚɤɥɸɱɚɟɬɫɹ ɜ ɮɨɪɦɢɪɨɜɚɧɢɢ ɭ ɫɬɭɞɟɧɬɨɜ 
ɤɨɦɦɭɧɢɤɚɬɢɜɧɨɣ ɤɨɦɩɟɬɟɧɰɢɢ, ɩɨɡɜɨɥɹɸɳɟɣ ɢɦ ɢɧɬɟɝɪɢɪɨɜɚɬɶɫɹ ɜ 
ɦɟɠɞɭɧɚɪɨɞɧɭɸ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɭɸ ɫɪɟɞɭ ɢ ɢɫɩɨɥɶɡɨɜɚɬɶ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ 
ɚɧɝɥɢɣɫɤɢɣ ɹɡɵɤ ɤɚɤ ɫɪɟɞɫɬɜɨ ɦɟɠɤɭɥɶɬɭɪɧɨɝɨ ɢ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ 
ɨɛɳɟɧɢɹ. 

Ɂɚɞɚɱɢ ɞɢɫɰɢɩɥɢɧɵ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ»: 
 ɮɨɪɦɢɪɨɜɚɧɢɟ ɢɧɨɹɡɵɱɧɨɝɨ ɬɟɪɦɢɧɨɥɨɝɢɱɟɫɤɨɝɨ ɚɩɩɚɪɚɬɚ 

ɨɛɭɱɚɸɳɢɯɫɹ (ɚɤɚɞɟɦɢɱɟɫɤɚɹ ɫɪɟɞɚ); 
 ɫɮɨɪɦɢɪɨɜɚɬɶ ɭɦɟɧɢɟ ɭɜɟɪɟɧɧɨ ɩɨɥɶɡɨɜɚɬɶɫɹ ɹɡɵɤɨɜɵɦɢ ɫɪɟɞɫɬɜɚɦɢ ɜ 

ɨɫɧɨɜɧɵɯ ɜɢɞɚɯ ɪɟɱɟɜɨɣ ɞɟɹɬɟɥɶɧɨɫɬɢ: ɝɨɜɨɪɟɧɢɢ, ɜɨɫɩɪɢɹɬɢɢ ɧɚ ɫɥɭɯ 
(ɚɭɞɢɪɨɜɚɧɢɢ), ɱɬɟɧɢɢ ɢ ɩɢɫɶɦɟ ɜ ɩɪɨɰɟɫɫɟ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɣ ɢɧɨɹɡɵɱɧɨɣ 
ɤɨɦɦɭɧɢɤɚɰɢɢ; 

 ɨɛɟɫɩɟɱɢɬɶ ɩɪɚɤɬɢɱɟɫɤɨɟ ɜɥɚɞɟɧɢɟ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨ-ɧɚɩɪɚɜɥɟɧɧɨɣ 
ɬɟɪɦɢɧɨɥɨɝɢɟɣ; 

 ɪɚɡɜɢɬɶ ɭɦɟɧɢɹ ɪɚɛɨɬɵ ɫ ɚɭɬɟɧɬɢɱɧɵɦɢ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨ-

ɨɪɢɟɧɬɢɪɨɜɚɧɧɵɦɢ ɬɟɤɫɬɚɦɢ ɢ ɫɨɞɟɪɠɚɳɢɦɢɫɹ ɜ ɧɢɯ ɫɦɵɫɥɨɜɵɦɢ 
ɤɨɧɫɬɪɭɤɰɢɹɦɢ; 

 ɫɮɨɪɦɢɪɨɜɚɬɶ ɭɦɟɧɢɟ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨ ɪɚɛɨɬɚɬɶ ɫɨ 
ɫɩɟɰɢɚɥɢɡɢɪɨɜɚɧɧɨɣ ɥɢɬɟɪɚɬɭɪɨɣ ɧɚ ɚɧɝɥɢɣɫɤɨɦ ɹɡɵɤɟ ɞɥɹ ɩɨɥɭɱɟɧɢɹ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɣ ɢɧɮɨɪɦɚɰɢɢ. 

Ⱦɥɹ ɭɫɩɟɲɧɨɝɨ ɢɡɭɱɟɧɢɹ ɞɢɫɰɢɩɥɢɧɵ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ 
ɹɡɵɤ» ɭ ɨɛɭɱɚɸɳɢɯɫɹ ɞɨɥɠɧɵ ɛɵɬɶ ɫɮɨɪɦɢɪɨɜɚɧɵ ɫɥɟɞɭɸɳɢɟ 
ɩɪɟɞɜɚɪɢɬɟɥɶɧɵɟ ɤɨɦɩɟɬɟɧɰɢɢ: 

 ɡɧɚɧɢɟ ɨɫɧɨɜɧɵɯ ɧɨɪɦ ɢɧɨɫɬɪɚɧɧɨɝɨ ɹɡɵɤɚ ɜ ɨɛɥɚɫɬɢ ɭɫɬɧɨɣ ɢ 
ɩɢɫɶɦɟɧɧɨɣ ɪɟɱɢ; 



 ɭɦɟɧɢɟ ɨɪɢɟɧɬɢɪɨɜɚɬɶɫɹ ɜ ɩɢɫɶɦɟɧɧɨɦ ɢ ɚɭɞɢɨɬɟɤɫɬɟ ɧɚ ɚɧɝɥɢɣɫɤɨɦ 
ɹɡɵɤɟ; 

  ɫɩɨɫɨɛɧɨɫɬɶ ɨɛɨɛɳɚɬɶ ɢɧɮɨɪɦɚɰɢɸ, ɜɵɞɟɥɹɬɶ ɟɟ ɢɡ ɪɚɡɥɢɱɧɵɯ 
ɢɫɬɨɱɧɢɤɨɜ; 

  ɫɩɨɫɨɛɧɨɫɬɶ ɩɨɞɞɟɪɠɚɬɶ ɪɚɡɝɨɜɨɪ ɧɚ ɢɧɨɫɬɪɚɧɧɨɦ ɹɡɵɤɟ ɜ ɪɚɦɤɚɯ 
ɢɡɭɱɟɧɧɵɯ ɬɟɦ; 

 ɢɫɩɨɥɶɡɨɜɚɬɶ ɫɨɜɪɟɦɟɧɧɵɣ ɫɩɪɚɜɨɱɧɨ-ɛɢɛɥɢɨɝɪɚɮɢɱɟɫɤɢɣ ɚɩɩɚɪɚɬ, 
ɫɥɨɜɚɪɢ, ɭɱɟɛɧɭɸ ɥɢɬɟɪɚɬɭɪɭ, ɪɚɡɦɟɳɟɧɧɵɟ ɤɚɤ ɧɚ ɬɪɚɞɢɰɢɨɧɧɵɯ, ɬɚɤ ɢ ɧɚ 
ɷɥɟɤɬɪɨɧɧɵɯ ɧɨɫɢɬɟɥɹɯ ɢɧɮɨɪɦɚɰɢɢ; 

ȼ ɪɟɡɭɥɶɬɚɬɟ ɢɡɭɱɟɧɢɹ ɞɚɧɧɨɣ ɞɢɫɰɢɩɥɢɧɵ ɭ ɨɛɭɱɚɸɳɢɯɫɹ 
ɮɨɪɦɢɪɭɸɬɫɹ ɫɥɟɞɭɸɳɢɟ ɨɛɳɟɤɭɥɶɬɭɪɧɵɟ ɤɨɦɩɟɬɟɧɰɢɢ (ɷɥɟɦɟɧɬɵ 
ɤɨɦɩɟɬɟɧɰɢɣ): 

Ʉɨɞ ɢ ɮɨɪɦɭɥɢɪɨɜɤɚ 
ɤɨɦɩɟɬɟɧɰɢɢ 

ɗɬɚɩɵ ɮɨɪɦɢɪɨɜɚɧɢɹ ɤɨɦɩɟɬɟɧɰɢɢ 

ɈɄ-7  
ɜɥɚɞɟɧɢɟɦ 
ɢɧɨɫɬɪɚɧɧɵɦ ɹɡɵɤɨɦ 
ɜ ɭɫɬɧɨɣ ɢ 
ɩɢɫɶɦɟɧɧɨɣ ɮɨɪɦɟ 
ɞɥɹ ɨɫɭɳɟɫɬɜɥɟɧɢɹ 
ɦɟɠɤɭɥɶɬɭɪɧɨɣ ɢ 
ɢɧɨɹɡɵɱɧɨɣ 
ɤɨɦɦɭɧɢɤɚɰɢɢ 

Ɂɧɚɟɬ 

 ɫɬɪɭɤɬɭɪɧɵɟ ɬɢɩɵ ɩɨɫɬɪɨɟɧɢɹ ɩɪɨɫɬɨɝɨ ɢ 
ɫɥɨɠɧɨɝɨ ɩɪɟɞɥɨɠɟɧɢɹ, ɢɫɩɨɥɶɡɭɟɦɵɟ ɜ 
ɫɩɟɰɢɚɥɢɡɢɪɨɜɚɧɧɨɣ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɣ 
ɥɢɬɟɪɚɬɭɪɟ;  ɭɧɢɜɟɪɫɚɥɶɧɵɟ ɝɪɚɦɦɚɬɢɱɟɫɤɢɟ ɤɚɬɟɝɨɪɢɢ ɢ 
ɹɜɥɟɧɢɹ, ɨɬɫɭɬɫɬɜɭɸɳɢɟ ɜ ɪɨɞɧɨɦ ɹɡɵɤɟ 
(ɜɢɞɨɜɪɟɦɟɧɧɵɟ ɮɨɪɦɵ ɝɥɚɝɨɥɚ, ɫɪɟɞɫɬɜɚ 
ɜɵɪɚɠɟɧɢɹ ɦɨɞɚɥɶɧɨɫɬɢ, ɫɨɝɥɚɫɨɜɚɧɢɟ ɜɪɟɦɟɧ, 
ɢɧɮɢɧɢɬɢɜɧɵɟ ɢ ɩɪɢɱɚɫɬɧɵɟ ɨɛɨɪɨɬɵ, ɝɟɪɭɧɞɢɣ); 

ɍɦɟɟɬ 

 ɢɫɩɨɥɶɡɨɜɚɬɶ ɥɟɤɫɢɤɨ-ɝɪɚɦɦɚɬɢɱɟɫɤɢɟ 
ɟɞɢɧɢɰɵ ɜ ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ ɩɪɚɜɢɥɚɦɢ ɨɪɮɨɝɪɚɮɢɢ 
ɚɧɝɥɢɣɫɤɨɝɨ ɹɡɵɤɚ;  ɭɩɨɬɪɟɛɥɹɬɶ ɮɨɪɦɭɥɵ ɪɟɱɟɜɨɝɨ ɷɬɢɤɟɬɚ ɜ 
ɡɚɜɢɫɢɦɨɫɬɢ ɨɬ ɫɨɰɢɚɥɶɧɨ-ɤɭɥɶɬɭɪɧɨɝɨ ɤɨɧɬɟɤɫɬɚ 
ɨɛɳɟɧɢɹ; 

ȼɥɚɞɟɟɬ 

 ɧɚɜɵɤɚɦɢ ɥɟɤɫɢɱɟɫɤɢ ɩɪɚɜɢɥɶɧɨ ɢ 
ɝɪɚɦɨɬɧɨ, ɥɨɝɢɱɧɨ ɢ ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨ ɩɨɪɨɠɞɚɬɶ 
ɭɫɬɧɵɟ ɢ ɩɢɫɶɦɟɧɧɵɟ ɜɵɫɤɚɡɵɜɚɧɢɹ ɜ ɫɢɬɭɚɰɢɹɯ 
ɦɟɠɤɭɥɶɬɭɪɧɨɝɨ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ ɨɛɳɟɧɢɹ;  ɧɚɜɵɤɚɦɢ ɭɩɨɬɪɟɛɥɟɧɢɹ ɢɡɭɱɟɧɧɵɯ 
ɫɬɪɚɬɟɝɢɢ ɢ ɬɟɯɧɨɥɨɝɢɢ, ɧɟɨɛɯɨɞɢɦɵɯ ɜ 
ɪɚɡɥɢɱɧɵɯ ɨɛɥɚɫɬɹɯ ɢɧɨɹɡɵɱɧɨɣ ɤɨɦɦɭɧɢɤɚɰɢɢ;  ɧɚɜɵɤɚɦɢ ɨɩɪɟɞɟɥɟɧɢɹ ɨɛɨɛɳɟɧɧɵɯ 
ɡɧɚɱɟɧɢɣ ɫɥɨɜ ɧɚ ɨɫɧɨɜɟ ɚɧɚɥɢɡɚ ɤɨɧɬɟɤɫɬɚ ɢ 
ɫɥɨɜɨɨɛɪɚɡɨɜɚɬɟɥɶɧɵɯ ɷɥɟɦɟɧɬɨɜ ɬɟɤɫɬɚ ɩɨ 
ɡɧɚɤɨɦɨɣ ɬɟɦɚɬɢɤɟ ɛɟɡ ɫɥɨɜɚɪɹ; 

ɈɄ-19 ɜɥɚɞɟɧɢɟɦ 
ɥɟɤɫɢɱɟɫɤɢɦɢ 
ɨɫɧɨɜɚɦɢ ɨɞɧɨɝɨ ɢɡ 
ɢɧɨɫɬɪɚɧɧɵɯ ɹɡɵɤɨɜ 
ɦɟɠɞɭɧɚɪɨɞɧɨɝɨ 
ɨɛɳɟɧɢɹ ɧɚ ɭɪɨɜɧɟ, 

Ɂɧɚɟɬ 

 ɨɛɳɟɧɚɭɱɧɵɟ ɬɟɪɦɢɧɵ ɜ ɨɛɴɟɦɟ 
ɞɨɫɬɚɬɨɱɧɨɦ ɞɥɹ ɪɚɛɨɬɵ ɫ ɨɪɢɝɢɧɚɥɶɧɵɦɢ 
ɧɚɭɱɧɵɦɢ ɬɟɤɫɬɚɦɢ ɢ ɬɟɤɫɬɚɦɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ ɯɚɪɚɤɬɟɪɚ;  ɨɫɨɛɟɧɧɨɫɬɢ ɢɧɨɹɡɵɱɧɨɝɨ ɧɚɭɱɧɨɝɨ ɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ ɞɢɫɤɭɪɫɚ, ɢɫɯɨɞɹ ɢɡ ɫɢɬɭɚɰɢɢ 



ɨɛɟɫɩɟɱɢɜɚɸɳɟɦ 
ɭɫɬɧɵɟ ɢ ɩɢɫɶɦɟɧɧɵɟ 
ɦɟɠɥɢɱɧɨɫɬɧɵɟ ɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵɟ 
ɤɨɦɦɭɧɢɤɚɰɢɢ 

ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ ɨɛɳɟɧɢɹ; 

ɍɦɟɟɬ 

 ɩɨɥɶɡɨɜɚɬɶɫɹ ɹɡɵɤɨɜɵɦɢ ɫɪɟɞɫɬɜɚɦɢ ɜ 
ɨɫɧɨɜɧɵɯ ɜɢɞɚɯ ɪɟɱɟɜɨɣ ɞɟɹɬɟɥɶɧɨɫɬɢ: ɝɨɜɨɪɟɧɢɢ, 
ɜɨɫɩɪɢɹɬɢɢ ɧɚ ɫɥɭɯ (ɚɭɞɢɪɨɜɚɧɢɢ), ɱɬɟɧɢɢ, 
ɩɟɪɟɜɨɞɟ ɢ ɩɢɫɶɦɟ;  ɞɟɥɚɬɶ ɜɵɜɨɞɵ, ɨɛɨɛɳɟɧɢɹ, 
ɫɢɫɬɟɦɚɬɢɡɢɪɨɜɚɬɶ ɹɡɵɤɨɜɵɟ ɡɧɚɧɢɹ ɧɚ ɨɫɧɨɜɟ 
ɚɧɚɥɢɡɚ ɩɨɥɭɱɟɧɧɨɣ ɢɧɮɨɪɦɚɰɢɢ ɞɥɹ 
ɚɧɧɨɬɢɪɨɜɚɧɢɹ ɢ ɪɟɮɟɪɢɪɨɜɚɧɢɹ 
ɫɩɟɰɢɚɥɢɡɢɪɨɜɚɧɧɵɯ ɬɟɤɫɬɨɜ;  ɞɟɥɚɬɶ ɭɫɬɧɨɟ ɫɨɨɛɳɟɧɢɟ, ɞɨɤɥɚɞ ɩɨ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɣ ɬɟɦɚɬɢɤɟ;   

ȼɥɚɞɟɟɬ 

 ɧɚɜɵɤɚɦɢ ɩɪɨɞɭɤɬɢɜɧɨɣ ɩɨɞɝɨɬɨɜɥɟɧɧɨɣ ɢ 
ɧɟɩɨɞɝɨɬɨɜɥɟɧɧɨɣ ɭɫɬɧɨɣ ɢ ɩɢɫɶɦɟɧɧɨɣ ɪɟɱɢ ɜ 
ɫɢɬɭɚɰɢɹɯ; ɦɟɠɤɭɥɶɬɭɪɧɨɝɨ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ 
ɨɛɳɟɧɢɹ ɜ ɩɪɟɞɟɥɚɯ ɢɡɭɱɟɧɧɨɝɨ ɹɡɵɤɨɜɨɝɨ 
ɦɚɬɟɪɢɚɥɚ;  ɚɥɝɨɪɢɬɦɨɦ ɨɛɪɚɛɨɬɤɢ ɢɧɮɨɪɦɚɰɢɢ ɫ 
ɢɫɩɨɥɶɡɨɜɚɧɢɟɦ ɪɚɡɥɢɱɧɵɯ ɫɬɪɚɬɟɝɢɣ ɱɬɟɧɢɹ: 
ɨɡɧɚɤɨɦɢɬɟɥɶɧɨɝɨ, ɩɪɨɫɦɨɬɪɨɜɨɝɨ, ɩɨɢɫɤɨɜɨɝɨ, 
ɢɡɭɱɚɸɳɟɝɨ. 

ɈɉɄ-2  

ɫɩɨɫɨɛɧɨɫɬɶɸ 
ɩɪɢɦɟɧɹɬɶ ɡɧɚɧɢɹ 
ɫɦɟɠɧɵɯ ɢ 
ɫɨɩɭɬɫɬɜɭɸɳɢɯ 
ɞɢɫɰɢɩɥɢɧ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ ɩɪɨɟɤɬɨɜ, 
ɞɟɣɫɬɜɨɜɚɬɶ 
ɢɧɧɨɜɚɰɢɨɧɧɨ ɢ 
ɬɟɯɧɢɱɟɫɤɢ ɝɪɚɦɨɬɧɨ 
ɩɪɢ ɢɫɩɨɥɶɡɨɜɚɧɢɢ 
ɫɬɪɨɢɬɟɥɶɧɵɯ 
ɬɟɯɧɨɥɨɝɢɣ, 
ɦɚɬɟɪɢɚɥɨɜ, 
ɤɨɧɫɬɪɭɤɰɢɣ, ɫɢɫɬɟɦ 
ɠɢɡɧɟɨɛɟɫɩɟɱɟɧɢɹ ɢ 
ɢɧɮɨɪɦɚɰɢɨɧɧɨ-

ɤɨɦɩɶɸɬɟɪɧɵɯ 
ɫɪɟɞɫɬɜ 

Ɂɧɚɟɬ 

ɢɧɮɨɪɦɚɰɢɨɧɧɨ-ɤɨɦɩɶɸɬɟɪɧɵɟ ɫɪɟɞɫɬɜɚ 
ɩɪɨɟɤɬɢɪɨɜɚɧɢɹ ɢ ɤɨɦɦɭɧɢɤɚɰɢɣ; ɫɨɜɪɟɦɟɧɧɵɟ 
ɫɬɪɨɢɬɟɥɶɧɵɟ ɦɚɬɟɪɢɚɥɵ ɢ ɤɨɧɫɬɪɭɤɬɢɜɧɵɟ ɫɯɟɦɵ 
ɡɞɚɧɢɣ, ɫɨɜɪɟɦɟɧɧɵɟ ɢɧɠɟɧɟɪɧɵɟ ɫɢɫɬɟɦɵ ɡɞɚɧɢɣ 
ɢ ɫɨɨɪɭɠɟɧɢɣ 

ɍɦɟɟɬ 

ɉɪɢɦɟɧɹɬɶ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ ɩɪɢ ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɨɜ ɫ ɢɫɩɨɥɶɡɨɜɚɧɢɟɦ ɤɨɧɫɬɪɭɤɰɢɣ, 
ɦɚɬɟɪɢɚɥɨɜ ɢ ɩɪɨɝɪɟɫɫɢɜɧɵɯ ɚɪɯɢɬɟɤɬɭɪɧɨ-
ɫɬɪɨɢɬɟɥɶɧɵɯ ɬɟɯɧɨɥɨɝɢɣ ɫɨɝɥɚɫɧɨ ɧɨɪɦɚɬɢɜɧɵɦ 
ɬɪɟɛɨɜɚɧɢɹɦ, ɬɟɯɧɢɱɟɫɤɢɦ ɪɟɝɥɚɦɟɧɬɚɦ ɢ 
ɡɚɤɨɧɨɞɚɬɟɥɶɫɬɜɭ 

ȼɥɚɞɟɟɬ 
 

 

 

 

 

ɦɟɬɨɞɚɦɢ ɤɨɧɫɬɪɭɢɪɨɜɚɧɢɹ ɡɞɚɧɢɣ ɢ ɜɵɛɨɪɚ 
ɢɧɧɨɜɚɰɢɨɧɧɵɯ ɢ ɬɟɯɧɢɱɟɫɤɢ ɝɪɚɦɨɬɧɵɯ 
ɚɪɯɢɬɟɤɬɭɪɧɨ-ɫɬɪɨɢɬɟɥɶɧɵɯ ɬɟɯɧɨɥɨɝɢɣ ɢɯ 
ɜɨɡɜɟɞɟɧɢɹ 

ɉɄ-3 ɫɩɨɫɨɛɧɨɫɬɶɸ 
ɜɡɚɢɦɧɨ 
ɫɨɝɥɚɫɨɜɵɜɚɬɶ 
ɪɚɡɥɢɱɧɵɟ ɫɪɟɞɫɬɜɚ ɢ 

Ɂɧɚɟɬ 
 ɫɪɟɞɫɬɜɚ ɢ ɮɚɤɬɨɪɵ ɩɪɨɟɤɬɢɪɨɜɚɧɢɹ, 
ɫɩɨɫɨɛɵ ɢɧɬɟɝɪɚɰɢɢ ɡɧɚɧɢɣ ɢ ɧɚɜɵɤɨɜ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ ɩɪɨɟɤɬɧɵɯ ɪɟɲɟɧɢɣ 

ɍɦɟɟɬ 
ɢɧɬɟɝɪɢɪɨɜɚɬɶ ɪɚɡɧɵɟ ɮɨɪɦɵ ɡɧɚɧɢɹ ɢ ɧɚɜɵɤɢ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ ɩɪɨɟɤɬɧɵɯ ɪɟɲɟɧɢɣ, ɢ ɤɨɨɪɞɢɧɢɪɨɜɚɬɶ 



ɮɚɤɬɨɪɵ 
ɩɪɨɟɤɬɢɪɨɜɚɧɢɹ, 
ɢɧɬɟɝɪɢɪɨɜɚɬɶ 
ɪɚɡɧɨɨɛɪɚɡɧɵɟ ɮɨɪɦɵ 
ɡɧɚɧɢɹ ɢ ɧɚɜɵɤɢ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ ɩɪɨɟɤɬɧɵɯ 
ɪɟɲɟɧɢɣ, 
ɤɨɨɪɞɢɧɢɪɨɜɚɬɶ 
ɦɟɠɞɢɫɰɢɩɥɢɧɚɪɧɵɟ 
ɰɟɥɢ, ɦɵɫɥɢɬɶ 
ɬɜɨɪɱɟɫɤɢ, 
ɢɧɢɰɢɢɪɨɜɚɬɶ 
ɧɨɜɚɬɨɪɫɤɢɟ ɪɟɲɟɧɢɹ 
ɢ ɨɫɭɳɟɫɬɜɥɹɬɶ 
ɮɭɧɤɰɢɢ ɥɢɞɟɪɚ ɜ 
ɩɪɨɟɤɬɧɨɦ ɩɪɨɰɟɫɫɟ 

 

ɦɟɠɞɢɫɰɢɩɥɢɧɚɪɧɵɟ ɰɟɥɢ 

ȼɥɚɞɟɟɬ 
ɫɩɨɫɨɛɚɦɢ ɢɧɢɰɢɚɰɢɢ ɧɨɜɚɬɨɪɫɤɢɯ ɪɟɲɟɧɢɣ ɢ 
ɨɫɭɳɟɫɬɜɥɟɧɢɟɦ ɮɭɧɤɰɢɣ ɥɢɞɟɪɚ ɜ ɩɪɨɟɤɬɧɨɦ 
ɩɪɨɰɟɫɫɟ 

 

Ⱦɥɹ ɮɨɪɦɢɪɨɜɚɧɢɹ ɜɵɲɟɭɤɚɡɚɧɧɵɯ ɤɨɦɩɟɬɟɧɰɢɣ ɜ ɪɚɦɤɚɯ ɞɢɫɰɢɩɥɢɧɵ 
«ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» ɩɪɢɦɟɧɹɸɬɫɹ ɫɥɟɞɭɸɳɢɟ ɦɟɬɨɞɵ 
ɚɤɬɢɜɧɨɝɨ/ ɢɧɬɟɪɚɤɬɢɜɧɨɝɨ ɨɛɭɱɟɧɢɹ: ɞɟɛɚɬɵ, ɞɢɫɤɭɫɫɢɢ, «ɦɨɡɝɨɜɨɣ» ɲɬɭɪɦ 
(Brainstorming), ɦɟɬɨɞ «ɤɪɭɝɥɨɝɨ ɫɬɨɥɚ», ɛɥɢɰ-ɨɩɪɨɫ, ɩɚɪɧɚɹ ɢ ɤɨɦɚɧɞɧɚɹ 
ɮɨɪɦɵ ɪɚɛɨɬɵ.  

 

 

I. ɋɌɊɍɄɌɍɊȺ ɂ ɋɈȾȿɊɀȺɇɂȿ ɌȿɈɊȿɌɂɑȿɋɄɈɃ ɑȺɋɌɂ ɄɍɊɋȺ  
(0 ɱɚɫ. ɥɟɤɰɢɣ, ɢɡ ɧɢɯ ɆȺɈ – 0 ɱɚɫ.) 

 

Ɍɟɨɪɟɬɢɱɟɫɤɚɹ ɱɚɫɬɶ ɧɟ ɩɪɟɞɭɫɦɨɬɪɟɧɚ ɭɱɟɛɧɵɦ ɩɥɚɧɨɦ. 
 

II. ɋɌɊɍɄɌɍɊȺ ɂ ɋɈȾȿɊɀȺɇɂȿ ɉɊȺɄɌɂɑȿɋɄɈɃ ɑȺɋɌɂ ɄɍɊɋȺ 

 

ɉɪɚɤɬɢɱɟɫɤɢɟ ɡɚɧɹɬɢɹ (216 ɱɚɫ., ɢɡ ɧɢɯ ɆȺɈ – 108 ɱɚɫ.) 
 

Ɍɟɦɚ 1: Education (22 ɱɚɫɚ, ɢɡ ɧɢɯ 12 ɱɚɫɨɜ ɆȺɈ) 
1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) - Becoming a gondolier. 

Astronaut training.  Listening for advice and suggestions. A careers advice 
meeting.  

2. Reading (ɱɬɟɧɢɟ) – making inference from the text. Preparing for success, 
whatever you want to do (higher education). Distance or face-to-face 
learning – аСКЭ’s ЭСО НТППОrОЧМО (ОlОМЭrШЧТМ lОКrЧТЧР). 



3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – education vocabulary; academic words.  
Academic adjectives to describe professions.  

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – comparison and contrast language; comparison 
and contrast language in topic sentences. Stating preferences with would. 

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – analyze academic and 
vocational subjects; prioritize criteria. 

6. Writing (ɩɢɫɶɦɨ) – analyzing an essay question; write an introduction to an 
essay. Outline the various differences between studying a language and 
studying mathematics.  

7. Speaking (ɝɨɜɨɪɟɧɢɟ) – negotiate, prioritize and make decisions. Agreeing 
and disagreeing respectfully with a speaker. Decide as a group which 
candidate should receive a scholarship.  

Topic review and checkpoints.  ɆȺɈ:  
Ɋɚɛɨɬɚ ɜ ɩɚɪɚɯ: Education vocabulary – changing a story.  
Ⱦɢɫɤɭɫɫɢɹ: Distance or face-to-face learning - аСКЭ’s ЭСО НТППОrОЧМО. 
Ɇɨɡɝɨɜɨɣ ɲɬɭɪɦ (ɢɧɞɢɜɢɞɭɚɥɶɧɨ, ɜ ɩɚɪɚɯ, ɜ ɝɪɭɩɩɚɯ):  
What kinds of jobs require a lot of study before you can start doing them? Which 
do not? 
What would you like to change in the education system of your country? 
Advantages and disadvantages of private and state education. 
Is it better to study an academic subject or a vocational course? 
Which do you think you learn more skills from: academic study or working in a 
job? 
What sort of training is required for your future career? 
What sorts of jobs are popular with recent graduates in your country? 
How do you think teaching will change in the future? 
ɉɪɟɡɟɧɬɚɰɢɢ (ɢɧɞɢɜɢɞɭɚɥɶɧɚɹ, ɝɪɭɩɩɨɜɚɹ): My major. 
EЧРТЧООr’s TrКТЭs КЧН EНЮМКЭТШЧ. 
 
Ɍɟɦɚ 2: Medicine (10 ɱɚɫɨɜ, ɢɡ ɧɢɯ 4 ɱɚɫɚ ɆȺɈ) 

1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) – Alternative medicine. 
Anthrax. Identifying viewpoints. A student seminar on pandemics. A debate 
on the flu vaccination.  

2. Reading (ɱɬɟɧɢɟ) – skimming for key words. The homeopathy debate 
(medical ethics). Should healthcare be free? (Economics). 

3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – medical vocabulary; academic vocabulary; 
scientific research.  

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – articles; language of concession; connecting 
actions with time expressions. 

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – evaluate actions for avoiding 
illness; understand whether statements are in favour or against an argument; 
understand background and motivation.  



6. Writing (ɩɢɫɶɦɨ) – writing an introduction to an essay. Structure body 
paragraphs in an essay. Avoiding preventable illnesses is the responsibility 
of individuals and their families, not governments – do you agree? 

7. Speaking (ɝɨɜɨɪɟɧɢɟ) – persuade someone to agree with your point of view. 
Debate whether healthcare should be free.   ɆȺɈ: 

Ɋɚɛɨɬɚ ɜ ɤɨɦɚɧɞɚɯ: Medical vocabulary – running dictation.  
Ɇɨɡɝɨɜɨɣ ɲɬɭɪɦ (ɜ ɝɪɭɩɩɚɯ): Professional ethics.  
Prevention and control of occupational diseases.   
Ⱦɢɫɤɭɫɫɢɹ: Conventional vs alternative medicine. 
How should healthcare be funded – privately or by the state? 
 
Ɍɟɦɚ 3: Art and design (20 ɱɚɫɨɜ, ɢɡ ɧɢɯ 10 ɱɚɫɨɜ ɆȺɈ) 

1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) – Art and design of Leonardo 
da Vinci. Sculpture. Inferring opinions. A radio news show about graffiti. 
An informal debate about public art.  

2. Reading (ɱɬɟɧɢɟ) – sМКЧЧТЧР ЭШ ПТЧН ТЧПШrЦКЭТШЧ. ArЭ ПШr КrЭ’s sКФО? (ПТЧО 
art). Should photography be considered a fine art, like painting or sculpture? 

3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – academic vocabulary related to art; quotations 
and reporting information; describing art.  

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – expressing contrasting opinions; substitution; 
ellipsis.  

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – support arguments; 
understand supporting and challenging statements; evaluate statements. 

6. Writing (ɩɢɫɶɦɨ) – coherence. Write an essay using quotations. Fashion, 
cooking, video games and sport have all been likened to fine art. Are they 
comparable to painting or sculpture? 

7. Speaking (ɝɨɜɨɪɟɧɢɟ) – express opinions in a debate. Participate in an 
informal debate on public art.  

Topic review and checkpoints.  ɆȺɈ: 
Ɋɚɛɨɬɚ ɜ ɩɚɪɚɯ: Describing art – context gap fill.    
Ɋɚɛɨɬɚ ɜ ɤɨɦɚɧɞɚɯ: Analyzing academic vocabulary related to art and design. 
Ⱦɟɛɚɬɵ: The art of photography. 
ArО КrЭ КЧН НОsТРЧ ТЦpШrЭКЧЭ ПШr К МШЮЧЭrв’s ОМШЧШЦв? 
Do you think street art and graffiti should be illegal? Why / why not? 
 

Ɍɟɦɚ 4: Ageing (20 ɱɚɫɨɜ, ɢɡ ɧɢɯ 10 ɱɚɫɨɜ ɆȺɈ) 
1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) – The Khanty of Siberia. 

Taking care of the family. Understanding specific observations and 
generalizations. A radio interview about retirement (economics). 
Presentations on ageing in different countries (social anthropology).  

2. Reading (ɱɬɟɧɢɟ) – using your knowledge to predict content. The social and 
economic impact of ageing (economics). What are the effects of a young 
population on a society. (Social anthropology) 



3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – retirement and the elderly; academic collocations 
with prepositions; academic words for support and assistance.  

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – numerical words and phrases; language of 
prediction; verbs followed by to + infinitive.  

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – analyze data; apply data 
analysis; understand advantages; understand data in a line graph. 

6. Writing (ɩɢɫɶɦɨ) – interpreting graphs and charts. Describe population data 
and its implications. Analyzing population pyramids.  

7. Speaking (ɝɨɜɨɪɟɧɢɟ) – reference data in a presentation, making 
comparisons. Give a presentation on ageing.  

Topic review and checkpoints.  ɆȺɈ: 
Ɋɚɛɨɬɚ ɜ ɤɨɦɚɧɞɚɯ: Academic collocations with preposition for describing ageing 
– РКЦО “АСТМС Тs ЛОЭЭОr”.  
Ʉɪɭɝɥɵɣ ɫɬɨɥ: Effects of a young population on a society. 
Ⱦɢɫɤɭɫɫɢɹ (ɜ ɩɚɪɚɯ, ɜ ɝɪɭɩɩɚɯ): Perfect retirement age. 
Ageing in different countries.  
Challenges of having more old people in modern society. 
Whose responsibility is it to look after elderly people? The family or the state? 
What do you think can be done to ensure that elderly people in society are 
protected and cared for? 
 
Ɍɟɦɚ 5: Globalization (24 ɱɚɫɚ, ɢɡ ɧɢɯ 12 ɱɚɫɨɜ ɆȺɈ) 

1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) – A world of food in one city. 
The globalization of food. Predicting content. A radio program about how 
food travels around the world (environment). A presentation on energy use 
in food production (environment). 

2. Reading (ɱɬɟɧɢɟ) – making predictions from the text type. Turkish treats 
(media). What impact has globalization had on food and eating habits in 
Italy (economics)? 

3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – academic alternatives to phrasal verbs; 
globalization vocabulary; globalization and environment. 

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – noun phrases; time phrases; the active and passive 
voice. 

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – providing supporting 
examples; understand and use pie charts. 

6. Writing (ɩɢɫɶɦɨ) – essay types; essay structure; the first draft of an essay. 
How have food and eating habits changed in your country? 

7. Speaking (ɝɨɜɨɪɟɧɢɟ) – describe charts and data. Give a presentation using 
data from a pie chart. 

Topic review and checkpoints.   ɆȺɈ:  
Ɋɚɛɨɬɚ ɜ ɤɨɦɚɧɞɚɯ: Globalization vocabulary - picture gap fill.  
Ʉɪɭɝɥɵɣ ɫɬɨɥ ɧɚ ɬɟɦɭ: Advantages and disadvantages of Globalization impacts.  
Ɇɨɡɝɨɜɨɣ ɲɬɭɪɦ (ɢɧɞɢɜɢɞɭɚɥɶɧɨ, ɜ ɩɚɪɚɯ, ɜ ɝɪɭɩɩɚɯ):  



Miracles of a modern life. 
Effects of globalization on your country. 
Ⱦɢɫɤɭɫɫɢɹ: Should governments stop the growth of multinational restaurant 
chains to allow local, traditional restaurants compete for customers? 
Globalization and environment.  
 
Ɍɟɦɚ 6: Risk (24 ɱɚɫɚ, ɢɡ ɧɢɯ 12 ɱɚɫɨɜ ɆȺɈ) 

1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) – Roller coaster. Andes 
mountain trek. Listening for clarification. A safety presentation (sport). A 
risk-assessment meeting (occupational health). 

2. Reading (ɱɬɟɧɢɟ) – previewing a topic before reading. Are you a risk taker, 
or are you risk-adverse (psychology)? A government has a duty to protect its 
citizens from personal, professional and financial risk (public 
administration). 

3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – language of freedom; academic nouns; adjectives 
to describe risk. 

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – cause and effect; conditional language; expressing 
certainty about future events.  

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – evaluate risks; apply risk 
evaluation; understand statistics. 

6. Writing (ɩɢɫɶɦɨ) – ЭШpТМ sОЧЭОЧМОs ТЧ ЛШНв pКrКРrКpСs. SЭrЮМЭЮrО “ПШr КЧН 
КРКТЧsЭ” КrРЮЦОЧЭs ТЧ ОssКвs. ”IП МСТlНrОЧ КrО ЧОЯОr ОбpШsОН ЭШ rТsФ, ЭСОв 
аТll ЧОЯОr ЛО КЛlО ЭШ МШpО аТЭС rТsФ” (РТЯО rОКsШЧs ПШr КЧН КРКТЧsЭ ЭСТs 
statement and give your opinion). 

7. Speaking (ɝɨɜɨɪɟɧɢɟ) – discuss risk; discuss and complete a risk-assessment 
form. 

Topic review and checkpoint.  ɆȺɈ: 
Ɋɚɛɨɬɚ ɜ ɩɚɪɚɯ: Language of freedom – defining parts of speech and speech 
patterns. 
Vocabulary for scientific research – Jigsaw puzzle. 
Ȼɥɢɰ-ɨɩɪɨɫ: Risk-taking vs risk-adverse.  
Ɋɚɛɨɬɚ ɜ ɤɨɦɚɧɞɚɯ: Safety regulations. 
Ɇɨɡɝɨɜɨɣ ɲɬɭɪɦ (ɢɧɞɢɜɢɞɭɚɥɶɧɨ, ɜ ɩɚɪɚɯ, ɜ ɝɪɭɩɩɚɯ): What kind of risks do 
people often take in their personal or professional lives?  
Do you think extreme sports in general are worth the risks people take to do them? 
What new legislation should be implemented to further protect people from risk in 
society? 
Ⱦɢɫɤɭɫɫɢɹ: Contemporary engineering researches.  
Occupational safety. 
 
Ɍɟɦɚ 7: Architecture (24 ɱɚɫɚ, ɢɡ ɧɢɯ 12 ɱɚɫɨɜ ɆȺɈ) 

1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) – Islamic architecture. 
Changing China. Understanding analogies. A conversation between two 



property developers (urban planning). A housing development meeting 
(urban planning). 

2. Reading (ɱɬɟɧɢɟ) – skimming. Are green buildings too costly? 
(Environmental planning). Which is more important when designing a 
building: beauty or function? (Building design). 

3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – academic word families; architecture and 
planning; academic vocabulary for architecture and transformation.  

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – register in academic writing; verbs with future 
meaning. 

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – evaluate arguments; analyze 
arguments; compare requirements to solutions.  

6. Writing (ɩɢɫɶɦɨ) – ordering information; write a persuasive essay. Which is 
more important when building or buying a new home: its location or its 
size? 

7. Speaking (ɝɨɜɨɪɟɧɢɟ) – identify problems and suggest solutions; emphasize 
a word or idea to signal a problem. Discuss a housing problem and possible 
solutions.  

Topic review and checkpoints.  ɆȺɈ: 
Ɋɚɛɨɬɚ ɜ ɩɚɪɚɯ: Academic word families for architecture and planning – creating 
clouds.  
Ⱦɢɫɤɭɫɫɢɹ (ɜ ɩɚɪɚɯ, ɜ ɝɪɭɩɩɚɯ): Housing problems - location or size. 
Would you live in an eco-home if you had to pay more for its environmentally 
friendly features? Why / Why not? 
How can architects design buildings to use less energy in their construction or use? 
ɉɪɟɡɟɧɬɚɰɢɹ: Traditional and modern buildings in our country: the differences 
and similarities.  
Ⱦɟɛɚɬɵ: Importance when designing building: beauty or function.  
 

Ɍɟɦɚ 8: Manufacturing (32 ɱɚɫɚ, ɢɡ ɧɢɯ 16 ɱɚɫɨɜ ɆȺɈ) 
1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) – Making chocolate. Making a 

running shoe. Signposting. A lecture on the history of clothes manufacturing 
(history). A tour of a car manufacturing plant (manufacturing).  

2. Reading (ɱɬɟɧɢɟ) – activating prior knowledge. A brief history of silk 
(history). How is paper manufactured? (Manufacturing systems).  

3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – academic verb synonyms; nominalization; 
academic vocabulary for production and processes.  

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – the passive; sequencing; modals for necessity and 
obligation. 

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – understand the stages in a 
process; apply understanding of the stages in a process; use dependency 
diagrams.  

6. Writing (ɩɢɫɶɦɨ) – adding detail to your writing. Write a description of a 
process with which you are familiar. 



7. Speaking (ɝɨɜɨɪɟɧɢɟ) – explain the order of steps in a process; stress words 
that indicate order. Explain a process.  

Topic review and checkpoints.  ɆȺɈ: 
Ɋɚɛɨɬɚ ɜ ɩɚɪɚɯ: Academic vocabulary for production and processes - Jigsaw 
puzzle. 
How paper is manufactured – making a story. 
Ɋɚɛɨɬɚ ɜ ɤɨɦɚɧɞɟ: Use dependency diagrams – creating and explaining. 
Ɇɨɡɝɨɜɨɣ ɲɬɭɪɦ (ɢɧɞɢɜɢɞɭɚɥɶɧɨ, ɜ ɩɚɪɚɯ, ɜ ɝɪɭɩɩɚɯ):  
What things is your country famous for manufacturing? 
Should we protect traditional industries such as silk-making, even if they are 
unprofitable? 
Ways to improve efficiency of waste treatment plants.  
Ⱦɢɫɤɭɫɫɢɹ (ɜ ɩɚɪɚɯ, ɜ ɝɪɭɩɩɚɯ): Innovations in Engineering. 
Variability and intermittency of developments.  
ɉɪɟɡɟɧɬɚɰɢɹ (ɢɧɞɢɜɢɞɭɚɥɶɧɚɹ, ɝɪɭɩɩɨɜɚɹ): Small-scale production.  
Nanotechnologies and nanomaterials. 
 
Ɍɟɦɚ 9: Environment (20 ɱɚɫɨɜ, ɢɡ ɧɢɯ 10 ɱɚɫɨɜ ɆȺɈ) 

1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) – Orangutan conservation. The 
Three Gorges Dam. Distinguishing main ideas from details. A lecture about 
environmental change (environment). A talk about the destruction of deserts 
(environment).  

2. Reading (ɱɬɟɧɢɟ) – identify cohesive devices. Disaster mitigation 
(meteorology). Combating drought in rural Africa: a report (environment). 

3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – verbs to describe environmental change; natural 
disaster vocabulary; academic noun phrases.  

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – complex prepositions; expressing solutions using 
it. 

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – organize a presentation; 
analyze strategies; create a diagram analyzing strategies in terms of cost and 
time. 

6. Writing (ɩɢɫɶɦɨ) – paragraph structure in essays. Write a report referring to 
a case study. Write a report which provides both short- and long-term 
solutions to an environmental problem. Refer to a specific case study in your 
report.  

7. Speaking (ɝɨɜɨɪɟɧɢɟ) – explain a problem and offer a solution. Give a 
presentation on the destruction of the Saharan desert. 

Topic review and checkpoints.  ɆȺɈ: 
Ɋɚɛɨɬɚ ɜ ɩɚɪɚɯ: Disaster vocabulary – alphabet game.  
Ɋɚɛɨɬɚ ɜ ɤɨɦɚɧɞɚɯ: Creating a diagram analyzing strategies in terms of cost and 
time.  
Ɇɨɡɝɨɜɨɣ ɲɬɭɪɦ: Disaster mitigation.  
Ⱦɟɛɚɬɵ: Engineering and environment.  



 
Ɍɟɦɚ 10: Energy (20 ɱɚɫɨɜ, ɢɡ ɧɢɯ 10 ɱɚɫɨɜ ɆȺɈ) 

1. Video and listening (ɜɢɞɟɨ ɢ ɚɭɞɢɪɨɜɚɧɢɟ) – Alternative energy. Water 
power. Understanding digressions. A radio show on the island of El Hierro 
(environment). A chaired meeting about energy saving in an office 
(environment).  

2. Reading (ɱɬɟɧɢɟ) – working out meaning from context. Slides from a 
presentation on energy (energy development). The world is running out of 
many vital natural resources. Discuss the most effective ways to address this 
problem (environment).  

3. Vocabulary (ɜɨɤɚɛɭɥɹɪ) – energy collocations; formal and informal 
academic words; academic vocabulary for networks and systems.  

4. Grammar (ɝɪɚɦɦɚɬɢɤɚ) – relative clauses; defining and non-defining 
relative clauses; phrases to introduce advantages and disadvantages; 
connecting ideas between sentences.  

5. Critical thinking (ɤɪɢɬɢɱɟɫɤɨɟ ɦɵɲɥɟɧɢɟ) – evaluate your answers to a 
questionnaire; understand alternative energy sources; identify pros and cons. 

6. Writing (ɩɢɫɶɦɨ) – editing language; spelling; countable/uncountable 
nouns. Write a problem-solution essay. The world is unable to meet its 
energy needs. What three sources of renewable energy would be most 
effective in solving this problem in your country? Which is your preferred 
option? 

7. Speaking (ɝɨɜɨɪɟɧɢɟ) – keep a discussion moving; participate in a chaired 
discussion on saving energy. 

Topic review and checkpoints.   ɆȺɈ: 
Ɋɚɛɨɬɚ ɜ ɤɨɦɚɧɞɚɯ: Vocabulary for networks and systems – snowball game. 
Ƚɪɭɩɩɨɜɵɟ ɩɪɟɡɟɧɬɚɰɢɢ: Alternative energy sources. 
Ɇɨɡɝɨɜɨɣ ɲɬɭɪɦ (ɢɧɞɢɜɢɞɭɚɥɶɧɵɣ, ɜ ɩɚɪɚɯ, ɜ ɝɪɭɩɩɚɯ):  
Alternative energy projects in your country. 
Problems with using nuclear power. 
Water power.  
Running out of recourses. 
Energy saving.  
 

Ʌɚɛɨɪɚɬɨɪɧɵɟ ɪɚɛɨɬɵ (0/0ɱɚɫ. ɢɡ ɧɢɯ ɆȺɈ) 

 

Ʌɚɛɨɪɚɬɨɪɧɵɟ ɪɚɛɨɬɵ ɧɟ ɩɪɟɞɭɫɦɨɬɪɟɧɵ ɭɱɟɛɧɵɦ ɩɥɚɧɨɦ. 
 

III.  ɍɑȿȻɇɈ-ɆȿɌɈȾɂɑȿɋɄɈȿ ɈȻȿɋɉȿɑȿɇɂȿ 
ɋȺɆɈɋɌɈəɌȿɅɖɇɈɃ ɊȺȻɈɌɕ ɈȻɍɑȺɘɓɂɏɋə 

 

ɍɱɟɛɧɨ-ɦɟɬɨɞɢɱɟɫɤɨɟ ɨɛɟɫɩɟɱɟɧɢɟ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɵ 
ɨɛɭɱɚɸɳɢɯɫɹ ɩɨ ɞɢɫɰɢɩɥɢɧɟ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» 
ɩɪɟɞɫɬɚɜɥɟɧɨ ɜ ɉɪɢɥɨɠɟɧɢɢ 1 ɢ ɜɤɥɸɱɚɟɬ ɜ ɫɟɛɹ: 



- ɩɥɚɧ-ɝɪɚɮɢɤ ɜɵɩɨɥɧɟɧɢɹ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɵ ɩɨ ɞɢɫɰɢɩɥɢɧɟ, ɜ ɬɨɦ 
ɱɢɫɥɟ ɩɪɢɦɟɪɧɵɟ ɧɨɪɦɵ ɜɪɟɦɟɧɢ ɧɚ ɜɵɩɨɥɧɟɧɢɟ ɩɨ ɤɚɠɞɨɦɭ ɡɚɞɚɧɢɸ; 
- ɯɚɪɚɤɬɟɪɢɫɬɢɤɭ ɡɚɞɚɧɢɣ ɞɥɹ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɵ ɨɛɭɱɚɸɳɢɯɫɹ ɢ 
ɦɟɬɨɞɢɱɟɫɤɢɟ ɪɟɤɨɦɟɧɞɚɰɢɢ ɩɨ ɢɯ ɜɵɩɨɥɧɟɧɢɸ; 
- ɬɪɟɛɨɜɚɧɢɹ ɤ ɩɪɟɞɫɬɚɜɥɟɧɢɸ ɢ ɨɮɨɪɦɥɟɧɢɸ ɪɟɡɭɥɶɬɚɬɨɜ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ 
ɪɚɛɨɬɵ; 
- ɤɪɢɬɟɪɢɢ ɨɰɟɧɤɢ ɜɵɩɨɥɧɟɧɢɹ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɵ; 
- ɡɚɞɚɧɢɹ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ.  

Ɋɚɫɩɪɟɞɟɥɟɧɢɟ ɱɚɫɨɜ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɵ ɩɨ ɫɟɦɟɫɬɪɚɦ: 5 ɫɟɦɟɫɬɪ – 
72 ɱɚɫɚ, 6 ɫɟɦɟɫɬɪ – 72 ɱɚɫɚ, 7 ɫɟɦɟɫɬɪ – 72 ɱɚɫɚ, ɢɡ ɧɢɯ 45 ɱɚɫɨɜ 
ɫɚɦɨɫɬɨɹɬɟɥɶɧɚɹ ɪɚɛɨɬɚ ɢ 27 ɱɚɫɨɜ - ɩɨɞɝɨɬɨɜɤɚ ɤ ɷɤɡɚɦɟɧɭ. ȼɫɟɝɨ ɱɚɫɨɜ ɧɚ 
ɫɚɦɨɫɬɨɹɬɟɥɶɧɭɸ ɪɚɛɨɬɭ – 216.   

 
№ Ɍɟɦɚ Ⱥɭɞɢɬɨɪɧɚɹ ɪɚɛɨɬɚ  ɋɚɦɨɫɬɨɹɬɟɥɶɧɚɹ ɪɚɛɨɬɚ 

1 Education 22 ɱɚɫ. 23 ɱɚɫ.  

2 Medicine 10 ɱɚɫ. 6 ɱɚɫ. 

3 Art and design 20 ɱɚɫ. 17 ɱɚɫ. 

4 Ageing 20 ɱɚɫ. 26 ɱɚɫ. 

ɂɬɨɝɨ 5 ɫɟɦɟɫɬɪ  72 ɱɚɫɚ 72 ɱɚɫ. 

5 Globalization 24 ɱɚɫ. 22 ɱɚɫ. 

6 Risk 24 ɱɚɫ. 18 ɱɚɫ. 

7 Architecture 24 ɱɚɫ. 32 ɱɚɫ. 

ɂɬɨɝɨ 6 ɫɟɦɟɫɬɪ 72 ɱɚɫɚ 72 ɱɚɫ.  
8 Manufacturing 32 ɱɚɫ. 24 

9 Environment 20 ɱɚɫ. 9 

10 Energy 20  12 

ɉɨɞɝɨɬɨɜɤɚ ɤ ɷɤɡɚɦɟɧɭ 27 ɱɚɫ. 
ɂɬɨɝɨ 7 ɫɟɦɟɫɬɪ  72 ɱɚɫɚ 72 ɱɚɫ.  
 

IV. ɄɈɇɌɊɈɅɖ ȾɈɋɌɂɀȿɇɂə ɐȿɅȿɃ ɄɍɊɋȺ 

 

№ 
ɩ/ɩ 

Ʉɨɧɬɪɨɥɢɪɭɟɦɵɟ ɪɚɡɞɟɥɵ / ɬɟɦɵ 
ɞɢɫɰɢɩɥɢɧɵ 

Ɉɰɟɧɨɱɧɵɟ ɫɪɟɞɫɬɜɚ  
ɬɟɤɭɳɢɣ 
ɤɨɧɬɪɨɥɶ 

ɩɪɨɦɟɠɭɬɨɱɧɚɹ 
ɚɬɬɟɫɬɚɰɢɹ 

1 Education 

ɉɊ-1 

ɉɊ-13 

ɍɈ-4 

Ɂɚɞɚɧɢɹ ɤ ɡɚɱɟɬɭ 1-4 
2 Medicine ɍɈ-4 

3 Art and design 
ɉɊ-1 

ɍɈ-4 

4 Ageing 
ɉɊ-1 

ɍɈ-4 

5 Globalization 
ɉɊ-1 

ɍɈ-4 

Ɂɚɞɚɧɢɹ ɤ ɡɚɱɟɬɭ 5-7 

 



6 Risk 
ɉɊ-1 

ɍɈ-4 

7 Architecture 

ɉɊ-1 

ɉɊ-13 

ɍɈ-4 

8 Manufacturing 

ɉɊ-1 

ɉɊ-13 

ɍɈ-4 Ɂɚɞɚɧɢɹ ɤ ɷɤɡɚɦɟɧɭ  
1-3 

 
9 Environment 

ɉɊ-1 

ɍɈ-4 

10 Energy 
ɉɊ-1 

ɉɊ-13 

 
Ɍɢɩɨɜɵɟ ɤɨɧɬɪɨɥɶɧɵɟ ɡɚɞɚɧɢɹ, ɦɟɬɨɞɢɱɟɫɤɢɟ ɦɚɬɟɪɢɚɥɵ, ɨɩɪɟɞɟɥɹɸɳɢɟ 

ɩɪɨɰɟɞɭɪɵ ɨɰɟɧɢɜɚɧɢɹ ɡɧɚɧɢɣ, ɭɦɟɧɢɣ ɢ ɧɚɜɵɤɨɜ ɢ (ɢɥɢ) ɨɩɵɬɚ 
ɞɟɹɬɟɥɶɧɨɫɬɢ, ɚ ɬɚɤɠɟ ɤɪɢɬɟɪɢɢ ɢ ɩɨɤɚɡɚɬɟɥɢ, ɧɟɨɛɯɨɞɢɦɵɟ ɞɥɹ ɨɰɟɧɤɢ 
ɡɧɚɧɢɣ, ɭɦɟɧɢɣ, ɧɚɜɵɤɨɜ ɢ ɯɚɪɚɤɬɟɪɢɡɭɸɳɢɟ ɷɬɚɩɵ ɮɨɪɦɢɪɨɜɚɧɢɹ 
ɤɨɦɩɟɬɟɧɰɢɣ ɜ ɩɪɨɰɟɫɫɟ ɨɫɜɨɟɧɢɹ ɨɛɪɚɡɨɜɚɬɟɥɶɧɨɣ ɩɪɨɝɪɚɦɦɵ, 
ɩɪɟɞɫɬɚɜɥɟɧɵ ɜ ɉɪɢɥɨɠɟɧɢɢ 2. 
  



V. ɋɉɂɋɈɄ ɍɑȿȻɇɈɃ ɅɂɌȿɊȺɌɍɊɕ ɂ ɂɇɎɈɊɆȺɐɂɈɇɇɈ-

ɆȿɌɈȾɂɑȿɋɄɈȿ ɈȻȿɋɉȿɑȿɇɂȿ ȾɂɋɐɂɉɅɂɇɕ 

 

Ɉɫɧɨɜɧɚɹ ɥɢɬɟɪɚɬɭɪɚ 

(ɷɥɟɤɬɪɨɧɧɵɟ ɢ ɩɟɱаɬɧɵɟ ɢɡɞаɧɢя) 
 

1. Unlock 4: Listening & speaking skills / Lewis Lansford [Cambridge]: 
Cambridge University Press, 2014. – 224 p.  
ɇȻ ȾȼɎɍ https://lib.dvfu.ru:8443/lib/item?id=chamo:792483&theme=FEFU 

2. Unlock 4: Reading & writing skills / Chris Sowton [Cambridge]: 
Cambridge University Press, 2014. – 208 p.  
ɇȻ ȾȼɎɍ https://lib.dvfu.ru:8443/lib/item?id=chamo:792463&theme=FEFU 

3. Ⱥɧɝɥɢɣɫɤɢɣ ɹɡɵɤ ɞɥɹ ɢɧɠɟɧɟɪɨɜ Дɗɥɟɤɬɪɨɧɧɵɣ ɪɟɫɭɪɫЖ: ɭɱɟɛɧɨɟ 
ɩɨɫɨɛɢɟ ɞɥɹ ɬɟɯɧɢɱɟɫɤɢɯ ɧɚɩɪɚɜɥɟɧɢɣ ɢ ɫɩɟɰɢɚɥɶɧɨɫɬɟɣ ɜɭɡɨɜ / Ɉ. ɉ. 
Ƚɚɜɪɢɥɨɜɚ; Ⱦɚɥɶɧɟɜɨɫɬɨɱɧɵɣ ɮɟɞɟɪɚɥɶɧɵɣ ɭɧɢɜɟɪɫɢɬɟɬ, 2014. – 87 c.  
ɇȻ ȾȼɎɍ https://lib.dvfu.ru:8443/lib/item?id=chamo:756348&theme=FEFU  
   

Ⱦɨɩɨɥɧɢɬɟɥɶɧɚɹ ɥɢɬɟɪɚɬɭɪɚ 

(ɩɟɱаɬɧɵɟ ɢ ɷɥɟɤɬɪɨɧɧɵɟ ɢɡɞаɧɢя) 
 

1. Unlock 4: reading & writing skills: teacher's book / Johanna Stirling. 
[Cambridge]: Cambridge University Press, 2014. – 135 p.  

ɇȻ ȾȼɎɍ  
https://lib.dvfu.ru:8443/lib/item?aid=FozdCCBcOIKGDANRzX7HpFGtsfW0

qbAtWxO82uNdfQk%3D%3BXGVFYobKDkuRAAkoPQqExw%3D%3D%3BP1
izDbMRnWRE4wwVhlNl2CLzzA%2B2sqaUgA4KoE1DEH74bLTTaTVARmxM
qff%2BwSTvCqxZnSd8XG3pZ8Fkxjpbz4aF4om8xTS%2Bjw3NZHGyqcA%3D
&id=chamo:792283      

2. Unlock 4: listening & speaking skills: teacher's book / Jeremy Day 
[Cambridge]: Cambridge University Press, 2014. – 127 p.  

ɇȻ ȾȼɎɍ 
https://lib.dvfu.ru:8443/lib/item?aid=gRnnlaqQCtTK0fvDXXaDWlqNQAySa

O2Rb2TMWgMu05w%3D%3By88n3sJmxETXl3eKZLK2iQ%3D%3D%3BHJb
W5/i1tjpby/HSEBvH47vRInioYIQbspisozhNJ26fzCcVZB8LzcYuk2LRwKsG2l%
2BZyp1FjFjIuStG59FskkR082KP2aXC6Ht6vQ2S1dQ%3D&id=chamo:792303   

3. Murphy R. English Grammar in Use. A reference and practice book for 
intermediate learners of  English – Cambridge: Cambridge University Press, 2012. 
– 328 p.  

ɇȻ ȾȼɎɍ https://lib.dvfu.ru:8443/lib/item?id=chamo:708964&theme=FEFU 
4. Ⱦɪɨɡɞɨɜɚ Ɍ.ɘ. English Grammar. Reference & Practice with a separate 

key volume – ɋɉɛ.: Ⱥɧɬɨɥɨɝɢɹ, 2007. – 464 c. 
ɇȻ ȾȼɎɍ https://lib.dvfu.ru:8443/lib/item?id=chamo:259168&theme=FEFU 

 

ɉɟɪɟɱɟɧɶ ɪɟɫɭɪɫɨɜ ɢɧɮɨɪɦɚɰɢɨɧɧɨ-ɬɟɥɟɤɨɦɦɭɧɢɤɚɰɢɨɧɧɨɣ ɫɟɬɢ 
«ɂɧɬɟɪɧɟɬ» 
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ɪɭɫɫɤɢɣ ɹɡɵɤ https://www.multitran.ru/   

2. Merriam-Webster Dictionary - ɨɞɧɨɹɡɵɱɧɵɣ ɨɧɥɚɣɧ ɫɥɨɜɚɪɶ ɢ 
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http://www.oxforddictionaries.com/    
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10. Cambridge University Press - ɫɚɣɬ ɞɥɹ ɢɡɭɱɚɸɳɢɯ ɚɧɝɥɢɣɫɤɢɣ ɹɡɵɤ 
http://www.cambridgeenglish.org/    

11. Ⱦɟɥɨɜɨɣ ɚɧɝɥɢɣɫɤɢɣ - ɦɚɬɟɪɢɚɥɵ ɞɥɹ ɢɡɭɱɟɧɢɹ ɞɟɥɨɜɨɝɨ 
ɚɧɝɥɢɣɫɤɨɝɨ ɹɡɵɤɚ: ɭɱɟɛɧɢɤɢ, ɨɛɪɚɡɰɵ ɩɢɫɟɦ, ɪɚɡɝɨɜɨɪɧɵɟ ɮɪɚɡɵ, ɩɪɢɦɟɪɵ 
ɪɟɡɸɦɟ, ɫɥɨɜɚɪɢ: http://www.delo-angl.ru  

12. Study English - ɫɚɣɬ ɞɥɹ ɢɡɭɱɚɸɳɢɯ ɚɧɝɥɢɣɫɤɢɣ ɹɡɵɤ, ɫɬɭɞɟɧɬɨɜ, 
ɩɪɟɩɨɞɚɜɚɬɟɥɟɣ ɜɭɡɨɜ ɢ ɩɟɪɟɜɨɞɱɢɤɨɜ: http://study-english.info   

13. Grammar.htm - ɚɧɝɥɢɣɫɤɚɹ ɝɪɚɦɦɚɬɢɤɚ ɧɚ HШЦОEЧРlТsС.rЮ: 
http://www.homeenglish.ru  

14. MyStudy - ɚɧɝɥɢɣɫɤɚɹ ɝɪɚɦɦɚɬɢɤɚ ɧɚ: http://www.mystudy.ru  
 

ɉɟɪɟɱɟɧɶ ɢɧɮɨɪɦɚɰɢɨɧɧɵɯ ɬɟɯɧɨɥɨɝɢɣ  
ɢ ɩɪɨɝɪɚɦɦɧɨɝɨ ɨɛɟɫɩɟɱɟɧɢɹ 

- Ɉɩɟɪɚɰɢɨɧɧɚɹ ɫɢɫɬɟɦɚ Windows – ɩɚɤɟɬ Microsoft Office (Word, Excel, 
PowerPoint).  
- AМrШЛКЭ RОКНОr ɤɨɦɩɚɧɢɢ AНШЛО. 
 

VI. ɆȿɌɈȾɂɑȿɋɄɂȿ ɍɄȺɁȺɇɂə  
ɉɈ ɈɋȼɈȿɇɂɘ ȾɂɋɐɂɉɅɂɇɕ 

 

ɋɬɪɭɤɬɭɪɚ ɢɡɭɱɟɧɢɹ ɤɭɪɫɚ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» 
ɹɜɥɹɟɬɫɹ ɩɪɚɤɬɢɤɨɨɪɢɟɧɬɢɪɨɜɚɧɧɨɣ. Ɉɫɧɨɜɧɨɣ ɮɨɪɦɨɣ ɪɚɛɨɬɵ ɩɪɢ ɢɡɭɱɟɧɢɢ 
ɢɧɨɫɬɪɚɧɧɨɝɨ ɹɡɵɤɚ ɹɜɥɹɸɬɫɹ ɩɪɚɤɬɢɱɟɫɤɢɟ ɡɚɧɹɬɢɹ.  

ɉɪɢ ɨɪɝɚɧɢɡɚɰɢɢ ɭɱɟɛɧɨɣ ɞɟɹɬɟɥɶɧɨɫɬɢ ɧɚ ɩɪɚɤɬɢɱɟɫɤɢɯ ɡɚɧɹɬɢɹɯ 
ɲɢɪɨɤɨ ɢɫɩɨɥɶɡɭɸɬɫɹ ɤɚɤ ɬɪɚɞɢɰɢɨɧɧɵɟ, ɬɚɤ ɢ ɫɨɜɪɟɦɟɧɧɵɟ ɷɥɟɤɬɪɨɧɧɵɟ 
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ɧɨɫɢɬɟɥɢ ɢɧɮɨɪɦɚɰɢɢ, ɚ ɬɚɤɠɟ ɫɨɜɪɟɦɟɧɧɵɟ ɤɨɦɦɭɧɢɤɚɬɢɜɧɵɟ 
ɨɛɪɚɡɨɜɚɬɟɥɶɧɵɯ ɬɟɯɧɢɤɢ ɢ ɬɟɯɧɨɥɨɝɢɣ.  

ɂɫɩɨɥɶɡɨɜɚɧɢɟ ɞɨɩɨɥɧɢɬɟɥɶɧɵɯ ɦɚɬɟɪɢɚɥɨɜ ɫ ɷɥɟɤɬɪɨɧɧɵɯ ɢɫɬɨɱɧɢɤɨɜ 
ɩɨɡɜɨɥɹɟɬ ɭɱɢɬɵɜɚɬɶ ɭɪɨɜɟɧɶ ɭɱɟɛɧɨɣ ɝɨɬɨɜɧɨɫɬɢ ɤɚɠɞɨɝɨ ɨɛɭɱɚɸɳɟɝɨɫɹ, 
ɨɬɪɚɛɚɬɵɜɚɬɶ ɬɪɭɞɧɨɫɬɢ, ɤɨɬɨɪɵɟ ɦɨɝɭɬ ɜɨɡɧɢɤɧɭɬɶ ɩɪɢ ɜɵɩɨɥɧɟɧɢɢ 
ɚɭɞɢɬɨɪɧɨɣ ɢ ɜɧɟɚɭɞɢɬɨɪɧɨɣ ɭɱɟɛɧɨɣ ɞɟɹɬɟɥɶɧɨɫɬɢ, ɨɛɟɫɩɟɱɢɬɶ ɜɨɡɦɨɠɧɨɫɬɶ 
ɷɮɮɟɤɬɢɜɧɨɝɨ ɤɨɧɬɪɨɥɹ ɢ ɫɚɦɨɤɨɧɬɪɨɥɹ.  

ȼ ɫɢɫɬɟɦɟ ɩɨɞɝɨɬɨɜɤɢ ɫɬɭɞɟɧɬɨɜ ɩɪɚɤɬɢɱɟɫɤɢɟ ɡɚɧɹɬɢɹ ɩɨɡɜɨɥɹɸɬ 
ɩɪɢɨɛɪɟɬɚɬɶ ɢ ɫɨɜɟɪɲɟɧɫɬɜɨɜɚɬɶ ɨɛɳɟɤɭɥɶɬɭɪɧɵɟ ɤɨɦɩɟɬɟɧɰɢɢ. ɐɟɥɢ 
ɩɪɚɤɬɢɱɟɫɤɢɯ ɡɚɧɹɬɢɣ: 

  ɫɨɡɞɚɬɶ ɭɫɥɨɜɢɹ ɞɥɹ  ɭɝɥɭɛɥɟɧɢɹ ɢ ɫɢɫɬɟɦɚɬɢɡɚɰɢɢ ɡɧɚɧɢɣ ɩɨ 
ɢɧɨɫɬɪɚɧɧɨɦɭ ɹɡɵɤɭ ɜ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɣ ɫɮɟɪɟ; 

  ɧɚɭɱɢɬɶ ɫɬɭɞɟɧɬɨɜ ɢɫɩɨɥɶɡɨɜɚɬɶ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ ɞɥɹ ɪɟɲɟɧɢɹ ɡɚɞɚɱ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ ɯɚɪɚɤɬɟɪɚ; 

  ɮɨɪɦɢɪɨɜɚɬɶ ɭɱɟɛɧɵɟ ɤɨɦɩɟɬɟɧɰɢɢ  ɢ ɩɨɡɧɚɜɚɬɟɥɶɧɭɸ ɦɨɬɢɜɚɰɢɸ, 
ɥɟɠɚɳɢɟ ɜ ɨɫɧɨɜɟ ɫɚɦɨɨɛɪɚɡɨɜɚɧɢɹ, ɫɚɦɨɪɚɡɜɢɬɢɹ ɢ ɫɚɦɨɤɨɧɬɪɨɥɹ. 

ɉɪɚɤɬɢɱɟɫɤɢɟ ɡɚɧɹɬɢɹ ɩɪɨɜɨɞɹɬɫɹ ɜ ɭɱɟɛɧɨɣ ɝɪɭɩɩɟ. Ⱦɥɹ ɜɵɩɨɥɧɟɧɢɹ 
ɪɚɡɧɨɨɛɪɚɡɧɵɯ ɭɱɟɛɧɵɯ ɡɚɞɚɱ ɫɨɡɞɚɸɬɫɹ ɭɫɥɨɜɢɹ ɚɭɬɟɧɬɢɱɧɨɝɨ ɪɟɱɟɜɨɝɨ 
ɨɛɳɟɧɢɹ. Ɋɚɛɨɬɚ ɫ ɨɪɢɝɢɧɚɥɶɧɵɦɢ ɬɟɤɫɬɚɦɢ ɧɚɩɪɚɜɥɟɧɚ ɧɚ ɩɨɞɝɨɬɨɜɤɭ ɢ 
ɩɪɨɜɟɞɟɧɢɟ ɞɢɫɤɭɫɫɢɣ, ɤɪɭɝɥɵɯ ɫɬɨɥɨɜ, ɞɟɛɚɬɨɜ, ɚ ɬɚɤ ɠɟ ɨɛɫɭɠɞɟɧɢɣ ɢ 
ɪɚɛɨɬɟ ɜ ɩɚɪɚɯ ɢ ɤɨɦɚɧɞɚɯ.  

Ⱦɥɹ ɜɵɩɨɥɧɟɧɢɹ ɡɚɞɚɧɢɣ ɫɢɬɭɚɬɢɜɧɨɝɨ ɯɚɪɚɤɬɟɪɚ ɢɫɩɨɥɶɡɭɸɬɫɹ 
ɝɪɭɩɩɨɜɚɹ ɢ ɩɚɪɧɚɹ ɜɢɞɵ ɪɚɛɨɬ. ɉɨ ɢɡɭɱɟɧɧɵɦ ɬɟɦɚɦ ɩɨɞɝɨɬɚɜɥɢɜɚɸɬɫɹ 
ɞɨɤɥɚɞɵ ɢ ɫɨɨɛɳɟɧɢɹ ɫ ɩɪɟɡɟɧɬɚɰɢɹɦɢ ɢ ɛɟɡ.  

ɋɨ ɫɬɨɪɨɧɵ ɩɪɟɩɨɞɚɜɚɬɟɥɹ ɫɬɭɞɟɧɬɚɦ ɨɤɚɡɵɜɚɟɬɫɹ ɩɨɦɨɳɶ ɜ 
ɮɨɪɦɢɪɨɜɚɧɢɢ ɧɚɜɵɤɨɜ ɱɬɟɧɢɹ ɫɩɟɰɢɚɥɢɡɢɪɨɜɚɧɧɵɯ ɢɧɨɹɡɵɱɧɵɯ ɬɟɤɫɬɨɜ, ɢɯ 
ɚɧɚɥɢɡɚ, ɩɪɚɜɢɥɶɧɨɣ ɩɨɞɝɨɬɨɜɤɢ ɩɪɟɡɟɧɬɚɰɢɢ; ɜ ɨɜɥɚɞɟɧɢɢ ɭɦɟɧɢɹɦɢ 
ɧɚɩɢɫɚɧɢɹ ɷɫɫɟ ɤɚɤ ɜɢɞɚ ɚɤɚɞɟɦɢɱɟɫɤɨɝɨ ɩɢɫɶɦɚ.  

ɋɥɟɞɭɟɬ ɭɱɢɬɵɜɚɬɶ, ɱɬɨ ɨɫɧɨɜɧɨɣ ɨɛɴɟɦ ɢɧɮɨɪɦɚɰɢɢ ɫɬɭɞɟɧɬ ɞɨɥɠɟɧ 
ɭɫɜɨɢɬɶ ɜ ɯɨɞɟ ɫɢɫɬɟɦɚɬɢɱɟɫɤɨɣ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɵ ɫ ɢɧɮɨɪɦɚɰɢɟɣ ɧɚ 
ɢɧɨɫɬɪɚɧɧɨɦ ɹɡɵɤɟ, ɪɚɡɦɟɳɟɧɧɨɣ ɤɚɤ ɧɚ ɷɥɟɤɬɪɨɧɧɵɯ, ɬɚɤ ɢ ɧɚ 
ɬɪɚɞɢɰɢɨɧɧɵɯ ɧɨɫɢɬɟɥɹɯ.   

ɐɟɥɶɸ ɪɚɛɨɬɵ ɫ ɝɪɚɦɦɚɬɢɤɨɣ ɹɜɥɹɟɬɫɹ ɫɬɪɭɤɬɭɪɢɪɨɜɚɧɢɟ, 
ɫɢɫɬɟɦɚɬɢɡɚɰɢɹ ɢ ɭɝɥɭɛɥɟɧɢɟ ɡɧɚɧɢɣ ɩɨ ɢɧɨɫɬɪɚɧɧɨɦɭ ɹɡɵɤɭ, ɜɨɡɦɨɠɧɨɫɬɶ 
ɚɧɚɥɢɡɚ ɢ ɩɨɧɢɦɚɧɢɹ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵɯ ɢɧɨɹɡɵɱɧɵɯ ɦɚɬɟɪɢɚɥɨɜ ɢ, ɧɚ ɷɬɨɣ 
ɨɫɧɨɜɟ, ɪɚɡɜɢɬɢɟ ɭɦɟɧɢɣ ɪɟɡɭɥɶɬɚɬɢɜɧɨɣ ɪɚɛɨɬɵ ɫ ɩɪɨɮɢɥɶɧɵɦɢ ɬɟɤɫɬɚɦɢ ɢ 
ɮɨɪɦɢɪɨɜɚɧɢɟ ɤɨɦɦɭɧɢɤɚɬɢɜɧɨɣ ɤɨɦɩɟɬɟɧɬɧɨɫɬɢ ɫɬɭɞɟɧɬɨɜ ɩɨ ɩɪɨɣɞɟɧɧɵɦ 
ɬɟɦɚɦ.  

Ɏɨɪɦɚɦɢ ɬɟɤɭɳɟɝɨ ɤɨɧɬɪɨɥɹ ɪɟɡɭɥɶɬɚɬɨɜ ɪɚɛɨɬɵ ɫɬɭɞɟɧɬɨɜ ɩɨ 
ɞɢɫɰɢɩɥɢɧɟ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» ɹɜɥɹɸɬɫɹ ɩɢɫɶɦɟɧɧɵɟ 
ɬɟɫɬɵ, ɧɚɩɢɫɚɧɢɟ ɷɫɫɟ, ɜɵɫɬɭɩɥɟɧɢɟ ɫ ɞɨɤɥɚɞɚɦɢ, ɭɱɚɫɬɢɟ ɜ ɞɢɫɤɭɫɫɢɹɯ, 
ɞɟɛɚɬɚɯ ɢ ɤɪɭɝɥɵɯ ɫɬɨɥɚɯ ɩɨ ɦɚɬɟɪɢɚɥɚɦ ɢɡɭɱɚɟɦɨɣ ɬɟɦɚɬɢɤɢ.  

ɂɬɨɝɨɜɵɣ ɤɨɧɬɪɨɥɶ ɩɨ ɞɢɫɰɢɩɥɢɧɟ ɨɫɭɳɟɫɬɜɥɹɟɬɫɹ ɜ ɮɨɪɦɟ ɡɚɱɟɬɚ ɜ 
ɤɨɧɰɟ 5 ɢ 6 ɫɟɦɟɫɬɪɨɜ ɢ ɷɤɡɚɦɟɧɚ ɜ ɤɨɧɰɟ 7 ɫɟɦɟɫɬɪɚ. 

 



VII. ɆȺɌȿɊɂȺɅɖɇɈ-ɌȿɏɇɂɑȿɋɄɈȿ ɈȻȿɋɉȿɑȿɇɂȿ 
ȾɂɋɐɂɉɅɂɇɕ 

 

1. Ɉɫɧɨɜɧɚɹ ɢ ɞɨɩɨɥɧɢɬɟɥɶɧɚɹ ɥɢɬɟɪɚɬɭɪɚ. 
2. Ɇɚɬɟɪɢɚɥɵ, ɩɪɟɞɫɬɚɜɥɟɧɧɵɟ ɜ ɚɤɚɞɟɦɢɱɟɫɤɨɦ ɞɟɩɚɪɬɚɦɟɧɬɟ 
ɚɧɝɥɢɣɫɤɨɝɨ ɹɡɵɤɚ. 
3. ȼɢɞɟɨɦɚɬɟɪɢɚɥɵ, ɩɪɟɞɫɬɚɜɥɟɧɧɵɟ ɜ ɚɤɚɞɟɦɢɱɟɫɤɨɦ ɞɟɩɚɪɬɚɦɟɧɬɟ 
ɚɧɝɥɢɣɫɤɨɝɨ ɹɡɵɤɚ. 
4. Ɏɨɧɞɵ ȼɂ-ɒɊɆɂ. 
5. ɂɧɬɟɪɧɟɬ-ɦɚɬɟɪɢɚɥɵ. 
6. Ɇɭɥɶɬɢɦɟɞɢɣɧɵɟ ɚɭɞɢɬɨɪɢɢ, ɨɫɧɚɳɟɧɧɵɟ ɩɪɨɟɤɬɨɪɨɦ Mitsubishi 
EW330U ɢ ɩɪɨɟɤɰɢɨɧɧɵɦ ɷɤɪɚɧɨɦ Screen Line Trim White Ice., ɚ ɬɚɤ ɠɟ 
ɩɨɞɫɢɫɬɟɦɨɣ ɜɢɞɟɨɢɫɬɨɱɧɢɤɨɜ ɞɨɤɭɦɟɧɬ-ɤɚɦɟɪɨɣ CP355AF AЯОrЯТsТШЧ, ɢ 
ɩɨɞɫɢɫɬɟɦɚɦɢ ɜɢɞɟɨɤɨɦɦɭɬɚɰɢɢ, ɚɭɞɢɨɤɨɦɦɭɬɚɰɢɢ, ɡɜɭɤɨɭɫɢɥɟɧɢɹ ɢ 
ɢɧɬɟɪɚɤɬɢɜɧɨɝɨ ɭɩɪɚɜɥɟɧɢɹ. 
690922, ɉɪɢɦɨɪɫɤɢɣ ɤɪɚɣ, ɝ. ȼɥɚɞɢɜɨɫɬɨɤ, ɨ. Ɋɭɫɫɤɢɣ, ɩ. Ⱥɹɤɫ, 10, Ʉɨɪɩɭɫɚ ȿ, 
ɋ.   

 



ɉɪɢɥɨɠɟɧɢɟ 1 

 
 

 
 

ɆɂɇɂɋɌȿɊɋɌȼɈ ɈȻɊȺɁɈȼȺɇɂə ɂ ɇȺɍɄɂ ɊɈɋɋɂɃɋɄɈɃ ɎȿȾȿɊȺɐɂɂ 
Ɏɟɞɟɪɚɥɶɧɨɟ ɝɨɫɭɞɚɪɫɬɜɟɧɧɨɟ ɚɜɬɨɧɨɦɧɨɟ ɨɛɪɚɡɨɜɚɬɟɥɶɧɨɟ ɭɱɪɟɠɞɟɧɢɟ ɜɵɫɲɟɝɨ ɨɛɪɚɡɨɜɚɧɢɹ 

«Ⱦɚɥɶɧɟɜɨɫɬɨɱɧɵɣ ɮɟɞɟɪɚɥɶɧɵɣ ɭɧɢɜɟɪɫɢɬɟɬ» 

(ȾȼɎɍ) 
 

ɂɇɀȿɇȿɊɇȺə ɒɄɈɅȺ 
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ɉɥɚɧ-ɝɪɚɮɢɤ ɜɵɩɨɥɧɟɧɢɹ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɵ ɩɨ ɞɢɫɰɢɩɥɢɧɟ 

 
№ 

ɩ/ɩ 

Ⱦɚɬɚ/ɫɪɨɤɢ 
ɜɵɩɨɥɧɟɧɢɹ 

ȼɢɞ 
ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ 

ɪɚɛɨɬɵ 

ɉɪɢɦɟɪɧɵɟ 
ɧɨɪɦɵ 

ɜɪɟɦɟɧɢ ɧɚ 
ɜɵɩɨɥɧɟɧɢɟ 

Ɏɨɪɦɚ ɤɨɧɬɪɨɥɹ 

1 1-6 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 
ɧɚ ɬɟɦɭ Distance or 

face-to-face learning - 

аСКЭ’s ЭСО НТППОrОЧМО. 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

2 1-6 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɢɧɞɢɜɢɞɭɚɥɶɧɨɣ 
ɩɪɟɡɟɧɬɚɰɢɢ ɧɚ ɬɟɦɭ 
My major. 

6 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-13 

3 1-6 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɝɪɭɩɩɨɜɨɣ 
ɩɪɟɡɟɧɬɚɰɢɢ ɧɚ ɬɟɦɭ  
Engineer’s Traits and 

Education. 

6 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-13 

4 5-6 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɩɪɨɜɟɪɨɱɧɨɦɭ ɬɟɫɬɭ 
ɩɨ ɩɪɨɣɞɟɧɧɨɦɭ 
ɦɚɬɟɪɢɚɥɭ 

8 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-1 

5 6-8 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 
ɧɚ ɬɟɦɭ Conventional 

vs alternative 

medicine. 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

6 6-8 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 

ɧɚ ɬɟɦɭ How should 

healthcare be funded – 

privately or by the 

state? 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

7 9-13 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɟɛɚɬɚɯ ɧɚ 
ɬɟɦɭ The art of 

photography. 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

8 9-13 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 



ɭɱɚɫɬɢɹ ɜ ɞɟɛɚɬɚɯ ɧɚ 
ɬɟɦɭ Are art and 

design important for a 

МШЮЧЭrв’s ОМШЧШЦв? 

9 9-13 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɟɛɚɬɚɯ ɧɚ 

ɬɟɦɭ Do you think 

street art and graffiti 

should be illegal? 

Why / why not? 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

10 12-13 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɩɪɨɜɟɪɨɱɧɨɦɭ ɬɟɫɬɭ 
ɩɨ ɩɪɨɣɞɟɧɧɨɦɭ 
ɦɚɬɟɪɢɚɥɭ 

8 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-1 

11 14-18 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɤɪɭɝɥɨɦ 
ɫɬɨɥɟ ɧɚ ɬɟɦɭ Effects 

of a young population 

on a society. 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

12 14-18 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 
ɧɚ ɬɟɦɭ PОrПОМЭ 
retirement age. 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

13 14-18 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 
ɧɚ ɬɟɦɭ Ageing in 

different countries.  

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

14 14-18 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 

ɧɚ ɬɟɦɭ Challenges of 

having more old 

people in modern 

society. 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

 

15 14-18 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 

ɧɚ ɬɟɦɭ Whose 

responsibility is it to 

look after elderly 

people? The family or 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

 



the state? 

16 14-18 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 

ɧɚ ɬɟɦɭ What do you 

think can be done to 

ensure that elderly 

people in society are 

protected and cared 

for? 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

 

17 17-18 ɧɟɞɟɥɢ 

5 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɩɪɨɜɟɪɨɱɧɨɦɭ ɬɟɫɬɭ 
ɩɨ ɩɪɨɣɞɟɧɧɨɦɭ 
ɦɚɬɟɪɢɚɥɭ 

8 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-1 

ɂɬɨɝɨ 5 ɫɟɦɟɫɬɪ 72 ɱɚɫɚ 

1 1-6 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɤɪɭɝɥɨɦ 
ɫɬɨɥɟ ɧɚ ɬɟɦɭ 

Advantages and 

disadvantages of 

Globalization impacts. 

4 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

 

2 1-6 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 

ɧɚ ɬɟɦɭ Should 

governments stop the 

growth of 

multinational 

restaurant chains to 

allow local, traditional 

restaurants compete 

for customers? 

4 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

 

3 1-6 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 
ɧɚ ɬɟɦɭ 

Globalization and 

environment.  

4 ɱɚɫ.  Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

 

4 5-6 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɩɪɨɜɟɪɨɱɧɨɦɭ ɬɟɫɬɭ 
ɩɨ ɩɪɨɣɞɟɧɧɨɦɭ 
ɦɚɬɟɪɢɚɥɭ 

10 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-1 

 

5 7-12 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

4 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 



ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ  
ɧɚ ɬɟɦɭ 

Contemporary 

engineering 

researches.  

6 7-12 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 
ɧɚ ɬɟɦɭ Occupational 

safety. 

4 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

7 11-12 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɩɪɨɜɟɪɨɱɧɨɦɭ ɬɟɫɬɭ 
ɩɨ ɩɪɨɣɞɟɧɧɨɦɭ 
ɦɚɬɟɪɢɚɥɭ 

10 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-1 

 

8 13-18 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 
ɧɚ ɬɟɦɭ Housing 

problems - location or 

size. 

4 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

9 13-18 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 

ɧɚ ɬɟɦɭ Would you 

live in an eco-home if 

you had to pay more 

for its 

environmentally 

friendly features? 

Why / Why not? 

4 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

10 13-18 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 

ɧɚ ɬɟɦɭ How can 

architects design 

buildings to use less 

energy in their 

construction or use? 

4 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

11 13-18 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɩɪɟɡɟɧɬɚɰɢɢ ɧɚ ɬɟɦɭ 

Traditional and 

modern buildings in 

our country: the 

differences and 

similarities.  

6 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-13 



12 13-18 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 

ɫɨɨɛɳɟɧɢɹ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɟɛɚɬɚɯ ɧɚ 

ɬɟɦɭ Importance 

when designing 

building: beauty or 

function.  

4 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

13 17-18 ɧɟɞɟɥɢ 

6 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɩɪɨɜɟɪɨɱɧɨɦɭ ɬɟɫɬɭ 
ɩɨ ɩɪɨɣɞɟɧɧɨɦɭ 
ɦɚɬɟɪɢɚɥɭ 

10 ɱɚɫ.  Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-1 

 

ɂɬɨɝɨ 6 ɫɟɦɟɫɬɪ 72 ɱɚɫɚ 

1 1-8 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 
ɧɚ ɬɟɦɭ Innovations 

in Engineering. 

 

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

2  1-8 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ 
ɧɚ ɬɟɦɭ Variability 

and intermittency of 

developments.  

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

3 1-8 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɢɧɞɢɜɢɞɭɚɥɶɧɨɣ 
ɩɪɟɡɟɧɬɚɰɢɢ ɧɚ ɬɟɦɭ 
Small-scale 

production.  

6 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-13 

 

4 1-8 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɝɪɭɩɩɨɜɨɣ 
ɩɪɟɡɟɧɬɚɰɢɢ ɧɚ ɬɟɦɭ 
Nanotechnologies and 

nanomaterials. 

6 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-13 

 

5 7-8 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɩɪɨɜɟɪɨɱɧɨɦɭ ɬɟɫɬɭ 
ɩɨ ɩɪɨɣɞɟɧɧɨɦɭ 
ɦɚɬɟɪɢɚɥɭ 

6 ɱɚɫ.  Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-1 

 

6 9-13 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɟɛɚɬɚɯ ɧɚ 
ɬɟɦɭ Engineering and 

environment.  

3 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɍɈ-4 

7 12-13 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɩɪɨɜɟɪɨɱɧɨɦɭ ɬɟɫɬɭ 

6 ɱɚɫ.  Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-1 



ɩɨ ɩɪɨɣɞɟɧɧɨɦɭ 
ɦɚɬɟɪɢɚɥɭ 

8 14-18 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ 
ɝɪɭɩɩɨɜɨɣ 
ɩɪɟɡɟɧɬɚɰɢɢ: 
Alternative energy 

sources. 

6 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-13 

9 17-18 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɩɪɨɜɟɪɨɱɧɨɦɭ ɬɟɫɬɭ 
ɩɨ ɩɪɨɣɞɟɧɧɨɦɭ 
ɦɚɬɟɪɢɚɥɭ 

6 ɱɚɫ. Ɍɟɤɭɳɢɣ ɤɨɧɬɪɨɥɶ 

ɉɊ-1 

10 1-18 ɧɟɞɟɥɢ 

7 ɫɟɦɟɫɬɪ 

ɉɨɞɝɨɬɨɜɤɚ ɤ 
ɷɤɡɚɦɟɧɭ 

27 ɱɚɫ. ɗɤɡɚɦɟɧ 

ɂɬɨɝɨ 7 ɫɟɦɟɫɬɪ 72 ɱɚɫɚ 

 
Ɋɟɤɨɦɟɧɞɚɰɢɢ ɩɨ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɟ ɫɬɭɞɟɧɬɨɜ 

ɋɚɦɨɫɬɨɹɬɟɥɶɧɚɹ ɪɚɛɨɬɚ ɫɬɭɞɟɧɬɨɜ ɹɜɥɹɟɬɫɹ ɧɟɨɬɴɟɦɥɟɦɨɣ ɱɚɫɬɶɸ 
ɨɛɪɚɡɨɜɚɬɟɥɶɧɨɝɨ ɩɪɨɰɟɫɫɚ ɢ ɪɚɫɫɦɚɬɪɢɜɚɟɬɫɹ ɤɚɤ ɨɪɝɚɧɢɡɚɰɢɨɧɧɚɹ ɮɨɪɦɚ 
ɨɛɭɱɟɧɢɹ. ɐɟɥɹɦɢ ɋɊɋ ɹɜɥɹɸɬɫɹ ɨɜɥɚɞɟɧɢɟ ɮɭɧɞɚɦɟɧɬɚɥɶɧɵɦɢ ɡɧɚɧɢɹɦɢ, 
ɨɛɳɟɤɭɥɶɬɭɪɧɵɦɢ ɤɨɦɩɟɬɟɧɰɢɹɦɢ, ɮɨɪɦɢɪɨɜɚɧɢɟ ɭ ɫɬɭɞɟɧɬɨɜ ɫɩɨɫɨɛɧɨɫɬɢ ɢ 
ɧɚɜɵɤɨɜ ɧɟɩɪɟɪɵɜɧɨɝɨ ɫɚɦɨɨɛɪɚɡɨɜɚɧɢɹ ɢ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ 
ɫɨɜɟɪɲɟɧɫɬɜɨɜɚɧɢɹ. 

 ɋɚɦɨɫɬɨɹɬɟɥɶɧɚɹ ɪɚɛɨɬɚ ɩɨ ɞɢɫɰɢɩɥɢɧɟ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ 
ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» ɨɫɭɳɟɫɬɜɥɹɟɬɫɹ ɜ ɜɢɞɟ ɚɭɞɢɬɨɪɧɵɯ ɢ ɜɧɟɚɭɞɢɬɨɪɧɵɯ 
ɮɨɪɦ ɩɨɡɧɚɜɚɬɟɥɶɧɨɣ ɞɟɹɬɟɥɶɧɨɫɬɢ. ɋɚɦɨɫɬɨɹɬɟɥɶɧɚɹ ɪɚɛɨɬɚ ɫɬɭɞɟɧɬɨɜ 
ɜɤɥɸɱɚɟɬ ɜ ɫɟɛɹ:  ɉɨɞɝɨɬɨɜɤɭ ɤ ɚɭɞɢɬɨɪɧɵɦ ɩɪɚɤɬɢɱɟɫɤɢɦ ɡɚɧɹɬɢɹɦ;  ɑɬɟɧɢɟ ɞɨɩɨɥɧɢɬɟɥɶɧɨɣ ɥɢɬɟɪɚɬɭɪɵ;  ɋɨɫɬɚɜɥɟɧɢɟ ɩɥɚɧɚ ɢ ɬɟɡɢɫɨɜ ɨɬɜɟɬɨɜ;  ȼɵɩɨɥɧɟɧɢɟ ɩɟɪɟɜɨɞɨɜ;  ȼɵɩɨɥɧɟɧɢɟ ɬɟɫɬɨɜ;  ɉɨɞɝɨɬɨɜɤɭ ɭɫɬɧɵɯ ɫɨɨɛɳɟɧɢɣ;  ɉɨɞɝɨɬɨɜɤɭ ɞɨɤɥɚɞɨɜ;  ɉɨɞɝɨɬɨɜɤɭ ɩɪɟɡɟɧɬɚɰɢɣ;  ɇɚɩɢɫɚɧɢɟ ɷɫɫɟ ɢɥɢ ɟɝɨ ɱɚɫɬɟɣ. 

Ɍɟɤɭɳɚɹ ɩɨɞɝɨɬɨɜɤɚ ɤ ɩɪɚɤɬɢɱɟɫɤɢɦ ɡɚɧɹɬɢɹɦ ɩɨɞɪɚɡɭɦɟɜɚɟɬ ɪɚɛɨɬɭ ɧɚɞ 
ɬɟɤɫɬɚɦɢ ɭɪɨɤɨɜ. ɗɬɨ ɫɚɦɨɫɬɨɹɬɟɥɶɧɚɹ ɨɬɪɚɛɨɬɤɚ ɱɬɟɧɢɹ, ɩɟɪɟɜɨɞ ɬɟɤɫɬɚ, 
ɨɬɜɟɬɵ ɧɚ ɜɨɩɪɨɫɵ ɩɨɫɥɟ ɬɟɤɫɬɨɜ ɢɥɢ ɩɪɨɞɭɦɵɜɚɧɢɟ ɩɪɟɞɩɨɥɚɝɚɟɦɵɯ ɨɬɜɟɬɨɜ 
ɧɚ ɜɨɡɦɨɠɧɵɟ ɜɨɩɪɨɫɵ ɩɪɟɩɨɞɚɜɚɬɟɥɹ. Ɂɚɭɱɢɜɚɧɢɟ ɧɨɜɵɯ ɥɟɤɫɢɱɟɫɤɢɯ 
ɟɞɢɧɢɰ, ɬɪɟɧɢɪɨɜɤɚ ɝɪɚɦɦɚɬɢɱɟɫɤɢɯ ɤɨɧɫɬɪɭɤɰɢɣ. 
  



Ɇɟɬɨɞɢɱɟɫɤɢɟ ɭɤɚɡɚɧɢɹ ɤ ɬɟɫɬɨɜɵɦ ɡɚɞɚɧɢɹɦ 

Ɍɟɫɬ (ɉɊ-1).  ɉɪɟɞɥɚɝɚɟɦɵɟ ɬɟɫɬɨɜɵɟ ɡɚɞɚɧɢɹ ɪɚɡɪɚɛɨɬɚɧɵ ɜ 
ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ ɉɪɨɝɪɚɦɦɨɣ ɩɨ ɞɢɫɰɢɩɥɢɧɟ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ 
ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ». Ⱦɚɧɧɵɟ ɬɟɫɬɵ ɦɨɝɭɬ ɢɫɩɨɥɶɡɨɜɚɬɶɫɹ: 

– ɩɪɟɩɨɞɚɜɚɬɟɥɹɦɢ ɞɥɹ ɩɪɨɜɟɪɤɢ ɡɧɚɧɢɣ ɜ ɤɚɱɟɫɬɜɟ ɮɨɪɦɵ 
ɩɪɨɦɟɠɭɬɨɱɧɨɝɨ ɤɨɧɬɪɨɥɹ; 

– ɞɥɹ ɩɪɨɜɟɪɤɢ ɨɫɬɚɬɨɱɧɵɯ ɡɧɚɧɢɣ ɫɬɭɞɟɧɬɨɜ, ɢɡɭɱɢɜɲɢɯ ɞɚɧɧɵɣ ɤɭɪɫ; 
– ɫɬɭɞɟɧɬɚɦɢ ɩɪɢ ɩɨɞɝɨɬɨɜɤɟ ɤ ɡɚɱɟɬɭ ɜ ɮɨɪɦɟ ɫɚɦɨɩɪɨɜɟɪɤɢ ɡɧɚɧɢɣ. 
Ɍɟɫɬɨɜɵɟ ɡɚɞɚɧɢɹ ɪɚɫɫɱɢɬɚɧɵ ɧɚ ɫɚɦɨɫɬɨɹɬɟɥɶɧɭɸ ɪɚɛɨɬɭ ɛɟɡ 

ɢɫɩɨɥɶɡɨɜɚɧɢɹ ɜɫɩɨɦɨɝɚɬɟɥɶɧɵɯ ɦɚɬɟɪɢɚɥɨɜ.  
ȼɫɟ ɬɟɫɬɵ ɫɨɫɬɨɹɬ ɢɡ ɚɭɞɢɨ ɢ ɩɢɫɶɦɟɧɧɨɝɨ ɡɚɞɚɧɢɣ.  
Ⱦɥɹ ɜɵɩɨɥɧɟɧɢɹ ɚɭɞɢɨ ɡɚɞɚɧɢɹ, ɩɪɟɠɞɟ ɜɫɟɝɨ, ɫɥɟɞɭɟɬ ɜɧɢɦɚɬɟɥɶɧɨ 

ɩɪɨɱɢɬɚɬɶ ɭɤɚɡɚɧɧɨɟ ɡɚɞɚɧɢɟ. ɉɨɫɥɟ ɨɡɧɚɤɨɦɥɟɧɢɹ ɫ ɡɚɞɚɧɢɟɦ ɫɥɟɞɭɟɬ ɤɚɤ 
ɦɨɠɧɨ ɛɵɫɬɪɟɟ ɩɪɢɫɬɭɩɚɬɶ ɤ ɩɪɨɱɬɟɧɢɸ ɭɤɚɡɚɧɧɨɣ ɢɧɮɨɪɦɚɰɢɢ, 
ɧɟɨɛɯɨɞɢɦɨɣ ɞɥɹ ɩɪɨɫɥɭɲɢɜɚɧɢɹ ɢ ɩɨɧɢɦɚɧɢɹ ɨɬɜɟɬɚ.  

ȼ ɩɢɫɶɦɟɧɧɵɯ ɢ ɚɭɞɢɨ ɡɚɞɚɧɢɹɯ ɫ ɭɠɟ ɩɪɟɞɥɨɠɟɧɧɵɦɢ ɜɚɪɢɚɧɬɚɦɢ 
ɨɬɜɟɬɨɜ ɧɟɨɛɯɨɞɢɦɨ ɩɪɨɱɢɬɚɬɶ ɜɫɸ ɢɧɮɨɪɦɚɰɢɸ ɢ ɜ ɤɚɱɟɫɬɜɟ ɨɬɜɟɬɚ ɜɵɛɪɚɬɶ 
ɥɢɲɶ ɨɞɢɧ ɢɧɞɟɤɫ (ɰɢɮɪɨɜɨɟ ɢɥɢ ɛɭɤɜɟɧɧɨɟ ɨɛɨɡɧɚɱɟɧɢɟ), ɫɨɨɬɜɟɬɫɬɜɭɸɳɢɣ 
ɩɪɚɜɢɥɶɧɨɦɭ ɨɬɜɟɬɭ.  

ȼɫɟ ɬɟɫɬɨɜɵɟ ɡɚɞɚɧɢɹ ɫɨɫɬɚɜɥɟɧɵ ɬɚɤɢɦ ɨɛɪɚɡɨɦ, ɱɬɨ ɜ ɤɚɠɞɨɦ ɢɡ ɧɢɯ 
ɩɪɚɜɢɥɶɧɵɦ ɹɜɥɹɟɬɫɹ ɥɢɲɶ ɨɞɢɧ ɢɡ ɜɚɪɢɚɧɬɨɜ. ȼɵɛɨɪ ɞɨɥɠɟɧ ɛɵɬɶ ɫɞɟɥɚɧ ɜ 
ɩɨɥɶɡɭ ɧɚɢɛɨɥɟɟ ɩɪɚɜɢɥɶɧɨɝɨ ɨɬɜɟɬɚ. 

ɇɚ ɜɵɩɨɥɧɟɧɢɟ ɬɟɫɬɚ ɨɬɜɨɞɢɬɫɹ ɨɝɪɚɧɢɱɟɧɧɨɟ ɜɪɟɦɹ. Ɉɧɨ ɦɨɠɟɬ 
ɜɚɪɶɢɪɨɜɚɬɶɫɹ ɜ ɡɚɜɢɫɢɦɨɫɬɢ ɨɬ ɭɪɨɜɧɹ ɬɟɫɬɢɪɭɟɦɵɯ, ɫɥɨɠɧɨɫɬɢ ɢ ɨɛɴɟɦɚ 
ɬɟɫɬɚ. Ʉɚɤ ɩɪɚɜɢɥɨ, ɜɪɟɦɹ ɜɵɩɨɥɧɟɧɢɹ ɨɞɧɨɝɨ ɬɟɫɬɚ ɨɩɪɟɞɟɥɹɟɬɫɹ ɢɡ ɪɚɫɱɟɬɚ 
30-40 ɦɢɧɭɬ. 

Ʉɪɢɬɟɪɢɢ ɨɰɟɧɤɢ ɜɵɩɨɥɧɟɧɧɵɯ ɫɬɭɞɟɧɬɚɦɢ ɬɟɫɬɨɜ ɨɩɪɟɞɟɥɹɸɬɫɹ 
ɚɜɬɨɦɚɬɢɱɟɫɤɢ ɜ ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ ɩɚɤɟɬɨɦ ɪɟɤɨɦɟɧɞɨɜɚɧɧɵɯ ɭɱɟɛɧɵɯ 
ɦɚɬɟɪɢɚɥɨɜ. ɇɨ ɜɧɟ ɡɚɜɢɫɢɦɨɫɬɢ ɨɬ ɤɨɥɢɱɟɫɬɜɨ ɛɚɥɥɨɜ, ɜɵɞɟɥɟɧɧɵɯ ɜ 
ɪɟɤɨɦɟɧɞɨɜɚɧɧɵɯ ɢɫɬɨɱɧɢɤɚɯ ɧɚ ɬɟɫɬ, ɜɫɟ ɩɨɥɭɱɟɧɧɵɟ ɨɰɟɧɤɢ 
ɤɨɧɜɟɪɬɢɪɭɸɬɫɹ ɜ ɛɚɥɶɧɭɸ-ɪɟɣɬɢɧɝɨɜɭɸ ɫɢɫɬɟɦɭ, ɩɪɢɧɹɬɭɸ ɜ ȾȼɎɍ: 
- 90% – 100% ɩɪɚɜɢɥɶɧɵɯ ɨɬɜɟɬɨɜ – «ɨɬɥɢɱɧɨ»;  
- 89% – 75% ɩɪɚɜɢɥɶɧɵɯ ɨɬɜɟɬɨɜ – «ɯɨɪɨɲɨ»;  
- 74% – 61% ɩɪɚɜɢɥɶɧɵɯ ɨɬɜɟɬɨɜ – «ɭɞɨɜɥɟɬɜɨɪɢɬɟɥɶɧɨ»;  
- ɦɟɧɟɟ 60% ɩɪɚɜɢɥɶɧɵɯ ɨɬɜɟɬɨɜ – «ɧɟɭɞɨɜɥɟɬɜɨɪɢɬɟɥɶɧɨ». 
 

Ɇɟɬɨɞɢɱɟɫɤɢɟ ɭɤɚɡɚɧɢɹ ɤ ɩɨɞɝɨɬɨɜɤɟ ɫɨɨɛɳɟɧɢɹ, ɞɨɤɥɚɞɚ ɢɥɢ 
ɩɪɟɡɟɧɬɚɰɢɢ 

ɉɨɞɝɨɬɨɜɤɚ ɫɨɨɛɳɟɧɢɹ, ɞɨɤɥɚɞɚ ɢɥɢ ɩɪɟɡɟɧɬɚɰɢɢ, ɜ ɬɨɦ ɱɢɫɥɟ ɞɥɹ 
ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ, ɤɪɭɝɥɨɦ ɫɬɨɥɟ, ɞɟɛɚɬɚɯ (ɍɈ-4, ɉɊ-13). ɉɨɞɝɨɬɨɜɤɚ 
ɫɨɨɛɳɟɧɢɹ, ɞɨɤɥɚɞɚ ɢɥɢ ɩɪɟɡɟɧɬɚɰɢɢ (ɞɚɥɟɟ – ɋɨɨɛɳɟɧɢɟ) ɧɚ ɚɧɝɥɢɣɫɤɨɦ 
ɹɡɵɤɟ ɹɜɥɹɟɬɫɹ ɜɚɠɧɨɣ ɮɨɪɦɨɣ ɪɚɛɨɬɵ, ɤɨɬɨɪɚɹ ɪɚɫɲɢɪɹɟɬ ɨɛɳɢɣ ɤɪɭɝɨɡɨɪ 
ɫɬɭɞɟɧɬɚ ɡɚ ɫɱɟɬ ɢɫɩɨɥɶɡɨɜɚɧɢɹ ɞɨɩɨɥɧɢɬɟɥɶɧɵɯ ɚɧɝɥɨɹɡɵɱɧɵɯ ɢɫɬɨɱɧɢɤɨɜ; 
ɭɱɢɬ ɩɥɚɧɢɪɨɜɚɬɶ ɞɥɢɬɟɥɶɧɨɟ ɜɵɫɤɚɡɵɜɚɧɢɟ ɧɚ ɚɧɝɥɢɣɫɤɨɦ ɹɡɵɤɟ ɫ 
ɥɨɝɢɱɟɫɤɢɦɢ ɩɟɪɟɯɨɞɚɦɢ ɨɬ ɨɞɧɨɣ ɦɵɫɥɢ ɤ ɞɪɭɝɨɣ, ɪɚɫɲɢɪɹɟɬ ɫɥɨɜɚɪɧɵɣ 



ɡɚɩɚɫ. ɉɪɢ ɩɨɞɝɨɬɨɜɤɟ ɫɨɨɛɳɟɧɢɹ, ɞɨɤɥɚɞɚ ɢɥɢ ɩɪɟɡɟɧɬɚɰɢɢ ɧɟɨɛɯɨɞɢɦɨ 
ɭɱɢɬɵɜɚɬɶ ɫɥɟɞɭɸɳɟɟ: 

1. ȼɵɛɨɪ ɬɟɦɵ ɢ ɢɧɮɨɪɦɚɰɢɢ.   
ɋɥɟɞɭɟɬ ɩɪɟɞɩɨɱɟɫɬɶ ɬɟɦɭ ɢ ɦɚɬɟɪɢɚɥ, ɤɨɬɨɪɵɟ ɹɜɥɹɸɬɫɹ ɧɚɢɛɨɥɟɟ 
ɢɧɬɟɪɟɫɧɵɦɢ ɢ ɚɤɬɭɚɥɶɧɵɦɢ ɜ ɬɟɤɭɳɢɣ ɩɪɨɦɟɠɭɬɨɤ ɜɪɟɦɟɧɢ. Ɍɟɦɚ ɞɨɥɠɧɚ 
ɛɵɬɶ ɞɨɫɬɚɬɨɱɧɨ ɲɢɪɨɤɨ ɩɪɟɞɫɬɚɜɥɟɧɚ ɜ ɚɧɝɥɨɹɡɵɱɧɨɣ ɩɪɟɫɫɟ ɢ ɂɧɬɟɪɧɟɬɟ 
ɤɚɱɟɫɬɜɟɧɧɵɦɢ ɢ ɞɨɫɬɭɩɧɵɦɢ ɦɚɬɟɪɢɚɥɚɦɢ; 

2. Ɋɟɝɥɚɦɟɧɬ ɜɵɫɬɭɩɥɟɧɢɹ ɢ ɨɛɴɟɦ ɫɨɨɛɳɟɧɢɹ. 
Ʉɚɤ ɩɪɚɜɢɥɨ, ɞɥɢɬɟɥɶɧɨɫɬɶ ɡɜɭɱɚɧɢɹ ɭɫɬɧɨɣ ɩɪɟɡɟɧɬɚɰɢɢ ɫɨɫɬɚɜɥɹɟɬ ɨɤɨɥɨ 5 
ɦɢɧɭɬ ɩɪɢ ɫɥɟɞɭɸɳɢɯ ɩɚɪɚɦɟɬɪɚɯ ɧɚɩɟɱɚɬɚɧɧɨɝɨ ɬɟɤɫɬɚ: ɬɟɤɫɬ ɜ ɨɛɴɟɦɟ 1800 
ɡɧɚɤɨɜ, ɬ.ɟ. ɨɞɧɨɣ ɩɟɱɚɬɧɨɣ ɫɬɪɚɧɢɰɵ Ⱥ4 ɫ ɢɫɩɨɥɶɡɨɜɚɧɢɟɦ ɲɪɢɮɬɚ TТЦОs 
NОа RШЦКЧ, ɤɟɝɥɶ 14 ɩɬ ɢ ɢɧɬɟɪɜɚɥɚ 1,5. 

Ⱦɥɹ ɩɨɞɝɨɬɨɜɤɢ ɭɫɬɧɵɯ ɫɨɨɛɳɟɧɢɣ ɢɥɢ ɩɪɟɡɟɧɬɚɰɢɣ ɠɟɥɚɬɟɥɶɧɵ 
ɢɥɥɸɫɬɪɚɬɢɜɧɵɟ (ɮɨɬɨ- ɢ ɜɢɞɟɨ-) ɦɚɬɟɪɢɚɥɵ, ɫɬɚɬɢɫɬɢɱɟɫɤɢɟ ɞɢɚɝɪɚɦɦɵ ɢ 
ɬɚɛɥɢɰɵ.  

Ɉɛɳɢɟ ɬɪɟɛɨɜɚɧɢɹ ɤ ɩɪɟɡɟɧɬɚɰɢɢ:  
- ɩɪɟɡɟɧɬɚɰɢɹ ɧɟ ɞɨɥɠɧɚ ɛɵɬɶ ɦɟɧɶɲɟ 10 ɫɥɚɣɞɨɜ;  
- ɩɟɪɜɵɣ ɫɥɚɣɞ– ɷɬɨ ɬɢɬɭɥɶɧɵɣ ɫɥɚɣɞ, ɧɚ ɤɨɬɨɪɨɦ ɨɛɹɡɚɬɟɥɶɧɨ ɞɨɥɠɧɵ ɛɵɬɶ 

ɩɪɟɞɫɬɚɜɥɟɧɵ: ɧɚɡɜɚɧɢɟ ɩɪɨɟɤɬɚ; ɮɚɦɢɥɢɹ, ɢɦɹ, ɨɬɱɟɫɬɜɨ ɚɜɬɨɪɚ.  
Ⱦɥɹ ɨɮɨɪɦɥɟɧɢɹ ɩɪɟɡɟɧɬɚɰɢɢ ɨɛɹɡɚɬɟɥɶɧɵɦ ɬɪɟɛɨɜɚɧɢɟɦ ɹɜɥɹɟɬɫɹ 

ɢɫɩɨɥɶɡɨɜɚɧɢɟ ɮɢɪɦɟɧɧɨɝɨ ɫɬɢɥɹ ɭɧɢɜɟɪɫɢɬɟɬɚ. 
 
Ʉɪɢɬɟɪɢɢ ɨɰɟɧɤɢ ɜɵɩɨɥɧɟɧɢɹ ɫɨɨɛɳɟɧɢɹ ɢɥɢ ɞɨɤɥɚɞɚ, ɜ ɬɨɦ ɱɢɫɥɟ ɞɥɹ 

ɭɱɚɫɬɢɹ ɜ ɞɢɫɤɭɫɫɢɢ, ɤɪɭɝɥɨɦ ɫɬɨɥɟ, ɞɟɛɚɬɚɯ (ɍɈ-4). 

 
Ȼɚɥɥɵ ɋɨɞɟɪɠɚɧɢɟ ɉɪɟɞɫɬɚɜɥɟɧɢɟ  
100-86 

«ɨɬɥɢɱɧɨ» 

«ɡɚɱɬɟɧɨ» 

Ɂɚɹɜɥɟɧɧɚɹ ɬɟɦɚ ɪɚɫɤɪɵɬɚ ɩɨɥɧɨɫɬɶɸ; 
ɜɫɟ ɢɞɟɢ ɹɫɧɨ ɢɡɥɨɠɟɧɵ ɢ 
ɫɬɪɭɤɬɭɪɢɪɨɜɚɧɵ, ɚɪɝɭɦɟɧɬɵ 
ɩɪɟɞɫɬɚɜɥɟɧɵ ɜ ɥɨɝɢɱɟɫɤɨɣ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨɫɬɢ 

Ɉɬɫɭɬɫɬɜɭɸɬ/ɩɪɚɤɬɢɱɟɫɤɢ ɨɬɫɭɬɫɬɜɭɸɬ 
ɹɡɵɤɨɜɵɟ ɨɲɢɛɤɢ; ɞɟɦɨɧɫɬɪɢɪɭɟɬ  
ɫɜɨɛɨɞɧɨɟ ɜɥɚɞɟɧɢɟ ɦɚɬɟɪɢɚɥɨɦ; ɱɟɬɤɨ 
ɫɥɟɞɭɟɬ ɪɟɝɥɚɦɟɧɬɭ ɜɵɫɬɭɩɥɟɧɢɹ  

85-76 

«ɯɨɪɨɲɨ» 

«ɡɚɱɬɟɧɨ» 

Ɂɚɹɜɥɟɧɧɚɹ ɬɟɦɚ ɪɚɫɤɪɵɬɚ ɩɪɚɤɬɢɱɟɫɤɢ 
ɩɨɥɧɨɫɬɶɸ; ɨɫɧɨɜɧɵɟ ɢɞɟɢ ɢɡɥɨɠɟɧɵ ɢ 
ɫɬɪɭɤɬɭɪɢɪɨɜɚɧɵ, ɚɪɝɭɦɟɧɬɵ 
ɩɪɟɞɫɬɚɜɥɟɧɵ ɜ ɥɨɝɢɱɟɫɤɨɣ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨɫɬɢ 

Ⱦɨɩɭɳɟɧɨ ɧɟɡɧɚɱɢɬɟɥɶɧɨɟ ɤɨɥɢɱɟɫɬɜɨ 
ɹɡɵɤɨɜɵɯ ɨɲɢɛɨɤ, ɤɨɬɨɪɵɟ ɧɟ 
ɩɪɟɩɹɬɫɬɜɭɸɬ ɩɨɧɢɦɚɧɢɸ ɫɨɨɛɳɟɧɢɹ; 
ɞɟɦɨɧɫɬɪɢɪɭɟɬ ɩɪɚɤɬɢɱɟɫɤɢ ɫɜɨɛɨɞɧɨɟ 
ɜɥɚɞɟɧɢɟ ɦɚɬɟɪɢɚɥɨɦ 

75-61 

«ɭɞɨɜɥɟɬɜɨɪ
ɢɬɟɥɶɧɨ» 

«ɡɚɱɬɟɧɨ» 

Ɂɚɹɜɥɟɧɧɚɹ ɬɟɦɚ ɪɚɫɤɪɵɬɚ ɱɚɫɬɢɱɧɨ; 
ɞɨɩɭɫɤɚɟɬ ɧɚɪɭɲɟɧɢɟ ɥɨɝɢɱɟɫɤɨɣ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨɫɬɢ ɚɪɝɭɦɟɧɬɨɜ  

Ⱦɨɩɭɫɤɚɟɬ ɹɡɵɤɨɜɵɟ ɨɲɢɛɤɢ, ɤɨɬɨɪɵɟ 
ɧɟ ɩɪɟɩɹɬɫɬɜɭɸɬ ɨɛɳɟɦɭ ɩɨɧɢɦɚɧɢɸ 
ɫɨɨɛɳɟɧɢɹ; ɫɨɨɛɳɟɧɢɟ ɩɪɟɞɫɬɚɜɥɟɧɨ ɫ 
ɨɩɨɪɨɣ ɧɚ ɬɟɤɫɬ  

Ɇɟɧɟɟ 60 

«ɧɟɭɞɨɜɥɟɬɜ
ɨɪɢɬɟɥɶɧɨ» / 
«ɧɟɡɚɱɟɬ» 

Ɂɚɹɜɥɟɧɧɚɹ ɬɟɦɚ ɧɟ ɪɚɫɤɪɵɬɚ, 
ɢɧɮɨɪɦɚɰɢɹ ɧɟ ɩɨɥɧɚɹ  

Ⱦɨɩɭɳɟɧɨ ɛɨɥɶɲɨɟ ɤɨɥɢɱɟɫɬɜɨ 
ɹɡɵɤɨɜɵɯ ɨɲɢɛɨɤ 

 

  



Ʉɪɢɬɟɪɢɢ ɨɰɟɧɤɢ ɜɵɩɨɥɧɟɧɢɹ ɩɪɟɡɟɧɬɚɰɢɢ (ɉɊ-13). 
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50-60 ɛɚɥɥɨɜ 
ɧɟɭɞɨɜɥɟɬɜɨɪɢɬ
ɟɥɶɧɨ 

61-75 ɛɚɥɥɨɜ 

ɭɞɨɜɥɟɬɜɨɪɢɬɟɥɶ
ɧɨ 

76-85 ɛɚɥɥɨɜ 

ɯɨɪɨɲɨ 

86-100 ɛɚɥɥɨɜ 

ɨɬɥɢɱɧɨ 

Ʉɪɢɬɟɪɢɢ ɋɨɞɟɪɠɚɧɢɟ ɤɪɢɬɟɪɢɟɜ 
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ɉɪɨɛɥɟɦɚ ɧɟ 
ɪɚɫɤɪɵɬɚ. 
Ɉɬɫɭɬɫɬɜɭɸɬ 
ɜɵɜɨɞɵ 

ɉɪɨɛɥɟɦɚ 
ɪɚɫɤɪɵɬɚ ɧɟ 
ɩɨɥɧɨɫɬɶɸ. 
ȼɵɜɨɞɵ ɧɟ 
ɫɞɟɥɚɧɵ ɢ/ɢɥɢ 
ɜɵɜɨɞɵ ɧɟ 
ɨɛɨɫɧɨɜɚɧɵ 

ɉɪɨɛɥɟɦɚ ɪɚɫɤɪɵɬɚ. 
ɉɪɨɜɟɞɟɧ ɚɧɚɥɢɡ 
ɩɪɨɛɥɟɦɵ ɛɟɡ 
ɩɪɢɜɥɟɱɟɧɢɹ 
ɞɨɩɨɥɧɢɬɟɥɶɧɨɣ 
ɥɢɬɟɪɚɬɭɪɵ. ɇɟ ɜɫɟ 
ɜɵɜɨɞɵ ɫɞɟɥɚɧɵ ɢ/ɢɥɢ 
ɨɛɨɫɧɨɜɚɧɵ 

ɉɪɨɛɥɟɦɚ ɪɚɫɤɪɵɬɚ 
ɩɨɥɧɨɫɬɶɸ. ɉɪɨɜɟɞɟɧ 
ɚɧɚɥɢɡ ɩɪɨɛɥɟɦɵ ɫ 
ɩɪɢɜɥɟɱɟɧɢɟɦ 
ɞɨɩɨɥɧɢɬɟɥɶɧɨɣ 
ɥɢɬɟɪɚɬɭɪɵ. ȼɵɜɨɞɵ 
ɨɛɨɫɧɨɜɚɧɵ 

ɉ
ɪɟ

ɞɫ
ɬɚ

ɜɥ
ɟɧ

ɢɟ
 

ɉɪɟɞɫɬɚɜɥɹɟɦɚɹ 
ɢɧɮɨɪɦɚɰɢɹ 
ɥɨɝɢɱɟɫɤɢ ɧɟ 
ɫɜɹɡɚɧɚ. ɇɟ 
ɢɫɩɨɥɶɡɨɜɚɧɵ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧ
ɵɟ ɬɟɪɦɢɧɵ 

ɉɪɟɞɫɬɚɜɥɹɟɦɚɹ 
ɢɧɮɨɪɦɚɰɢɹ ɧɟ 
ɫɢɫɬɟɦɚɬɢɡɢɪɨɜɚɧ
ɚ ɢ/ɢɥɢ ɧɟ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɚ. 
ɢɫɩɨɥɶɡɨɜɚɧɨ 1-2 

ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵ
ɯ ɬɟɪɦɢɧɚ 

ɉɪɟɞɫɬɚɜɥɹɟɦɚɹ 
ɢɧɮɨɪɦɚɰɢɹ ɧɟ 
ɫɢɫɬɟɦɚɬɢɡɢɪɨɜɚɧɚ ɢ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɚ. 
ɂɫɩɨɥɶɡɨɜɚɧɨ ɛɨɥɟɟ 2 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵɯ 
ɬɟɪɦɢɧɨɜ 

ɉɪɟɞɫɬɚɜɥɹɟɦɚɹ 
ɢɧɮɨɪɦɚɰɢɹ  
ɫɢɫɬɟɦɚɬɢɡɢɪɨɜɚɧɚ, 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɚ ɢ 
ɥɨɝɢɱɟɫɤɢ ɫɜɹɡɚɧɚ. 
ɂɫɩɨɥɶɡɨɜɚɧɨ ɛɨɥɟɟ 5 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵɯ 
ɬɟɪɦɢɧɨɜ 
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ɇɟ 
ɢɫɩɨɥɶɡɨɜɚɧɵ 
ɬɟɯɧɨɥɨɝɢɢ 
Power Point. 

Ȼɨɥɶɲɟ 4 
ɨɲɢɛɨɤ ɜ 
ɩɪɟɞɫɬɚɜɥɹɟɦɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 

ɂɫɩɨɥɶɡɨɜɚɧɵ 
ɬɟɯɧɨɥɨɝɢɢ Power 

Point ɱɚɫɬɢɱɧɨ. 3-

4 ɨɲɢɛɤɢ ɜ 
ɩɪɟɞɫɬɚɜɥɹɟɦɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 

ɂɫɩɨɥɶɡɨɜɚɧɵ 
ɬɟɯɧɨɥɨɝɢɢ Power Point. 

ɇɟ ɛɨɥɟɟ 2 ɨɲɢɛɨɤ ɜ 
ɩɪɟɞɫɬɚɜɥɹɟɦɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 

ɒɢɪɨɤɨ ɢɫɩɨɥɶɡɨɜɚɧɵ 
ɬɟɯɧɨɥɨɝɢɢ (Power 

Point ɢ ɞɪ.). 
Ɉɬɫɭɬɫɬɜɭɸɬ ɨɲɢɛɤɢ ɜ 
ɩɪɟɞɫɬɚɜɥɹɟɦɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 
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ɇɟɬ ɨɬɜɟɬɨɜ ɧɚ 
ɜɨɩɪɨɫɵ 

Ɍɨɥɶɤɨ ɨɬɜɟɬɵ ɧɚ 
ɷɥɟɦɟɧɬɚɪɧɵɟ 
ɜɨɩɪɨɫɵ 

Ɉɬɜɟɬɵ ɧɚ ɜɨɩɪɨɫɵ 
ɩɨɥɧɵɟ ɢ/ɢɥɢ ɱɚɫɬɢɱɧɨ 
ɩɨɥɧɵɟ 

Ɉɬɜɟɬɵ ɧɚ ɜɨɩɪɨɫɵ 
ɩɨɥɧɵɟ, ɫ 
ɩɪɢɜɢɞɟɧɢɟɦ 
ɩɪɢɦɟɪɨɜ ɢ/ɢɥɢ 
ɩɨɹɫɧɟɧɢɣ 

 

Ɇɟɬɨɞɢɱɟɫɤɢɟ ɭɤɚɡɚɧɢɹ ɤ ɷɫɫɟ 

ɇɚɩɢɫɚɧɢɟ ɷɫɫɟ – ɷɬɨ ɜɢɞ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɵ ɩɨ ɧɚɩɢɫɚɧɢɸ 
ɫɨɱɢɧɟɧɢɹ ɧɟɛɨɥɶɲɨɝɨ ɨɛɴɟɦɚ ɢ ɫɜɨɛɨɞɧɨɣ ɤɨɦɩɨɡɢɰɢɢ ɧɚ ɱɚɫɬɧɭɸ ɬɟɦɭ, 
ɬɪɚɤɬɭɟɦɭɸ ɫɭɛɴɟɤɬɢɜɧɨ ɢ ɨɛɵɱɧɨ ɧɟɩɨɥɧɨ.  

ɗɫɫɟ ɩɢɲɟɬɫɹ ɜ ɮɨɪɦɚɥɶɧɨɦ (ɞɟɥɨɜɨɦ) ɫɬɢɥɟ. ȼ ɷɫɫɟ ɨɛɭɱɚɸɳɟɦɭ 
ɬɪɟɛɭɟɬɫɹ ɜɵɪɚɡɢɬɶ ɫɜɨɸ ɬɨɱɤɭ ɡɪɟɧɢɹ ɧɚ ɡɚɞɚɧɧɭɸ ɬɟɦɭ, ɚ ɬɚɤ ɠɟ ɩɪɢɜɟɫɬɢ 
ɩɪɨɬɢɜɨɩɨɥɨɠɧɵɟ ɬɨɱɤɢ ɡɪɟɧɢɹ ɢ ɨɛɴɹɫɧɢɬɶ, ɩɨɱɟɦɭ ɨɧ ɫ ɧɢɦɢ ɧɟ ɫɨɝɥɚɫɟɧ.   



Ɉɛɭɱɚɸɳɢɟɫɹ ɞɨɥɠɧɵ ɩɨɞɤɪɟɩɢɬɶ ɫɜɨɟ ɦɧɟɧɢɟ ɩɪɢɦɟɪɚɦɢ ɢɥɢ 
ɞɨɤɚɡɚɬɟɥɶɫɬɜɚɦɢ. ȼ ɷɫɫɟ ɞɨɥɠɧɵ ɚɤɬɢɜɧɨ ɢɫɩɨɥɶɡɨɜɚɬɶɫɹ ɤɨɧɫɬɪɭɤɰɢɢ ɬɢɩɚ 
«in Цв ШpТЧТШЧ», «I ЭСТЧФ».  ɇɟɨɛɯɨɞɢɦɨ ɢɫɩɨɥɶɡɨɜɚɧɢɟ ɜɜɨɞɧɵɯ ɫɥɨɜ ɢ 
ɤɨɧɫɬɪɭɤɰɢɣ ɬɢɩɚ “oЧ ЭСО ШЧО СКЧН, ШЧ ЭСО ШЭСОr СКЧН, ɫɥɨɜ - ɫɜɹɡɨɤ 
(nevertheless, moreover, dОspТЭО). Ɂɚɩɪɟɳɚɟɬɫɹ ɢɫɩɨɥɶɡɨɜɚɧɢɟ ɫɨɤɪɚɳɟɧɢɹ, 
ɬɢɩɚ “I’Ц”, “ЭСОв’rО” “НШЧ’Э”. ɗɫɫɟ ɫɨɫɬɨɢɬ ɢɡ ɱɟɬɵɪɟɯ ɚɛɡɚɰɟɜ: ɜɫɬɭɩɥɟɧɢɟ, 
ɨɫɧɨɜɧɚɹ ɱɚɫɬɶ (ɚɛɡɚɰ 1 ɢ ɚɛɡɚɰ 2) ɢ ɡɚɤɥɸɱɟɧɢɟ. 

 
Ʉɪɢɬɟɪɢɢ ɨɰɟɧɤɢ ɜɵɩɨɥɧɟɧɢɹ ɷɫɫɟ 

 
Ɉɰɟɧɤɚ ɋɨɞɟɪɠɚɧɢɟ  Ɉɪɝɚɧɢɡɚɰɢɹ 

ɬɟɤɫɬɚ 

Ʌɟɤɫɢɤɚ  Ƚɪɚɦɦɚɬɢɤɚ  

100-86 

«ɨɬɥɢɱɧɨ» 

«ɡɚɱɬɟɧɨ» 

Ɂɚɞɚɧɢɟ ɜɵɩɨɥɧɟɧɨ 
ɩɨɥɧɨɫɬɶɸ: 
ɫɨɞɟɪɠɚɧɢɟ 
ɨɬɪɚɠɚɟɬ ɜɫɟ 
ɚɫɩɟɤɬɵ, ɭɤɚɡɚɧɧɵɟ 
ɜ ɡɚɞɚɧɢɢ; ɫɬɢɥɟɜɨɟ 
ɨɮɨɪɦɥɟɧɢɟ ɪɟɱɢ 
ɜɵɛɪɚɧɨ ɩɪɚɜɢɥɶɧɨ 

ȼɵɫɤɚɡɵɜɚɧɢɟ 
ɥɨɝɢɱɧɨ; ɫɪɟɞɫɬɜɚ 
ɥɨɝɢɱɟɫɤɨɣ ɫɜɹɡɢ 
ɢɫɩɨɥɶɡɨɜɚɧɵ 
ɩɪɚɜɢɥɶɧɨ; ɬɟɤɫɬ 
ɩɪɚɜɢɥɶɧɨ 
ɪɚɡɞɟɥɟɧ ɧɚ 
ɚɛɡɚɰɵ; ɮɨɪɦɚɬ 
ɜɵɫɤɚɡɵɜɚɧɢɹ 
ɜɵɛɪɚɧ 
ɩɪɚɜɢɥɶɧɨ. 

ɂɫɩɨɥɶɡɭɟɦɵɣ 
ɫɥɨɜɚɪɧɵɣ ɡɚɩɚɫ 
ɫɨɨɬɜɟɬɫɬɜɭɟɬ 
ɩɨɫɬɚɜɥɟɧɧɨɣ 
ɡɚɞɚɱɟ; 
ɩɪɚɤɬɢɱɟɫɤɢ ɧɟɬ 
ɧɚɪɭɲɟɧɢɣ ɜ 
ɢɫɩɨɥɶɡɨɜɚɧɢɢ 
ɥɟɤɫɢɤɢ. 

ɂɫɩɨɥɶɡɭɸɬɫɹ 
ɝɪɚɦɦɚɬɢɱɟɫɤɢɟ 
ɫɬɪɭɤɬɭɪɵ ɜ 
ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ 
ɩɨɫɬɚɜɥɟɧɧɨɣ 
ɡɚɞɚɱɟɣ. 
ɉɪɚɤɬɢɱɟɫɤɢ 
ɨɬɫɭɬɫɬɜɭɸɬ 
ɨɲɢɛɤɢ. 

85-76 

«ɯɨɪɨɲɨ» 

«ɡɚɱɬɟɧɨ» 

Ɂɚɞɚɧɢɟ ɜɵɩɨɥɧɟɧɨ: 
ɧɟɤɨɬɨɪɵɟ ɚɫɩɟɤɬɵ, 
ɭɤɚɡɚɧɧɵɟ ɜ 
ɡɚɞɚɧɢɢ, ɪɚɫɤɪɵɬɵ 
ɧɟ ɩɨɥɧɨɫɬɶɸ; 
ɢɦɟɸɬɫɹ ɨɬɞɟɥɶɧɵɟ 
ɧɚɪɭɲɟɧɢɹ 
ɫɬɢɥɟɜɨɝɨ 
ɨɮɨɪɦɥɟɧɢɹ ɪɟɱɢ 

ȼɵɫɤɚɡɵɜɚɧɢɟ ɜ 
ɨɫɧɨɜɧɨɦ 
ɥɨɝɢɱɧɨ; ɢɦɟɸɬɫɹ 
ɨɬɞɟɥɶɧɵɟ 
ɧɟɞɨɫɬɚɬɤɢ ɩɪɢ 
ɢɫɩɨɥɶɡɨɜɚɧɢɢ 
ɫɪɟɞɫɬɜ 
ɥɨɝɢɱɟɫɤɨɣ ɫɜɹɡɢ; 
ɢɦɟɸɬɫɹ 
ɨɬɞɟɥɶɧɵɟ 
ɧɟɞɨɫɬɚɬɤɢ ɩɪɢ 
ɞɟɥɟɧɢɢ ɬɟɤɫɬɚ ɧɚ 
ɚɛɡɚɰɵ; ɢɦɟɸɬɫɹ 
ɨɬɞɟɥɶɧɵɟ 
ɧɚɪɭɲɟɧɢɹ 
ɮɨɪɦɚɬɚ 
ɜɵɫɤɚɡɵɜɚɧɢɹ. 

ɂɫɩɨɥɶɡɭɟɦɵɣ 
ɫɥɨɜɚɪɧɵɣ ɡɚɩɚɫ 
ɫɨɨɬɜɟɬɫɬɜɭɟɬ 
ɩɨɫɬɚɜɥɟɧɧɨɣ 
ɡɚɞɚɱɟ, ɨɞɧɚɤɨ 
ɜɫɬɪɟɱɚɸɬɫɹ 
ɨɬɞɟɥɶɧɵɟ 
ɧɟɬɨɱɧɨɫɬɢ ɜ 
ɭɩɨɬɪɟɛɥɟɧɢɢ 
ɫɥɨɜ ɥɢɛɨ 
ɫɥɨɜɚɪɧɵɣ ɡɚɩɚɫ 
ɨɝɪɚɧɢɱɟɧ, ɧɨ 
ɥɟɤɫɢɤɚ 
ɢɫɩɨɥɶɡɨɜɚɧɚ 
ɩɪɚɜɢɥɶɧɨ. 

ɂɦɟɟɬɫɹ ɪɹɞ 
ɝɪɚɦɦɚɬɢɱɟɫɤɢɯ 
ɨɲɢɛɨɤ, ɧɟ 
ɡɚɬɪɭɞɧɹɸɳɢɯ 
ɩɨɧɢɦɚɧɢɟ ɬɟɤɫɬɚ. 

75-61 

«ɭɞɨɜɥɟɬɜɨɪɢ
ɬɟɥɶɧɨ» 

«ɡɚɱɬɟɧɨ» 

Ɂɚɞɚɧɢɟ ɜɵɩɨɥɧɟɧɨ 
ɧɟ ɩɨɥɧɨɫɬɶɸ: 
ɫɨɞɟɪɠɚɧɢɟ 
ɨɬɪɚɠɚɟɬ ɧɟ ɜɫɟ 
ɚɫɩɟɤɬɵ, ɭɤɚɡɚɧɧɵɟ 
ɜ ɡɚɞɚɧɢɢ; 
ɧɚɪɭɲɟɧɢɹ 
ɫɬɢɥɟɜɨɝɨ 
ɨɮɨɪɦɥɟɧɢɹ ɪɟɱɢ 
ɜɫɬɪɟɱɚɸɬɫɹ 
ɞɨɫɬɚɬɨɱɧɨ ɱɚɫɬɨ 

ȼɵɫɤɚɡɵɜɚɧɢɟ ɧɟ 
ɜɫɟɝɞɚ ɥɨɝɢɱɧɨ; 
ɢɦɟɸɬɫɹ 
ɦɧɨɝɨɱɢɫɥɟɧɧɵɟ 
ɨɲɢɛɤɢ ɜ 
ɢɫɩɨɥɶɡɨɜɚɧɢɢ 
ɫɪɟɞɫɬɜ 
ɥɨɝɢɱɟɫɤɨɣ ɫɜɹɡɢ, 
ɢɯ ɜɵɛɨɪ 
ɨɝɪɚɧɢɱɟɧ; 
ɞɟɥɟɧɢɟ ɬɟɤɫɬɚ ɧɚ 
ɚɛɡɚɰɵ 
ɨɬɫɭɬɫɬɜɭɟɬ; 
ɢɦɟɸɬɫɹ 

ɂɫɩɨɥɶɡɨɜɚɧ 
ɧɟɨɩɪɚɜɞɚɧɧɨ 
ɨɝɪɚɧɢɱɟɧɧɵɣ 
ɫɥɨɜɚɪɧɵɣ 
ɡɚɩɚɫ; ɱɚɫɬɨ 
ɜɫɬɪɟɱɚɸɬɫɹ 
ɧɚɪɭɲɟɧɢɹ ɜ 
ɢɫɩɨɥɶɡɨɜɚɧɢɢ 
ɥɟɤɫɢɤɢ, ɥɢɛɨ 
ɧɟɤɨɬɨɪɵɟ ɢɡ 
ɧɢɯ ɦɨɝɭɬ 
ɡɚɬɪɭɞɧɢɬɶ 
ɩɨɧɢɦɚɧɢɟ 
ɬɟɤɫɬɚ. 

Ʌɢɛɨ ɱɚɫɬɨ 
ɜɫɬɪɟɱɚɸɬɫɹ 
ɨɲɢɛɤɢ 
ɷɥɟɦɟɧɬɚɪɧɨɝɨ 
ɭɪɨɜɧɹ, ɥɢɛɨ 
ɨɲɢɛɤɢ 
ɧɟɦɧɨɝɨɱɢɫɥɟɧɧɵ, 
ɧɨ ɡɚɬɪɭɞɧɹɸɬ 
ɩɨɧɢɦɚɧɢɟ ɬɟɤɫɬɚ. 



ɦɧɨɝɨɱɢɫɥɟɧɧɵɟ 
ɨɲɢɛɤɢ ɜ ɮɨɪɦɚɬɟ 
ɜɵɫɤɚɡɵɜɚɧɢɹ 

Ɇɟɧɟɟ 60 

«ɧɟɭɞɨɜɥɟɬɜɨ
ɪɢɬɟɥɶɧɨ» / 
«ɧɟɡɚɱɟɬ» 

Ɂɚɞɚɧɢɟ ɧɟ 
ɜɵɩɨɥɧɟɧɨ: 
ɫɨɞɟɪɠɚɧɢɟ ɧɟ 
ɨɬɪɚɠɚɟɬ ɬɟ 
ɚɫɩɟɤɬɵ, ɤɨɬɨɪɵɟ 
ɭɤɚɡɚɧɵ ɜ ɡɚɞɚɧɢɢ 
ɢɥɢ ɧɟ 
ɫɨɨɬɜɟɬɫɬɜɭɟɬ 
ɬɪɟɛɭɟɦɨɦɭ ɨɛɴɟɦɭ 

Ɉɬɫɭɬɫɬɜɭɟɬ 
ɥɨɝɢɤɚ ɜ 
ɩɨɫɬɪɨɟɧɢɢ 
ɜɵɫɤɚɡɵɜɚɧɢɹ; 
ɮɨɪɦɚɬ 
ɜɵɫɤɚɡɵɜɚɧɢɹ ɧɟ 
ɫɨɛɥɸɞɚɟɬɫɹ. 

Ʉɪɚɣɧɟ 
ɨɝɪɚɧɢɱɟɧɧɵɣ 
ɫɥɨɜɚɪɧɵɣ ɡɚɩɚɫ 
ɧɟ ɩɨɡɜɨɥɹɟɬ 
ɜɵɩɨɥɧɢɬɶ 
ɩɨɫɬɚɜɥɟɧɧɭɸ 
ɡɚɞɚɱɭ. 

Ƚɪɚɦɦɚɬɢɱɟɫɤɢɟ 
ɩɪɚɜɢɥɚ ɧɟ 
ɫɨɛɥɸɞɚɸɬɫɹ.  

 

Ɂɚɞɚɧɢɹ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ: 
Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 1 

You are going to give a two-minute presentation on the following question: 
When we buy petrol for our cars, where does the money go? 

1 Look at the pie chart. It shows a percentage breakdown of the price of petrol 
in a European country. 
Think about possible causes and effects of the different figures in the chart. 
 

 
 

2 Work alone to prepare your presentation. Put the most important points in 
your presentation first 
and support them with data. Write notes and a conclusion to help you organize 
your presentation. 

3 Work with a partner. Give your presentation. 
 

Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 2 

You are going to participate in a group discussion on the following question: 
What is the best course for someone who wants to be an astronaut? 

1 Work alone. Arturo wants to become an astronaut. He has chosen fi ve 
possible university courses to study. Read the notes and give each course a mark 
out of 10 for how useful you think it will be for becoming an astronaut. 

 



 
 

2 Work in a group. Discuss the usefulness of each course in turn. Be ready to 
НТsКРrОО аТЭС ШЭСОr pОШplО’s ШpТЧТШЧs. Trв ЭШ rОКМС КЧ КРrООЦОЧЭ ШЧ ЭСО ЛОsЭ 
course for Arturo. 
 

Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 3 

You are going to take part in a debate on the following statement: 
Governments should force people to lead healthier lives. 

1 Work in two groups. 
Group A: You work for a pharmaceutical company. You agree with the above 
statement. 
Group B: You work for a human rights organization. You disagree with the above 
statement. 

2 In your groups, prepare and practice an opening statement for the debate. 
TСТЧФ КЛШЮЭ вШЮr ШppШЧОЧЭs’ ЯТОаs КЧН ЦКФО ЧШЭОs КЛШЮЭ аСКЭ ЭСОв ЦТРСЭ sКв ТЧ 
response to your statement. 

3 Have the debate. After the debate, discuss the way the arguments were 
presented and try to agree which group won the debate. 
 

Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 4 

You are going to complete a risk assessment and try to think of ways to reduce the 
risks of the incidents in the following table occurring: 
 

 
 



1 Work in small groups. Analyze the statistics in the table. For each type of 
incident, discuss the risk level (from very low to very high) and try to think of 
ways to reduce the risks of each incident occurring. 

2 Report back to the class. Did each group have similar ideas about how to 
reduce the risks of the incidents occurring? Why / Why not? 
 

Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 5 

You are going to explain a process to a partner. 
Choose an object that you know well that contains several parts, e.g. a mobile 
phone, a bicycle, a chair, etc. Describe the process of recycling it. 

1 Work alone. Draw a dependency diagram for recycling your object. There 
sСШЮlН ЛО КЭ lОКsЭ sТб sЭКРОs. IП вШЮ НШЧ’Э ФЧШа СШа ЭШ rОМвМlО ТЭ, ЮsО вШЮr 
imagination, or ask your teacher for help with vocabulary. 

2 Describe your recycling process to a partner. While you are listening you 
should make notes on the process your partner is describing. 

3 Describe your recycling processes back to each other. Did you get your 
pКrЭЧОr’s prШМОss rТРСЭ? IП ЧШЭ, аСКЭ аКs НТППОrent? 
 

Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 6 

You are going to give a problem and solution presentation on the following topic. 
The Antarctic environment 

 
 

1 Work in groups to plan a presentation. Use the model language to help you. 
2 Work different groups to give your presentation. Were the presentations in 

your group similar? Why/why not? 
 

Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 7 



You are going to discuss a problem and possible solution for the following topic in 
a group. 
A university plans to open a new languages department as soon as possible. The 
department needs four lecture halls, each for 100+ people, at least ten classrooms 
with room for up to 20 people and other facilities to make it attractive to students. 
IЭ СКs €1.4 ЦТllТШЧ ЭШ spОЧН ШЧ ЭСe building. 

1 Work in two pairs. One pair are the project developers. The second pair are 
university representatives. In your pairs, look at the problem and the proposed 
solution. 

 

 
 

2 Discuss the problem and solution as a group. Could you come to an 
agreement about what to do? 
 

Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 8 

You are going to participate in a chaired discussion on the following topic: 
How can we make our city/country energy independent? 

1 Work in groups of three or four. Look at the agenda. Each student will be 
chair for one numbered item on the agenda. 

AGENDA: 
1 Current level of energy consumption 
2 Possible sources of producing energy 
3 Ways of reducing consumption 
4 Summary and conclusions  

2 Work alone to plan what to say for your agenda point. Think of two or three 
ideas to raise and make notes on the language you might use. 

3 Have the discussion. Make sure you keep your part of the discussion on 
topic. Did you come to any conclusions at the end of the discussion? Why / Why 
not? 
 

Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 9 

You are going to participate in an informal debate on the following topic: 
Some of the senior staff at your university/college would like to stage a high 
profile art exhibition. They are deciding on whether to go ahead with the 
exhibition, as there is some opposition to it. 



1 Work in groups of three students. Decide if your group is for or against 
holding the exhibition, and why. Think of two statements to use in the debate, then 
predict how other speakers might respond to your statements. Practise your 
presentation as a group. 

2 Work with two people from different groups. Have the debate. Could you 
come to any decisions or make any next steps in your debate? 
 

Ɂɚɞɚɧɢɟ ɞɥɹ ɫɚɦɨɤɨɧɬɪɨɥɹ 10 

You are going to give a presentation to a seminar group on the following topic: 
Give a presentation on employment levels for people in Country A over 60 and the 
impact this is likely to have on its society in the future. 

1 Work in groups. Look at the graph showing the employment statistics for 
the over 60s in a small country between 1950 and 2050. All numbers are in 
thousands. Choose one line on the graph (A, B, C or D) to describe. 

 
 

2 Write notes on the following areas: Presenting your data; Talking about the 
causes and effects of your data; Comparing your data to that of the other lines on 
the graph. Practice your presentation in your group. 

3 Form a new group with people who have looked at the other lines on the 
graph. Perform your presentation to your new group. Were your presentations 
similar? Why/ Why not? 
 

 

  



 
ɉɪɢɥɨɠɟɧɢɟ 2 

 
 

 
 

ɆɂɇɂɋɌȿɊɋɌȼɈ ɈȻɊȺɁɈȼȺɇɂə ɂ ɇȺɍɄɂ ɊɈɋɋɂɃɋɄɈɃ ɎȿȾȿɊȺɐɂɂ 
Ɏɟɞɟɪɚɥɶɧɨɟ ɝɨɫɭɞɚɪɫɬɜɟɧɧɨɟ ɚɜɬɨɧɨɦɧɨɟ ɨɛɪɚɡɨɜɚɬɟɥɶɧɨɟ ɭɱɪɟɠɞɟɧɢɟ ɜɵɫɲɟɝɨ ɨɛɪɚɡɨɜɚɧɢɹ 

«Ⱦɚɥɶɧɟɜɨɫɬɨɱɧɵɣ ɮɟɞɟɪɚɥɶɧɵɣ ɭɧɢɜɟɪɫɢɬɟɬ» 

(ȾȼɎɍ) 
 

ɂɇɀȿɇȿɊɇȺə ɒɄɈɅȺ 

 

 

 

 

 

 

 

 

 

ɎɈɇȾ ɈɐȿɇɈɑɇɕɏ ɋɊȿȾɋɌȼ  
ɩɨ ɞɢɫɰɢɩɥɢɧɟ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» 

ɇɚɩɪɚɜɥɟɧɢɟ ɩɨɞɝɨɬɨɜɤɢ 07.03.03 Ⱦɢɡɚɣɧ ɚɪɯɢɬɟɤɬɭɪɧɨɣ ɫɪɟɞɵ 

ɩɪɨɮɢɥɶ «Ⱥɪɯɢɬɟɤɬɭɪɧɨ-ɞɢɡɚɣɧɟɪɫɤɨɟ ɩɪɨɟɤɬɢɪɨɜɚɧɢɟ» 

Ɏɨɪɦɚ ɩɨɞɝɨɬɨɜɤɢ ɨɱɧɚɹ 
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ɉɚɫɩɨɪɬ ɎɈɋ 

 

Ʉɨɞ ɢ ɮɨɪɦɭɥɢɪɨɜɤɚ 
ɤɨɦɩɟɬɟɧɰɢɢ 

ɗɬɚɩɵ ɮɨɪɦɢɪɨɜɚɧɢɹ ɤɨɦɩɟɬɟɧɰɢɢ 

ɈɄ-7  
ɜɥɚɞɟɧɢɟɦ 
ɢɧɨɫɬɪɚɧɧɵɦ ɹɡɵɤɨɦ 
ɜ ɭɫɬɧɨɣ ɢ 
ɩɢɫɶɦɟɧɧɨɣ ɮɨɪɦɟ 
ɞɥɹ ɨɫɭɳɟɫɬɜɥɟɧɢɹ 
ɦɟɠɤɭɥɶɬɭɪɧɨɣ ɢ 
ɢɧɨɹɡɵɱɧɨɣ 
ɤɨɦɦɭɧɢɤɚɰɢɢ 

Ɂɧɚɟɬ 

 ɫɬɪɭɤɬɭɪɧɵɟ ɬɢɩɵ ɩɨɫɬɪɨɟɧɢɹ ɩɪɨɫɬɨɝɨ ɢ 
ɫɥɨɠɧɨɝɨ ɩɪɟɞɥɨɠɟɧɢɹ, ɢɫɩɨɥɶɡɭɟɦɵɟ ɜ 
ɫɩɟɰɢɚɥɢɡɢɪɨɜɚɧɧɨɣ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɣ 
ɥɢɬɟɪɚɬɭɪɟ;  ɭɧɢɜɟɪɫɚɥɶɧɵɟ ɝɪɚɦɦɚɬɢɱɟɫɤɢɟ ɤɚɬɟɝɨɪɢɢ ɢ 
ɹɜɥɟɧɢɹ, ɨɬɫɭɬɫɬɜɭɸɳɢɟ ɜ ɪɨɞɧɨɦ ɹɡɵɤɟ 
(ɜɢɞɨɜɪɟɦɟɧɧɵɟ ɮɨɪɦɵ ɝɥɚɝɨɥɚ, ɫɪɟɞɫɬɜɚ 
ɜɵɪɚɠɟɧɢɹ ɦɨɞɚɥɶɧɨɫɬɢ, ɫɨɝɥɚɫɨɜɚɧɢɟ ɜɪɟɦɟɧ, 
ɢɧɮɢɧɢɬɢɜɧɵɟ ɢ ɩɪɢɱɚɫɬɧɵɟ ɨɛɨɪɨɬɵ, ɝɟɪɭɧɞɢɣ); 

ɍɦɟɟɬ 

 ɢɫɩɨɥɶɡɨɜɚɬɶ ɥɟɤɫɢɤɨ-ɝɪɚɦɦɚɬɢɱɟɫɤɢɟ 
ɟɞɢɧɢɰɵ ɜ ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ ɩɪɚɜɢɥɚɦɢ ɨɪɮɨɝɪɚɮɢɢ 
ɚɧɝɥɢɣɫɤɨɝɨ ɹɡɵɤɚ;  ɭɩɨɬɪɟɛɥɹɬɶ ɮɨɪɦɭɥɵ ɪɟɱɟɜɨɝɨ ɷɬɢɤɟɬɚ ɜ 
ɡɚɜɢɫɢɦɨɫɬɢ ɨɬ ɫɨɰɢɚɥɶɧɨ-ɤɭɥɶɬɭɪɧɨɝɨ ɤɨɧɬɟɤɫɬɚ 
ɨɛɳɟɧɢɹ; 

ȼɥɚɞɟɟɬ 

 ɧɚɜɵɤɚɦɢ ɥɟɤɫɢɱɟɫɤɢ ɩɪɚɜɢɥɶɧɨ ɢ 
ɝɪɚɦɨɬɧɨ, ɥɨɝɢɱɧɨ ɢ ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨ ɩɨɪɨɠɞɚɬɶ 
ɭɫɬɧɵɟ ɢ ɩɢɫɶɦɟɧɧɵɟ ɜɵɫɤɚɡɵɜɚɧɢɹ ɜ ɫɢɬɭɚɰɢɹɯ 
ɦɟɠɤɭɥɶɬɭɪɧɨɝɨ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ ɨɛɳɟɧɢɹ;  ɧɚɜɵɤɚɦɢ ɭɩɨɬɪɟɛɥɟɧɢɹ ɢɡɭɱɟɧɧɵɯ 
ɫɬɪɚɬɟɝɢɢ ɢ ɬɟɯɧɨɥɨɝɢɢ, ɧɟɨɛɯɨɞɢɦɵɯ ɜ 
ɪɚɡɥɢɱɧɵɯ ɨɛɥɚɫɬɹɯ ɢɧɨɹɡɵɱɧɨɣ ɤɨɦɦɭɧɢɤɚɰɢɢ;  ɧɚɜɵɤɚɦɢ ɨɩɪɟɞɟɥɟɧɢɹ ɨɛɨɛɳɟɧɧɵɯ 
ɡɧɚɱɟɧɢɣ ɫɥɨɜ ɧɚ ɨɫɧɨɜɟ ɚɧɚɥɢɡɚ ɤɨɧɬɟɤɫɬɚ ɢ 
ɫɥɨɜɨɨɛɪɚɡɨɜɚɬɟɥɶɧɵɯ ɷɥɟɦɟɧɬɨɜ ɬɟɤɫɬɚ ɩɨ 
ɡɧɚɤɨɦɨɣ ɬɟɦɚɬɢɤɟ ɛɟɡ ɫɥɨɜɚɪɹ; 

ɈɄ-19 ɜɥɚɞɟɧɢɟɦ 
ɥɟɤɫɢɱɟɫɤɢɦɢ 
ɨɫɧɨɜɚɦɢ ɨɞɧɨɝɨ ɢɡ 
ɢɧɨɫɬɪɚɧɧɵɯ ɹɡɵɤɨɜ 
ɦɟɠɞɭɧɚɪɨɞɧɨɝɨ 
ɨɛɳɟɧɢɹ ɧɚ ɭɪɨɜɧɟ, 
ɨɛɟɫɩɟɱɢɜɚɸɳɟɦ 
ɭɫɬɧɵɟ ɢ ɩɢɫɶɦɟɧɧɵɟ 
ɦɟɠɥɢɱɧɨɫɬɧɵɟ ɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵɟ 
ɤɨɦɦɭɧɢɤɚɰɢɢ 

Ɂɧɚɟɬ 

 ɨɛɳɟɧɚɭɱɧɵɟ ɬɟɪɦɢɧɵ ɜ ɨɛɴɟɦɟ 
ɞɨɫɬɚɬɨɱɧɨɦ ɞɥɹ ɪɚɛɨɬɵ ɫ ɨɪɢɝɢɧɚɥɶɧɵɦɢ 
ɧɚɭɱɧɵɦɢ ɬɟɤɫɬɚɦɢ ɢ ɬɟɤɫɬɚɦɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ ɯɚɪɚɤɬɟɪɚ;  ɨɫɨɛɟɧɧɨɫɬɢ ɢɧɨɹɡɵɱɧɨɝɨ ɧɚɭɱɧɨɝɨ ɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ ɞɢɫɤɭɪɫɚ, ɢɫɯɨɞɹ ɢɡ ɫɢɬɭɚɰɢɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ ɨɛɳɟɧɢɹ; 

ɍɦɟɟɬ 

 ɩɨɥɶɡɨɜɚɬɶɫɹ ɹɡɵɤɨɜɵɦɢ ɫɪɟɞɫɬɜɚɦɢ ɜ 
ɨɫɧɨɜɧɵɯ ɜɢɞɚɯ ɪɟɱɟɜɨɣ ɞɟɹɬɟɥɶɧɨɫɬɢ: ɝɨɜɨɪɟɧɢɢ, 
ɜɨɫɩɪɢɹɬɢɢ ɧɚ ɫɥɭɯ (ɚɭɞɢɪɨɜɚɧɢɢ), ɱɬɟɧɢɢ, 
ɩɟɪɟɜɨɞɟ ɢ ɩɢɫɶɦɟ;  ɞɟɥɚɬɶ ɜɵɜɨɞɵ, ɨɛɨɛɳɟɧɢɹ, 
ɫɢɫɬɟɦɚɬɢɡɢɪɨɜɚɬɶ ɹɡɵɤɨɜɵɟ ɡɧɚɧɢɹ ɧɚ ɨɫɧɨɜɟ 
ɚɧɚɥɢɡɚ ɩɨɥɭɱɟɧɧɨɣ ɢɧɮɨɪɦɚɰɢɢ ɞɥɹ 
ɚɧɧɨɬɢɪɨɜɚɧɢɹ ɢ ɪɟɮɟɪɢɪɨɜɚɧɢɹ 
ɫɩɟɰɢɚɥɢɡɢɪɨɜɚɧɧɵɯ ɬɟɤɫɬɨɜ;  ɞɟɥɚɬɶ ɭɫɬɧɨɟ ɫɨɨɛɳɟɧɢɟ, ɞɨɤɥɚɞ ɩɨ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɣ ɬɟɦɚɬɢɤɟ;   



ȼɥɚɞɟɟɬ 

 ɧɚɜɵɤɚɦɢ ɩɪɨɞɭɤɬɢɜɧɨɣ ɩɨɞɝɨɬɨɜɥɟɧɧɨɣ ɢ 
ɧɟɩɨɞɝɨɬɨɜɥɟɧɧɨɣ ɭɫɬɧɨɣ ɢ ɩɢɫɶɦɟɧɧɨɣ ɪɟɱɢ ɜ 
ɫɢɬɭɚɰɢɹɯ; ɦɟɠɤɭɥɶɬɭɪɧɨɝɨ ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ 
ɨɛɳɟɧɢɹ ɜ ɩɪɟɞɟɥɚɯ ɢɡɭɱɟɧɧɨɝɨ ɹɡɵɤɨɜɨɝɨ 
ɦɚɬɟɪɢɚɥɚ;  ɚɥɝɨɪɢɬɦɨɦ ɨɛɪɚɛɨɬɤɢ ɢɧɮɨɪɦɚɰɢɢ ɫ 
ɢɫɩɨɥɶɡɨɜɚɧɢɟɦ ɪɚɡɥɢɱɧɵɯ ɫɬɪɚɬɟɝɢɣ ɱɬɟɧɢɹ: 
ɨɡɧɚɤɨɦɢɬɟɥɶɧɨɝɨ, ɩɪɨɫɦɨɬɪɨɜɨɝɨ, ɩɨɢɫɤɨɜɨɝɨ, 
ɢɡɭɱɚɸɳɟɝɨ. 

ɈɉɄ-2  

ɫɩɨɫɨɛɧɨɫɬɶɸ 
ɩɪɢɦɟɧɹɬɶ ɡɧɚɧɢɹ 
ɫɦɟɠɧɵɯ ɢ 
ɫɨɩɭɬɫɬɜɭɸɳɢɯ 
ɞɢɫɰɢɩɥɢɧ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ ɩɪɨɟɤɬɨɜ, 
ɞɟɣɫɬɜɨɜɚɬɶ 
ɢɧɧɨɜɚɰɢɨɧɧɨ ɢ 
ɬɟɯɧɢɱɟɫɤɢ ɝɪɚɦɨɬɧɨ 
ɩɪɢ ɢɫɩɨɥɶɡɨɜɚɧɢɢ 
ɫɬɪɨɢɬɟɥɶɧɵɯ 
ɬɟɯɧɨɥɨɝɢɣ, 
ɦɚɬɟɪɢɚɥɨɜ, 
ɤɨɧɫɬɪɭɤɰɢɣ, ɫɢɫɬɟɦ 
ɠɢɡɧɟɨɛɟɫɩɟɱɟɧɢɹ ɢ 
ɢɧɮɨɪɦɚɰɢɨɧɧɨ-

ɤɨɦɩɶɸɬɟɪɧɵɯ 
ɫɪɟɞɫɬɜ 

 

Ɂɧɚɟɬ 

ɢɧɮɨɪɦɚɰɢɨɧɧɨ-ɤɨɦɩɶɸɬɟɪɧɵɟ ɫɪɟɞɫɬɜɚ 
ɩɪɨɟɤɬɢɪɨɜɚɧɢɹ ɢ ɤɨɦɦɭɧɢɤɚɰɢɣ; ɫɨɜɪɟɦɟɧɧɵɟ 
ɫɬɪɨɢɬɟɥɶɧɵɟ ɦɚɬɟɪɢɚɥɵ ɢ ɤɨɧɫɬɪɭɤɬɢɜɧɵɟ ɫɯɟɦɵ 
ɡɞɚɧɢɣ, ɫɨɜɪɟɦɟɧɧɵɟ ɢɧɠɟɧɟɪɧɵɟ ɫɢɫɬɟɦɵ ɡɞɚɧɢɣ 
ɢ ɫɨɨɪɭɠɟɧɢɣ 

ɍɦɟɟɬ 

ɉɪɢɦɟɧɹɬɶ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ ɩɪɢ ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɨɜ ɫ ɢɫɩɨɥɶɡɨɜɚɧɢɟɦ ɤɨɧɫɬɪɭɤɰɢɣ, 
ɦɚɬɟɪɢɚɥɨɜ ɢ ɩɪɨɝɪɟɫɫɢɜɧɵɯ ɚɪɯɢɬɟɤɬɭɪɧɨ-
ɫɬɪɨɢɬɟɥɶɧɵɯ ɬɟɯɧɨɥɨɝɢɣ ɫɨɝɥɚɫɧɨ ɧɨɪɦɚɬɢɜɧɵɦ 
ɬɪɟɛɨɜɚɧɢɹɦ, ɬɟɯɧɢɱɟɫɤɢɦ ɪɟɝɥɚɦɟɧɬɚɦ ɢ 
ɡɚɤɨɧɨɞɚɬɟɥɶɫɬɜɭ 

ȼɥɚɞɟɟɬ 
 
 
 

ɦɟɬɨɞɚɦɢ ɤɨɧɫɬɪɭɢɪɨɜɚɧɢɹ ɡɞɚɧɢɣ ɢ ɜɵɛɨɪɚ 
ɢɧɧɨɜɚɰɢɨɧɧɵɯ ɢ ɬɟɯɧɢɱɟɫɤɢ ɝɪɚɦɨɬɧɵɯ 
ɚɪɯɢɬɟɤɬɭɪɧɨ-ɫɬɪɨɢɬɟɥɶɧɵɯ ɬɟɯɧɨɥɨɝɢɣ ɢɯ 
ɜɨɡɜɟɞɟɧɢɹ 

ɉɄ-3 ɫɩɨɫɨɛɧɨɫɬɶɸ 
ɜɡɚɢɦɧɨ 
ɫɨɝɥɚɫɨɜɵɜɚɬɶ 
ɪɚɡɥɢɱɧɵɟ ɫɪɟɞɫɬɜɚ ɢ 
ɮɚɤɬɨɪɵ 
ɩɪɨɟɤɬɢɪɨɜɚɧɢɹ, 
ɢɧɬɟɝɪɢɪɨɜɚɬɶ 
ɪɚɡɧɨɨɛɪɚɡɧɵɟ ɮɨɪɦɵ 
ɡɧɚɧɢɹ ɢ ɧɚɜɵɤɢ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ ɩɪɨɟɤɬɧɵɯ 
ɪɟɲɟɧɢɣ, 
ɤɨɨɪɞɢɧɢɪɨɜɚɬɶ 
ɦɟɠɞɢɫɰɢɩɥɢɧɚɪɧɵɟ 
ɰɟɥɢ, ɦɵɫɥɢɬɶ 
ɬɜɨɪɱɟɫɤɢ, 
ɢɧɢɰɢɢɪɨɜɚɬɶ 

Ɂɧɚɟɬ 
ɫɪɟɞɫɬɜɚ ɢ ɮɚɤɬɨɪɵ ɩɪɨɟɤɬɢɪɨɜɚɧɢɹ, ɫɩɨɫɨɛɵ 
ɢɧɬɟɝɪɚɰɢɢ ɡɧɚɧɢɣ ɢ ɧɚɜɵɤɨɜ ɩɪɢ ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɧɵɯ ɪɟɲɟɧɢɣ 

ɍɦɟɟɬ 
ɢɧɬɟɝɪɢɪɨɜɚɬɶ ɪɚɡɧɵɟ ɮɨɪɦɵ ɡɧɚɧɢɹ ɢ ɧɚɜɵɤɢ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ ɩɪɨɟɤɬɧɵɯ ɪɟɲɟɧɢɣ, ɢ ɤɨɨɪɞɢɧɢɪɨɜɚɬɶ 
ɦɟɠɞɢɫɰɢɩɥɢɧɚɪɧɵɟ ɰɟɥɢ 

ȼɥɚɞɟɟɬ 
ɫɩɨɫɨɛɚɦɢ ɢɧɢɰɢɚɰɢɢ ɧɨɜɚɬɨɪɫɤɢɯ ɪɟɲɟɧɢɣ ɢ 
ɨɫɭɳɟɫɬɜɥɟɧɢɟɦ ɮɭɧɤɰɢɣ ɥɢɞɟɪɚ ɜ ɩɪɨɟɤɬɧɨɦ 
ɩɪɨɰɟɫɫɟ 



ɧɨɜɚɬɨɪɫɤɢɟ ɪɟɲɟɧɢɹ 
ɢ ɨɫɭɳɟɫɬɜɥɹɬɶ 
ɮɭɧɤɰɢɢ ɥɢɞɟɪɚ ɜ 
ɩɪɨɟɤɬɧɨɦ ɩɪɨɰɟɫɫɟ 

 

 

Ʉɨɧɬɪɨɥɶ ɞɨɫɬɢɠɟɧɢɣ ɰɟɥɟɣ ɤɭɪɫɚ  

 

№ 
ɩ/ɩ 

Ʉɨɧɬɪɨɥɢɪɭɟɦɵɟ ɪɚɡɞɟɥɵ / ɬɟɦɵ 
ɞɢɫɰɢɩɥɢɧɵ 

Ɉɰɟɧɨɱɧɵɟ ɫɪɟɞɫɬɜɚ  
ɬɟɤɭɳɢɣ 
ɤɨɧɬɪɨɥɶ 

ɩɪɨɦɟɠɭɬɨɱɧɚɹ 
ɚɬɬɟɫɬɚɰɢɹ 

1 Education 

ɉɊ-1 

ɉɊ-13 
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2 Medicine 

ɍɈ-4 

3 Art and design 
ɉɊ-1 

ɍɈ-4 

4 Ageing 
ɉɊ-1 
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Ɂɚɞɚɧɢɹ ɤ ɡɚɱɟɬɭ 5-7 

 

6 Risk 
ɉɊ-1 

ɍɈ-4 

7 Architecture 

ɉɊ-1 
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8 Manufacturing 
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ɉɊ-13 

ɍɈ-4 Ɂɚɞɚɧɢɹ ɤ ɷɤɡɚɦɟɧɭ  
1-3 

 
9 Environment 

ɉɊ-1 

ɍɈ-4 

10 Energy 
ɉɊ-1 
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ɒɤɚɥɚ ɨɰɟɧɢɜɚɧɢɹ ɭɪɨɜɧɹ ɫɮɨɪɦɢɪɨɜɚɧɧɨɫɬɢ ɤɨɦɩɟɬɟɧɰɢɣ  
 

Ʉɨɞ ɢ 
ɮɨɪɦɭɥɢ
ɪɨɜɤɚ 
ɤɨɦɩɟɬɟɧ
ɰɢɢ 

ɗɬɚɩɵ ɮɨɪɦɢɪɨɜɚɧɢɹ 
ɤɨɦɩɟɬɟɧɰɢɢ 

ɤɪɢɬɟɪɢɢ  ɩɨɤɚɡɚɬɟɥɢ ɨɰɟɧɨɱ
ɧɵɟ 
ɫɪɟɞɫɬ
ɜɚ 

ɈɄ-7  
ɜɥɚɞɟɧɢɟ 

Ɂɧɚɟɬ 
(ɩɨɪɨɝɨɜɵɣ 

- ɡɧɚɟɬ 
ɫɬɪɭɤɬɭɪɧɵɟ ɬɢɩɵ 

- ɡɧɚɧɢɟ 
ɫɬɪɭɤɬɭɪɧɵɯ 

- ɫɩɨɫɨɛɧɨɫɬɶ 
ɪɚɫɩɨɡɧɚɜɚɬɶ 

ɉɊ-1 
ɍɈ-4 



ɢɧɨɫɬɪɚɧɧ
ɵɦ 
ɹɡɵɤɨɦ ɜ 
ɭɫɬɧɨɣ ɢ 
ɩɢɫɶɦɟɧɧ
ɨɣ ɮɨɪɦɟ 
ɞɥɹ 
ɨɫɭɳɟɫɬɜɥ
ɟɧɢɹ 
ɦɟɠɤɭɥɶɬ
ɭɪɧɨɣ ɢ 
ɢɧɨɹɡɵɱɧ
ɨɣ 
ɤɨɦɦɭɧɢɤ
ɚɰɢɢ 

ɭɪɨɜɟɧɶ) ɩɨɫɬɪɨɟɧɢɹ 
ɩɪɨɫɬɨɝɨ ɢ 
ɫɥɨɠɧɨɝɨ 
ɩɪɟɞɥɨɠɟɧɢɣ, 
ɢɫɩɨɥɶɡɭɟɦɵɟ ɜ 
ɫɩɟɰɢɚɥɢɡɢɪɨɜɚɧɧɨ
ɣ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɣ 
ɥɢɬɟɪɚɬɭɪɟ; 
- ɡɧɚɟɬ 
ɭɧɢɜɟɪɫɚɥɶɧɵɟ 
ɝɪɚɦɦɚɬɢɱɟɫɤɢɟ 
ɤɚɬɟɝɨɪɢɢ ɢ 
ɹɜɥɟɧɢɹ, 
ɨɬɫɭɬɫɬɜɭɸɳɢɟ ɜ 
ɪɨɞɧɨɦ ɹɡɵɤɟ 
(ɜɢɞɨɜɪɟɦɟɧɧɵɟ 
ɮɨɪɦɵ ɝɥɚɝɨɥɚ, 
ɫɪɟɞɫɬɜɚ 
ɜɵɪɚɠɟɧɢɹ 
ɦɨɞɚɥɶɧɨɫɬɢ, 
ɫɨɝɥɚɫɨɜɚɧɢɟ 
ɜɪɟɦɟɧ, 
ɢɧɮɢɧɢɬɢɜɧɵɟ ɢ 
ɩɪɢɱɚɫɬɧɵɟ 
ɨɛɨɪɨɬɵ, 
ɝɟɪɭɧɞɢɣ); 

ɬɢɩɨɜ 
ɩɨɫɬɪɨɟɧɢɹ 
ɩɪɨɫɬɨɝɨ ɢ 
ɫɥɨɠɧɨɝɨ 
ɩɪɟɞɥɨɠɟɧɢ
ɣ, 
ɢɫɩɨɥɶɡɭɟɦ
ɵɯ ɜ 
ɫɩɟɰɢɚɥɢɡɢɪ
ɨɜɚɧɧɨɣ 
ɩɪɨɮɟɫɫɢɨɧɚ
ɥɶɧɨɣ 
ɥɢɬɟɪɚɬɭɪɟ; 
- ɡɧɚɧɢɟ 
ɭɧɢɜɟɪɫɚɥɶɧ
ɵɯ 
ɝɪɚɦɦɚɬɢɱɟɫ
ɤɢɯ 
ɤɚɬɟɝɨɪɢɣ ɢ 
ɹɜɥɟɧɢɣ, 
ɨɬɫɭɬɫɬɜɭɸ
ɳɢɯ ɜ 
ɪɨɞɧɨɦ 
ɹɡɵɤɟ 
(ɜɢɞɨɜɪɟɦɟɧ
ɧɵɟ ɮɨɪɦɵ 
ɝɥɚɝɨɥɚ, 
ɫɪɟɞɫɬɜɚ 
ɜɵɪɚɠɟɧɢɹ 
ɦɨɞɚɥɶɧɨɫɬɢ
, 
ɫɨɝɥɚɫɨɜɚɧɢ
ɟ ɜɪɟɦɟɧ, 
ɢɧɮɢɧɢɬɢɜɧ
ɵɟ ɢ 
ɩɪɢɱɚɫɬɧɵɟ 
ɨɛɨɪɨɬɵ, 
ɝɟɪɭɧɞɢɣ); 

ɢ 
ɢɫɩɨɥɶɡɨɜɚɬɶ 
ɫɬɪɭɤɬɭɪɧɵɟ 
ɬɢɩɵ 
ɩɨɫɬɪɨɟɧɢɹ 
ɩɪɨɫɬɨɝɨ ɢ 
ɫɥɨɠɧɨɝɨ 
ɩɪɟɞɥɨɠɟɧɢɣ, 
ɜɫɬɪɟɱɚɸɳɢɟ
ɫɹ 
ɫɩɟɰɢɚɥɢɡɢɪɨ
ɜɚɧɧɨɣ 
ɩɪɨɮɟɫɫɢɨɧɚɥ
ɶɧɨɣ 
ɥɢɬɟɪɚɬɭɪɟ; 
- ɫɩɨɫɨɛɧɨɫɬɶ 
ɪɚɫɩɨɡɧɚɜɚɬɶ 
ɢ 
ɢɫɩɨɥɶɡɨɜɚɬɶ 
ɭɧɢɜɟɪɫɚɥɶɧɵ
ɟ 
ɝɪɚɦɦɚɬɢɱɟɫɤ
ɢɟ ɤɚɬɟɝɨɪɢɢ 
ɢ ɹɜɥɟɧɢɹ, 
ɨɬɫɭɬɫɬɜɭɸɳ
ɢɟ ɜ ɪɨɞɧɨɦ 
ɹɡɵɤɟ 
(ɜɢɞɨɜɪɟɦɟɧɧ
ɵɟ ɮɨɪɦɵ 
ɝɥɚɝɨɥɚ, 
ɫɪɟɞɫɬɜɚ 
ɜɵɪɚɠɟɧɢɹ 
ɦɨɞɚɥɶɧɨɫɬɢ, 
ɫɨɝɥɚɫɨɜɚɧɢɟ 
ɜɪɟɦɟɧ, 
ɢɧɮɢɧɢɬɢɜɧɵ
ɟ ɢ 
ɩɪɢɱɚɫɬɧɵɟ 
ɨɛɨɪɨɬɵ, 
ɝɟɪɭɧɞɢɣ); 

 

ɍɦɟɟɬ 
(ɩɪɨɞɜɢɧɭɬɵ
ɣ ɭɪɨɜɟɧɶ) 

- ɢɫɩɨɥɶɡɨɜɚɬɶ 
ɥɟɤɫɢɤɨ-
ɝɪɚɦɦɚɬɢɱɟɫɤɢɟ 
ɟɞɢɧɢɰɵ ɜ 
ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ 
ɩɪɚɜɢɥɚɦɢ 
ɨɪɮɨɝɪɚɮɢɢ 
ɚɧɝɥɢɣɫɤɨɝɨ ɹɡɵɤɚ; 
-  ɭɩɨɬɪɟɛɥɹɬɶ 
ɮɨɪɦɭɥɵ ɪɟɱɟɜɨɝɨ 
ɷɬɢɤɟɬɚ ɜ 
ɡɚɜɢɫɢɦɨɫɬɢ ɨɬ 

- ɭɦɟɧɢɟ 
ɢɫɩɨɥɶɡɨɜɚɬ
ɶ ɥɟɤɫɢɤɨ-
ɝɪɚɦɦɚɬɢɱɟɫ
ɤɢɟ ɟɞɢɧɢɰɵ 
ɜ 
ɫɨɨɬɜɟɬɫɬɜɢ
ɢ ɫ 
ɩɪɚɜɢɥɚɦɢ 
ɨɪɮɨɝɪɚɮɢɢ 
ɚɧɝɥɢɣɫɤɨɝɨ 
ɹɡɵɤɚ; 

- ɫɩɨɫɨɛɧɨɫɬɶ 
ɢɫɩɨɥɶɡɨɜɚɬɶ 
ɥɟɤɫɢɤɨ-
ɝɪɚɦɦɚɬɢɱɟɫɤ
ɢɟ ɟɞɢɧɢɰɵ ɜ 
ɫɨɨɬɜɟɬɫɬɜɢɢ 
ɫ ɩɪɚɜɢɥɚɦɢ 
ɨɪɮɨɝɪɚɮɢɢ 
ɚɧɝɥɢɣɫɤɨɝɨ 
ɹɡɵɤɚ; 
-  ɫɩɨɫɨɛɧɨɫɬɶ 
ɭɩɨɬɪɟɛɥɹɬɶ 
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ɫɨɰɢɚɥɶɧɨ-
ɤɭɥɶɬɭɪɧɨɝɨ 
ɤɨɧɬɟɤɫɬɚ ɨɛɳɟɧɢɹ; 
 

- ɭɦɟɧɢɟ 
ɭɩɨɬɪɟɛɥɹɬɶ 
ɮɨɪɦɭɥɵ 
ɪɟɱɟɜɨɝɨ 
ɷɬɢɤɟɬɚ ɜ 
ɡɚɜɢɫɢɦɨɫɬɢ 
ɨɬ 
ɫɨɰɢɚɥɶɧɨ-
ɤɭɥɶɬɭɪɧɨɝɨ 
ɤɨɧɬɟɤɫɬɚ 
ɨɛɳɟɧɢɹ; 

ɮɨɪɦɭɥɵ 
ɪɟɱɟɜɨɝɨ 
ɷɬɢɤɟɬɚ ɜ 
ɡɚɜɢɫɢɦɨɫɬɢ 
ɨɬ ɫɨɰɢɚɥɶɧɨ-
ɤɭɥɶɬɭɪɧɨɝɨ 
ɤɨɧɬɟɤɫɬɚ 
ɨɛɳɟɧɢɹ; 

ȼɥɚɞɟɟɬ 
(ɜɵɫɨɤɢɣ 
ɭɪɨɜɟɧɶ) 

- ɧɚɜɵɤɚɦɢ 
ɥɟɤɫɢɱɟɫɤɢ 
ɩɪɚɜɢɥɶɧɨ ɢ 
ɝɪɚɦɨɬɧɨ, ɥɨɝɢɱɧɨ 
ɢ ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨ 
ɩɨɪɨɠɞɚɬɶ ɭɫɬɧɵɟ 
ɢ ɩɢɫɶɦɟɧɧɵɟ 
ɜɵɫɤɚɡɵɜɚɧɢɹ ɜ 
ɫɢɬɭɚɰɢɹɯ 
ɦɟɠɤɭɥɶɬɭɪɧɨɝɨ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ 
ɨɛɳɟɧɢɹ; 
- ɧɚɜɵɤɚɦɢ 
ɭɩɨɬɪɟɛɥɹɬɶ 
ɢɡɭɱɟɧɧɵɟ 
ɫɬɪɚɬɟɝɢɢ ɢ 
ɬɟɯɧɨɥɨɝɢɢ, 
ɧɟɨɛɯɨɞɢɦɵɟ ɜ 
ɪɚɡɥɢɱɧɵɯ 
ɨɛɥɚɫɬɹɯ 
ɢɧɨɹɡɵɱɧɨɣ 
ɤɨɦɦɭɧɢɤɚɰɢɢ; 
- ɧɚɜɵɤɚɦɢ 
ɨɩɪɟɞɟɥɹɬɶ 
ɨɛɨɛɳɟɧɧɵɟ 
ɡɧɚɱɟɧɢɹ ɫɥɨɜ ɧɚ 
ɨɫɧɨɜɟ ɚɧɚɥɢɡɚ 
ɤɨɧɬɟɤɫɬɚ ɢ 
ɫɥɨɜɨɨɛɪɚɡɨɜɚɬɟɥɶ
ɧɵɯ ɷɥɟɦɟɧɬɨɜ 
ɬɟɤɫɬɚ ɩɨ ɡɧɚɤɨɦɨɣ 
ɬɟɦɚɬɢɤɟ ɛɟɡ 
ɫɥɨɜɚɪɹ; 

- ɜɥɚɞɟɧɢɟ 
ɧɚɜɵɤɚɦɢ 
ɥɟɤɫɢɱɟɫɤɢ 
ɩɪɚɜɢɥɶɧɨ ɢ 
ɝɪɚɦɨɬɧɨ, 
ɥɨɝɢɱɧɨ ɢ 
ɩɨɫɥɟɞɨɜɚɬɟ
ɥɶɧɨ 
ɩɨɪɨɠɞɚɬɶ 
ɭɫɬɧɵɟ ɢ 
ɩɢɫɶɦɟɧɧɵɟ 
ɜɵɫɤɚɡɵɜɚɧ
ɢɹ ɜ 
ɫɢɬɭɚɰɢɹɯ 
ɦɟɠɤɭɥɶɬɭɪ
ɧɨɝɨ 
ɩɪɨɮɟɫɫɢɨɧ
ɚɥɶɧɨɝɨ 
ɨɛɳɟɧɢɹ; 
- ɜɥɚɞɟɧɢɟ 
ɧɚɜɵɤɚɦɢ 
ɭɩɨɬɪɟɛɥɟɧɢ
ɹ ɢɡɭɱɟɧɧɵɯ 
ɫɬɪɚɬɟɝɢɣ ɢ 
ɬɟɯɧɨɥɨɝɢɣ, 
ɧɟɨɛɯɨɞɢɦɵ
ɯ ɜ 
ɪɚɡɥɢɱɧɵɯ 
ɨɛɥɚɫɬɹɯ 
ɢɧɨɹɡɵɱɧɨɣ 
ɤɨɦɦɭɧɢɤɚɰ
ɢɢ; 
- ɜɥɚɞɟɧɢɟ 
ɧɚɜɵɤɚɦɢ 
ɨɩɪɟɞɟɥɟɧɢɹ 
ɨɛɨɛɳɟɧɧɵ
ɯ ɡɧɚɱɟɧɢɣ 
ɫɥɨɜ ɧɚ 
ɨɫɧɨɜɟ 
ɚɧɚɥɢɡɚ 
ɤɨɧɬɟɤɫɬɚ ɢ 

- ɫɩɨɫɨɛɧɨɫɬɶ 
ɥɟɤɫɢɱɟɫɤɢ 
ɩɪɚɜɢɥɶɧɨ ɢ 
ɝɪɚɦɨɬɧɨ, 
ɥɨɝɢɱɧɨ ɢ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶ
ɧɨ ɩɨɪɨɠɞɚɬɶ 
ɭɫɬɧɵɟ ɢ 
ɩɢɫɶɦɟɧɧɵɟ 
ɜɵɫɤɚɡɵɜɚɧɢɹ 
ɜ ɫɢɬɭɚɰɢɹɯ 
ɦɟɠɤɭɥɶɬɭɪɧɨ
ɝɨ 
ɩɪɨɮɟɫɫɢɨɧɚɥ
ɶɧɨɝɨ 
ɨɛɳɟɧɢɹ; 
- ɫɩɨɫɨɛɧɨɫɬɶ 
ɭɩɨɬɪɟɛɥɹɬɶ 
ɢɡɭɱɟɧɧɵɟ 
ɫɬɪɚɬɟɝɢɢ ɢ 
ɬɟɯɧɨɥɨɝɢɢ, 
ɧɟɨɛɯɨɞɢɦɵɟ 
ɜ ɪɚɡɥɢɱɧɵɯ 
ɨɛɥɚɫɬɹɯ 
ɢɧɨɹɡɵɱɧɨɣ 
ɤɨɦɦɭɧɢɤɚɰɢ
ɢ; 
- ɫɩɨɫɨɛɧɨɫɬɶ 
ɨɩɪɟɞɟɥɹɬɶ 
ɨɛɨɛɳɟɧɧɵɟ 
ɡɧɚɱɟɧɢɹ ɫɥɨɜ 
ɧɚ ɨɫɧɨɜɟ 
ɚɧɚɥɢɡɚ 
ɤɨɧɬɟɤɫɬɚ ɢ 
ɫɥɨɜɨɨɛɪɚɡɨɜɚ
ɬɟɥɶɧɵɯ 
ɷɥɟɦɟɧɬɨɜ 
ɬɟɤɫɬɚ ɩɨ 
ɡɧɚɤɨɦɨɣ 
ɬɟɦɚɬɢɤɟ ɛɟɡ 
ɫɥɨɜɚɪɹ; 
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ɫɥɨɜɨɨɛɪɚɡɨ
ɜɚɬɟɥɶɧɵɯ 
ɷɥɟɦɟɧɬɨɜ 
ɬɟɤɫɬɚ ɩɨ 
ɡɧɚɤɨɦɨɣ 
ɬɟɦɚɬɢɤɟ 
ɛɟɡ ɫɥɨɜɚɪɹ; 

ɈɄ-19 

ɜɥɚɞɟɧɢɟɦ 
ɥɟɤɫɢɱɟɫɤ
ɢɦɢ 
ɨɫɧɨɜɚɦɢ 
ɨɞɧɨɝɨ ɢɡ 
ɢɧɨɫɬɪɚɧɧ
ɵɯ ɹɡɵɤɨɜ 
ɦɟɠɞɭɧɚɪ
ɨɞɧɨɝɨ 
ɨɛɳɟɧɢɹ 
ɧɚ ɭɪɨɜɧɟ, 
ɨɛɟɫɩɟɱɢɜ
ɚɸɳɟɦ 
ɭɫɬɧɵɟ ɢ 
ɩɢɫɶɦɟɧɧ
ɵɟ 
ɦɟɠɥɢɱɧɨ
ɫɬɧɵɟ ɢ 
ɩɪɨɮɟɫɫɢɨ
ɧɚɥɶɧɵɟ 
ɤɨɦɦɭɧɢɤ
ɚɰɢɢ 

Ɂɧɚɟɬ 

(ɩɨɪɨɝɨɜɵɣ 
ɭɪɨɜɟɧɶ) 

- ɨɛɳɟɧɚɭɱɧɵɟ 
ɬɟɪɦɢɧɵ ɜ ɨɛɴɟɦɟ 
ɞɨɫɬɚɬɨɱɧɨɦ ɞɥɹ 
ɪɚɛɨɬɵ ɫ 
ɨɪɢɝɢɧɚɥɶɧɵɦɢ 
ɧɚɭɱɧɵɦɢ ɬɟɤɫɬɚɦɢ 
ɢ ɬɟɤɫɬɚɦɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ 
ɯɚɪɚɤɬɟɪɚ; 
- ɨɫɨɛɟɧɧɨɫɬɢ 
ɢɧɨɹɡɵɱɧɨɝɨ 
ɧɚɭɱɧɨɝɨ ɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ 
ɞɢɫɤɭɪɫɚ, ɢɫɯɨɞɹ ɢɡ 
ɫɢɬɭɚɰɢɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ 
ɨɛɳɟɧɢɹ; 

- ɡɧɚɧɢɟ 
ɨɛɳɟɧɚɭɱɧɵ
ɯ ɬɟɪɦɢɧɨɜ ɜ 
ɨɛɴɟɦɟ 
ɞɨɫɬɚɬɨɱɧɨɦ 
ɞɥɹ ɪɚɛɨɬɵ ɫ 
ɨɪɢɝɢɧɚɥɶɧ
ɵɦɢ 
ɧɚɭɱɧɵɦɢ 
ɬɟɤɫɬɚɦɢ ɢ 
ɬɟɤɫɬɚɦɢ 
ɩɪɨɮɟɫɫɢɨɧɚ
ɥɶɧɨɝɨ 
ɯɚɪɚɤɬɟɪɚ; 
- ɡɧɚɧɢɟ 
ɨɫɨɛɟɧɧɨɫɬɟ
ɣ 
ɢɧɨɹɡɵɱɧɨɝɨ 
ɧɚɭɱɧɨɝɨ ɢ 
ɩɪɨɮɟɫɫɢɨɧɚ
ɥɶɧɨɝɨ 
ɞɢɫɤɭɪɫɚ, 
ɢɫɯɨɞɹ ɢɡ 
ɫɢɬɭɚɰɢɢ 
ɩɪɨɮɟɫɫɢɨɧɚ
ɥɶɧɨɝɨ 
ɨɛɳɟɧɢɹ; 

- ɫɩɨɫɨɛɧɨɫɬɶ 
ɢɫɩɨɥɶɡɨɜɚɬɶ 
ɨɛɳɟɧɚɭɱɧɵɟ 
ɬɟɪɦɢɧɵ ɜ 
ɨɛɴɟɦɟ 
ɞɨɫɬɚɬɨɱɧɨɦ 
ɞɥɹ ɪɚɛɨɬɵ ɫ 
ɨɪɢɝɢɧɚɥɶɧɵ
ɦɢ ɧɚɭɱɧɵɦɢ 
ɬɟɤɫɬɚɦɢ ɢ 
ɬɟɤɫɬɚɦɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥ
ɶɧɨɝɨ 
ɯɚɪɚɤɬɟɪɚ; 
- ɫɩɨɫɨɛɧɨɫɬɶ 
ɪɚɫɩɨɡɧɚɜɚɬɶ 
ɢ 
ɢɫɩɨɥɶɡɨɜɚɬɶ 
ɨɫɨɛɟɧɧɨɫɬɢ 
ɢɧɨɹɡɵɱɧɨɝɨ 
ɧɚɭɱɧɨɝɨ ɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥ
ɶɧɨɝɨ 
ɞɢɫɤɭɪɫɚ, 
ɢɫɯɨɞɹ ɢɡ 
ɫɢɬɭɚɰɢɢ 
ɩɪɨɮɟɫɫɢɨɧɚɥ
ɶɧɨɝɨ 
ɨɛɳɟɧɢɹ; 
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ɍɦɟɟɬ 

(ɩɪɨɞɜɢɧɭɬɵ
ɣ ɭɪɨɜɟɧɶ) 

- ɩɨɥɶɡɨɜɚɬɶɫɹ 
ɹɡɵɤɨɜɵɦɢ 
ɫɪɟɞɫɬɜɚɦɢ ɜ 
ɨɫɧɨɜɧɵɯ ɜɢɞɚɯ 
ɪɟɱɟɜɨɣ 
ɞɟɹɬɟɥɶɧɨɫɬɢ: 
ɝɨɜɨɪɟɧɢɢ, 
ɜɨɫɩɪɢɹɬɢɢ ɧɚ ɫɥɭɯ 
(ɚɭɞɢɪɨɜɚɧɢɢ), 
ɱɬɟɧɢɢ, ɩɟɪɟɜɨɞɟ ɢ 
ɩɢɫɶɦɟ; 
- ɞɟɥɚɬɶ ɜɵɜɨɞɵ, 
ɨɛɨɛɳɟɧɢɹ, 
ɫɢɫɬɟɦɚɬɢɡɢɪɨɜɚɬɶ 
ɹɡɵɤɨɜɵɟ ɡɧɚɧɢɹ ɧɚ 

- ɭɦɟɧɢɟ 
ɩɨɥɶɡɨɜɚɬɶɫ
ɹ ɹɡɵɤɨɜɵɦɢ 
ɫɪɟɞɫɬɜɚɦɢ ɜ 
ɨɫɧɨɜɧɵɯ 
ɜɢɞɚɯ 
ɪɟɱɟɜɨɣ 
ɞɟɹɬɟɥɶɧɨɫɬ
ɢ: 
ɝɨɜɨɪɟɧɢɢ, 
ɜɨɫɩɪɢɹɬɢɢ 
ɧɚ ɫɥɭɯ 
(ɚɭɞɢɪɨɜɚɧɢ
ɢ), ɱɬɟɧɢɢ, 
ɩɟɪɟɜɨɞɟ ɢ 

- ɫɩɨɫɨɛɧɨɫɬɶ 
ɩɨɥɶɡɨɜɚɬɶɫɹ 
ɹɡɵɤɨɜɵɦɢ 
ɫɪɟɞɫɬɜɚɦɢ ɜ 
ɨɫɧɨɜɧɵɯ 
ɜɢɞɚɯ ɪɟɱɟɜɨɣ 
ɞɟɹɬɟɥɶɧɨɫɬɢ: 
ɝɨɜɨɪɟɧɢɢ, 
ɜɨɫɩɪɢɹɬɢɢ ɧɚ 
ɫɥɭɯ 
(ɚɭɞɢɪɨɜɚɧɢɢ)
, ɱɬɟɧɢɢ, 
ɩɟɪɟɜɨɞɟ ɢ 
ɩɢɫɶɦɟ; 
- ɫɩɨɫɨɛɧɨɫɬɶ 
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ɨɫɧɨɜɟ ɚɧɚɥɢɡɚ 
ɩɨɥɭɱɟɧɧɨɣ 
ɢɧɮɨɪɦɚɰɢɢ ɞɥɹ 
ɚɧɧɨɬɢɪɨɜɚɧɢɹ ɢ 
ɪɟɮɟɪɢɪɨɜɚɧɢɹ 
ɫɩɟɰɢɚɥɢɡɢɪɨɜɚɧɧ
ɵɯ ɬɟɤɫɬɨɜ; 
- ɞɟɥɚɬɶ ɭɫɬɧɨɟ 
ɫɨɨɛɳɟɧɢɟ, ɞɨɤɥɚɞ 
ɩɨ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɣ 
ɬɟɦɚɬɢɤɟ; 

ɩɢɫɶɦɟ; 
- ɭɦɟɧɢɟ 
ɞɟɥɚɬɶ 
ɜɵɜɨɞɵ, 
ɨɛɨɛɳɟɧɢɹ, 
ɫɢɫɬɟɦɚɬɢɡɢ
ɪɨɜɚɬɶ 
ɹɡɵɤɨɜɵɟ 
ɡɧɚɧɢɹ ɧɚ 
ɨɫɧɨɜɟ 
ɚɧɚɥɢɡɚ 
ɩɨɥɭɱɟɧɧɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 
ɞɥɹ 
ɚɧɧɨɬɢɪɨɜɚɧ
ɢɹ ɢ 
ɪɟɮɟɪɢɪɨɜɚɧ
ɢɹ 
ɫɩɟɰɢɚɥɢɡɢɪ
ɨɜɚɧɧɵɯ 
ɬɟɤɫɬɨɜ; 
- ɭɦɟɧɢɟ 
ɞɟɥɚɬɶ 
ɭɫɬɧɨɟ 
ɫɨɨɛɳɟɧɢɟ, 
ɞɨɤɥɚɞ ɩɨ 
ɩɪɨɮɟɫɫɢɨɧɚ
ɥɶɧɨɣ 
ɬɟɦɚɬɢɤɟ; 

ɞɟɥɚɬɶ 
ɜɵɜɨɞɵ, 
ɨɛɨɛɳɟɧɢɹ, 
ɫɢɫɬɟɦɚɬɢɡɢɪ
ɨɜɚɬɶ 
ɹɡɵɤɨɜɵɟ 
ɡɧɚɧɢɹ ɧɚ 
ɨɫɧɨɜɟ 
ɚɧɚɥɢɡɚ 
ɩɨɥɭɱɟɧɧɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 
ɞɥɹ 
ɚɧɧɨɬɢɪɨɜɚɧɢ
ɹ ɢ 
ɪɟɮɟɪɢɪɨɜɚɧɢ
ɹ 
ɫɩɟɰɢɚɥɢɡɢɪɨ
ɜɚɧɧɵɯ 
ɬɟɤɫɬɨɜ; 
- ɫɩɨɫɨɛɧɨɫɬɶ 
ɞɟɥɚɬɶ ɭɫɬɧɨɟ 
ɫɨɨɛɳɟɧɢɟ, 
ɞɨɤɥɚɞ ɩɨ 
ɩɪɨɮɟɫɫɢɨɧɚɥ
ɶɧɨɣ 
ɬɟɦɚɬɢɤɟ; 

ȼɥɚɞɟɟɬ 

(ɜɵɫɨɤɢɣ 
ɭɪɨɜɟɧɶ) 

- ɧɚɜɵɤɚɦɢ 
ɩɪɨɞɭɤɬɢɜɧɨɣ 
ɩɨɞɝɨɬɨɜɥɟɧɧɨɣ ɢ 
ɧɟɩɨɞɝɨɬɨɜɥɟɧɧɨɣ 
ɭɫɬɧɨɣ ɢ 
ɩɢɫɶɦɟɧɧɨɣ ɪɟɱɢ ɜ 
ɫɢɬɭɚɰɢɹɯ 
ɦɟɠɤɭɥɶɬɭɪɧɨɝɨ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɨɝɨ 
ɨɛɳɟɧɢɹ ɜ 
ɩɪɟɞɟɥɚɯ 
ɢɡɭɱɟɧɧɨɝɨ 
ɹɡɵɤɨɜɨɝɨ 
ɦɚɬɟɪɢɚɥɚ; 
- ɚɥɝɨɪɢɬɦɨɦ 
ɨɛɪɚɛɨɬɤɢ 
ɢɧɮɨɪɦɚɰɢɢ ɫ 
ɢɫɩɨɥɶɡɨɜɚɧɢɟɦ 
ɪɚɡɥɢɱɧɵɯ 
ɫɬɪɚɬɟɝɢɣ ɱɬɟɧɢɹ: 
ɨɡɧɚɤɨɦɢɬɟɥɶɧɨɝɨ, 
ɩɪɨɫɦɨɬɪɨɜɨɝɨ, 
ɩɨɢɫɤɨɜɨɝɨ, 

- ɭɦɟɧɢɟ 
ɩɪɨɞɭɤɬɢɜɧɨ 
ɢɫɩɨɥɶɡɨɜɚɬ
ɶ 
ɩɨɞɝɨɬɨɜɥɟɧ
ɧɭɸ ɢ 
ɧɟɩɨɞɝɨɬɨɜɥ
ɟɧɧɭɸ 
ɭɫɬɧɭɸ ɢ 
ɩɢɫɶɦɟɧɧɭɸ 
ɪɟɱɶ ɜ 
ɫɢɬɭɚɰɢɹɯ 
ɦɟɠɤɭɥɶɬɭɪ
ɧɨɝɨ 
ɩɪɨɮɟɫɫɢɨɧɚ
ɥɶɧɨɝɨ 
ɨɛɳɟɧɢɹ ɜ 
ɩɪɟɞɟɥɚɯ 
ɢɡɭɱɟɧɧɨɝɨ 
ɹɡɵɤɨɜɨɝɨ 
ɦɚɬɟɪɢɚɥɚ; 
- ɭɦɟɧɢɟ 
ɢɫɩɨɥɶɡɨɜɚɬ

- ɫɩɨɫɨɛɧɨɫɬɶ 
ɩɪɨɞɭɤɬɢɜɧɨ 
ɢɫɩɨɥɶɡɨɜɚɬɶ 
ɩɨɞɝɨɬɨɜɥɟɧɧ
ɭɸ ɢ 
ɧɟɩɨɞɝɨɬɨɜɥɟ
ɧɧɭɸ ɭɫɬɧɭɸ 
ɢ ɩɢɫɶɦɟɧɧɭɸ 
ɪɟɱɶ ɜ 
ɫɢɬɭɚɰɢɹɯ 
ɦɟɠɤɭɥɶɬɭɪɧɨ
ɝɨ 
ɩɪɨɮɟɫɫɢɨɧɚɥ
ɶɧɨɝɨ 
ɨɛɳɟɧɢɹ ɜ 
ɩɪɟɞɟɥɚɯ 
ɢɡɭɱɟɧɧɨɝɨ 
ɹɡɵɤɨɜɨɝɨ 
ɦɚɬɟɪɢɚɥɚ; 
- ɫɩɨɫɨɛɧɨɫɬɶ 
ɢɫɩɨɥɶɡɨɜɚɬɶ 
ɚɥɝɨɪɢɬɦ 
ɨɛɪɚɛɨɬɤɢ 

ɉɊ-1 
ɉɊ-13 
ɍɈ-4 
 



ɢɡɭɱɚɸɳɟɝɨ. ɶ ɚɥɝɨɪɢɬɦ 
ɨɛɪɚɛɨɬɤɢ 
ɢɧɮɨɪɦɚɰɢɢ 
ɫ 
ɢɫɩɨɥɶɡɨɜɚɧ
ɢɟɦ 
ɪɚɡɥɢɱɧɵɯ 
ɫɬɪɚɬɟɝɢɣ 
ɱɬɟɧɢɹ: 
ɨɡɧɚɤɨɦɢɬɟɥ
ɶɧɨɝɨ, 
ɩɪɨɫɦɨɬɪɨɜ
ɨɝɨ, 
ɩɨɢɫɤɨɜɨɝɨ, 
ɢɡɭɱɚɸɳɟɝɨ
. 

ɢɧɮɨɪɦɚɰɢɢ ɫ 
ɢɫɩɨɥɶɡɨɜɚɧɢ
ɟɦ ɪɚɡɥɢɱɧɵɯ 
ɫɬɪɚɬɟɝɢɣ 
ɱɬɟɧɢɹ: 
ɨɡɧɚɤɨɦɢɬɟɥɶ
ɧɨɝɨ, 
ɩɪɨɫɦɨɬɪɨɜɨɝ
ɨ, ɩɨɢɫɤɨɜɨɝɨ, 
ɢɡɭɱɚɸɳɟɝɨ. 

ɈɉɄ-2  

ɫɩɨɫɨɛɧ
ɨɫɬɶɸ 
ɩɪɢɦɟɧɹɬɶ 
ɡɧɚɧɢɹ 
ɫɦɟɠɧɵɯ 
ɢ 
ɫɨɩɭɬɫɬɜɭ
ɸɳɢɯ 
ɞɢɫɰɢɩɥɢ
ɧ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤ
ɟ 
ɩɪɨɟɤɬɨɜ, 
ɞɟɣɫɬɜɨɜɚ
ɬɶ 
ɢɧɧɨɜɚɰɢ
ɨɧɧɨ ɢ 
ɬɟɯɧɢɱɟɫɤ
ɢ 
ɝɪɚɦɨɬɧɨ 
ɩɪɢ 
ɢɫɩɨɥɶɡɨɜ
ɚɧɢɢ 
ɫɬɪɨɢɬɟɥɶ
ɧɵɯ 
ɬɟɯɧɨɥɨɝɢ
ɣ, 
ɦɚɬɟɪɢɚɥɨ
ɜ, 
ɤɨɧɫɬɪɭɤɰ

Ɂɧɚɟɬ 
(ɩɨɪɨɝɨɜɵɣ 
ɭɪɨɜɟɧɶ) 

ɢɧɮɨɪɦɚɰɢɨɧɧɨ-
ɤɨɦɩɶɸɬɟɪɧɵɟ 
ɫɪɟɞɫɬɜɚ 
ɩɪɨɟɤɬɢɪɨɜɚɧɢɹ ɢ 
ɤɨɦɦɭɧɢɤɚɰɢɣ; 
ɫɨɜɪɟɦɟɧɧɵɟ 
ɫɬɪɨɢɬɟɥɶɧɵɟ 
ɦɚɬɟɪɢɚɥɵ ɢ 
ɤɨɧɫɬɪɭɤɬɢɜɧɵɟ 
ɫɯɟɦɵ ɡɞɚɧɢɣ, 
ɫɨɜɪɟɦɟɧɧɵɟ 
ɢɧɠɟɧɟɪɧɵɟ 
ɫɢɫɬɟɦɵ ɡɞɚɧɢɣ ɢ 
ɫɨɨɪɭɠɟɧɢɣ 

Ɂɧɚɧɢɟ 
ɢɧɮɨɪɦɚɰɢɨɧ
ɧɨ-
ɤɨɦɩɶɸɬɟɪɧɵ
ɯ ɫɪɟɞɫɬɜ 
ɩɪɨɟɤɬɢɪɨɜɚɧ
ɢɹ ɢ 
ɤɨɦɦɭɧɢɤɚɰɢ
ɣ; 
ɫɨɜɪɟɦɟɧɧɵɯ 
ɫɬɪɨɢɬɟɥɶɧɵɯ 
ɦɚɬɟɪɢɚɥɨɜ ɢ 
ɤɨɧɫɬɪɭɤɬɢɜɧ
ɵɯ ɫɯɟɦ 
ɡɞɚɧɢɣ, 
ɫɨɜɪɟɦɟɧɧɵɯ
ɢɧɠɟɧɟɪɧɵɯ 
ɫɢɫɬɟɦ 
ɡɞɚɧɢɣ ɢ 
ɫɨɨɪɭɠɟɧɢɣ 

ɋɩɨɫɨɛɧɨɫɬɶ 
ɩɪɢɦɟɧɹɬɶ 
ɡɧɚɧɢɹ 
ɢɧɮɨɪɦɚɰɢɨɧɧ
ɨ-
ɤɨɦɩɶɸɬɟɪɧɵɯ 
ɫɪɟɞɫɬɜ 
ɩɪɨɟɤɬɢɪɨɜɚɧɢ
ɹ ɢ 
ɤɨɦɦɭɧɢɤɚɰɢɣ; 
ɫɨɜɪɟɦɟɧɧɵɯ 
ɫɬɪɨɢɬɟɥɶɧɵɯ 
ɦɚɬɟɪɢɚɥɨɜ ɢ 
ɤɨɧɫɬɪɭɤɬɢɜɧɵ
ɯ ɫɯɟɦ ɡɞɚɧɢɣ, 
ɫɨɜɪɟɦɟɧɧɵɯ 
ɢɧɠɟɧɟɪɧɵɯ 
ɫɢɫɬɟɦ ɡɞɚɧɢɣ 
ɢ ɫɨɨɪɭɠɟɧɢɣ 

ɍɈ-4  

ɍɦɟɟɬ 
(ɩɪɨɞɜɢɧɭɬɵ
ɣ ɭɪɨɜɟɧɶ) 

ɉɪɢɦɟɧɹɬɶ 
ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ 
ɩɪɢ ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɨɜ ɫ 
ɢɫɩɨɥɶɡɨɜɚɧɢɟɦ 
ɤɨɧɫɬɪɭɤɰɢɣ, 
ɦɚɬɟɪɢɚɥɨɜ ɢ 
ɩɪɨɝɪɟɫɫɢɜɧɵɯ 
ɚɪɯɢɬɟɤɬɭɪɧɨ-
ɫɬɪɨɢɬɟɥɶɧɵɯ 
ɬɟɯɧɨɥɨɝɢɣ 
ɫɨɝɥɚɫɧɨ 
ɧɨɪɦɚɬɢɜɧɵɦ 
ɬɪɟɛɨɜɚɧɢɹɦ, 
ɬɟɯɧɢɱɟɫɤɢɦ 
ɪɟɝɥɚɦɟɧɬɚɦ ɢ 

ɍɦɟɧɢɟ 
ɩɪɢɦɟɧɹɬɶ 
ɢɧɨɫɬɪɚɧɧɵ
ɣ ɹɡɵɤ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɨɜ ɫ 
ɢɫɩɨɥɶɡɨɜɚɧ
ɢɟɦ 
ɤɨɧɫɬɪɭɤɰɢɣ
, ɦɚɬɟɪɢɚɥɨɜ 
ɢ 
ɩɪɨɝɪɟɫɫɢɜɧ
ɵɯ 
ɚɪɯɢɬɟɤɬɭɪɧ
ɨ-
ɫɬɪɨɢɬɟɥɶɧɵ

ɋɩɨɫɨɛɧɨɫɬɶ 
ɩɪɢɦɟɧɹɬɶ 
ɢɧɨɫɬɪɚɧɧɵɣ 
ɹɡɵɤ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɨɜ ɫ 
ɢɫɩɨɥɶɡɨɜɚɧɢ
ɟɦ 
ɤɨɧɫɬɪɭɤɰɢɣ, 
ɦɚɬɟɪɢɚɥɨɜ ɢ 
ɩɪɨɝɪɟɫɫɢɜɧɵ
ɯ 
ɚɪɯɢɬɟɤɬɭɪɧɨ-
ɫɬɪɨɢɬɟɥɶɧɵɯ 
ɬɟɯɧɨɥɨɝɢɣ 
ɫɨɝɥɚɫɧɨ 
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ɢɣ, ɫɢɫɬɟɦ 
ɠɢɡɧɟɨɛɟɫ
ɩɟɱɟɧɢɹ ɢ 
ɢɧɮɨɪɦɚɰ
ɢɨɧɧɨ-

ɤɨɦɩɶɸɬɟ
ɪɧɵɯ 
ɫɪɟɞɫɬɜ 

 

ɡɚɤɨɧɨɞɚɬɟɥɶɫɬɜɭ ɯ 
ɬɟɯɧɨɥɨɝɢɣ 
ɫɨɝɥɚɫɧɨ 
ɧɨɪɦɚɬɢɜɧɵ
ɦ 
ɬɪɟɛɨɜɚɧɢɹɦ
, 
ɬɟɯɧɢɱɟɫɤɢɦ 
ɪɟɝɥɚɦɟɧɬɚɦ 
ɢ 
ɡɚɤɨɧɨɞɚɬɟɥ
ɶɫɬɜɭ 

ɧɨɪɦɚɬɢɜɧɵɦ 
ɬɪɟɛɨɜɚɧɢɹɦ, 
ɬɟɯɧɢɱɟɫɤɢɦ 
ɪɟɝɥɚɦɟɧɬɚɦ 
ɢ 
ɡɚɤɨɧɨɞɚɬɟɥɶɫ
ɬɜɭ 

ȼɥɚɞɟɟɬ 
(ɜɵɫɨɤɢɣ 
ɭɪɨɜɟɧɶ) 

ɦɟɬɨɞɚɦɢ 
ɤɨɧɫɬɪɭɢɪɨɜɚɧɢɹ 
ɡɞɚɧɢɣ ɢ ɜɵɛɨɪɚ 
ɢɧɧɨɜɚɰɢɨɧɧɵɯ ɢ 
ɬɟɯɧɢɱɟɫɤɢ 
ɝɪɚɦɨɬɧɵɯ 
ɚɪɯɢɬɟɤɬɭɪɧɨ-
ɫɬɪɨɢɬɟɥɶɧɵɯ 
ɬɟɯɧɨɥɨɝɢɣ ɢɯ 
ɜɨɡɜɟɞɟɧɢɹ 
 
 
 

ȼɥɚɞɟɧɢɟ 
ɦɟɬɨɞɚɦɢ 
ɤɨɧɫɬɪɭɢɪɨɜ
ɚɧɢɹ ɡɞɚɧɢɣ 
ɢ ɜɵɛɨɪɚ 
ɢɧɧɨɜɚɰɢɨɧ
ɧɵɯ ɢ 
ɬɟɯɧɢɱɟɫɤɢ 
ɝɪɚɦɨɬɧɵɯ 
ɚɪɯɢɬɟɤɬɭɪɧ
ɨ-
ɫɬɪɨɢɬɟɥɶɧɵ
ɯ 
ɬɟɯɧɨɥɨɝɢɣ 
ɢɯ 
ɜɨɡɜɟɞɟɧɢɹ 

ɋɩɨɫɨɛɧɨɫɬɶ 
ɩɪɢɦɟɧɹɬɶ 
ɦɟɬɨɞɵ 
ɤɨɧɫɬɪɭɢɪɨɜɚ
ɧɢɹ ɡɞɚɧɢɣ ɢ 
ɜɵɛɨɪɚ 
ɢɧɧɨɜɚɰɢɨɧɧ
ɵɯ ɢ 
ɬɟɯɧɢɱɟɫɤɢ 
ɝɪɚɦɨɬɧɵɯ 
ɚɪɯɢɬɟɤɬɭɪɧɨ-
ɫɬɪɨɢɬɟɥɶɧɵɯ 
ɬɟɯɧɨɥɨɝɢɣ ɢɯ 
ɜɨɡɜɟɞɟɧɢɹ 
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ɉɄ-3 

ɫɩɨɫɨɛɧɨɫ
ɬɶɸ 
ɜɡɚɢɦɧɨ 
ɫɨɝɥɚɫɨɜɵ
ɜɚɬɶ 
ɪɚɡɥɢɱɧɵɟ 
ɫɪɟɞɫɬɜɚ ɢ 
ɮɚɤɬɨɪɵ 
ɩɪɨɟɤɬɢɪɨ
ɜɚɧɢɹ, 
ɢɧɬɟɝɪɢɪɨ
ɜɚɬɶ 
ɪɚɡɧɨɨɛɪɚ
ɡɧɵɟ 
ɮɨɪɦɵ 
ɡɧɚɧɢɹ ɢ 
ɧɚɜɵɤɢ 
ɩɪɢ 
ɪɚɡɪɚɛɨɬɤ

Ɂɧɚɟɬ 

(ɩɨɪɨɝɨɜɵɣ 
ɭɪɨɜɟɧɶ) 

- ɫɪɟɞɫɬɜɚ ɢ 
ɮɚɤɬɨɪɵ 
ɩɪɨɟɤɬɢɪɨɜɚɧɢɹ, 
ɫɩɨɫɨɛɵ 
ɢɧɬɟɝɪɚɰɢɢ ɡɧɚɧɢɣ 
ɢ ɧɚɜɵɤɨɜ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɧɵɯ 
ɪɟɲɟɧɢɣ 

- ɭɦɟɧɢɟ 
ɢɫɩɨɥɶɡɨɜɚɬ
ɶ ɫɪɟɞɫɬɜɚ ɢ 
ɮɚɤɬɨɪɵ 
ɩɪɨɟɤɬɢɪɨɜɚ
ɧɢɹ, 
ɫɩɨɫɨɛɵ 
ɢɧɬɟɝɪɚɰɢɢ 
ɡɧɚɧɢɣ ɢ 
ɧɚɜɵɤɨɜ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɧɵɯ 
ɪɟɲɟɧɢɣ 

- ɫɩɨɫɨɛɧɨɫɬɶ 
ɩɪɢɦɟɧɹɬɶ 
ɫɪɟɞɫɬɜɚ ɢ 
ɮɚɤɬɨɪɵ 
ɩɪɨɟɤɬɢɪɨɜɚɧ
ɢɹ, ɫɩɨɫɨɛɵ 
ɢɧɬɟɝɪɚɰɢɢ 
ɡɧɚɧɢɣ ɢ 
ɧɚɜɵɤɨɜ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɧɵɯ 
ɪɟɲɟɧɢɣ 

 

ɍɦɟɟɬ 

(ɩɪɨɞɜɢɧɭɬɵ
ɣ ɭɪɨɜɟɧɶ) 

- ɢɧɬɟɝɪɢɪɨɜɚɬɶ 
ɪɚɡɧɵɟ ɮɨɪɦɵ 
ɡɧɚɧɢɹ ɢ ɧɚɜɵɤɢ 
ɩɪɢ ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɧɵɯ 
ɪɟɲɟɧɢɣ, ɢ 
ɤɨɨɪɞɢɧɢɪɨɜɚɬɶ 
ɦɟɠɞɢɫɰɢɩɥɢɧɚɪɧ
ɵɟ ɰɟɥɢ 

- ɭɦɟɧɢɟ 
ɢɧɬɟɝɪɢɪɨɜɚ
ɬɶ ɪɚɡɧɵɟ 
ɮɨɪɦɵ 
ɡɧɚɧɢɹ ɢ 
ɧɚɜɵɤɢ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɧɵɯ 
ɪɟɲɟɧɢɣ, ɢ 
ɤɨɨɪɞɢɧɢɪɨɜ
ɚɬɶ 

- ɫɩɨɫɨɛɧɨɫɬɶ 
ɢɧɬɟɝɪɢɪɨɜɚɬ
ɶ ɪɚɡɧɵɟ 
ɮɨɪɦɵ ɡɧɚɧɢɹ 
ɢ ɧɚɜɵɤɢ ɩɪɢ 
ɪɚɡɪɚɛɨɬɤɟ 
ɩɪɨɟɤɬɧɵɯ 
ɪɟɲɟɧɢɣ, ɢ 
ɤɨɨɪɞɢɧɢɪɨɜɚ
ɬɶ 
ɦɟɠɞɢɫɰɢɩɥɢ

 



ɟ 
ɩɪɨɟɤɬɧɵ
ɯ 
ɪɟɲɟɧɢɣ, 
ɤɨɨɪɞɢɧɢ
ɪɨɜɚɬɶ 
ɦɟɠɞɢɫɰɢ
ɩɥɢɧɚɪɧɵ
ɟ ɰɟɥɢ, 
ɦɵɫɥɢɬɶ 
ɬɜɨɪɱɟɫɤɢ
, 

ɢɧɢɰɢɢɪɨ
ɜɚɬɶ 
ɧɨɜɚɬɨɪɫɤ
ɢɟ 
ɪɟɲɟɧɢɹ ɢ 
ɨɫɭɳɟɫɬɜɥ
ɹɬɶ 
ɮɭɧɤɰɢɢ 
ɥɢɞɟɪɚ ɜ 
ɩɪɨɟɤɬɧɨ
ɦ 
ɩɪɨɰɟɫɫɟ 

ɦɟɠɞɢɫɰɢɩɥ
ɢɧɚɪɧɵɟ 
ɰɟɥɢ 

ɧɚɪɧɵɟ ɰɟɥɢ 

ȼɥɚɞɟɟɬ 

(ɜɵɫɨɤɢɣ 
ɭɪɨɜɟɧɶ) 

- ɫɩɨɫɨɛɚɦɢ 
ɢɧɢɰɢɚɰɢɢ 
ɧɨɜɚɬɨɪɫɤɢɯ 
ɪɟɲɟɧɢɣ ɢ 
ɨɫɭɳɟɫɬɜɥɟɧɢɟɦ 
ɮɭɧɤɰɢɣ ɥɢɞɟɪɚ ɜ 
ɩɪɨɟɤɬɧɨɦ 
ɩɪɨɰɟɫɫɟ 

- ɍɦɟɧɢɟ 
ɢɫɩɨɥɶɡɨɜɚɬ
ɶ ɫɩɨɫɨɛɵ 
ɢɧɢɰɢɚɰɢɢ 
ɧɨɜɚɬɨɪɫɤɢɯ 
ɪɟɲɟɧɢɣ ɢ 
ɨɫɭɳɟɫɬɜɥɹɬ
ɶ ɮɭɧɤɰɢɢ 
ɥɢɞɟɪɚ ɜ 
ɩɪɨɟɤɬɧɨɦ 
ɩɪɨɰɟɫɫɟ 

- ɫɩɨɫɨɛɧɨɫɬɶ 
ɩɪɢɦɟɧɹɬɶ 
ɫɩɨɫɨɛɵ 
ɢɧɢɰɢɚɰɢɢ 
ɧɨɜɚɬɨɪɫɤɢɯ 
ɪɟɲɟɧɢɣ ɢ 
ɨɫɭɳɟɫɬɜɥɹɬɶ 
ɮɭɧɤɰɢɢ 
ɥɢɞɟɪɚ ɜ 
ɩɪɨɟɤɬɧɨɦ 
ɩɪɨɰɟɫɫɟ 

 

 

Ɇɟɬɨɞɢɱɟɫɤɢɟ ɪɟɤɨɦɟɧɞɚɰɢɢ, ɨɩɪɟɞɟɥɹɸɳɢɟ ɩɪɨɰɟɞɭɪɵ ɨɰɟɧɢɜɚɧɢɹ 
ɪɟɡɭɥɶɬɚɬɨɜ ɨɫɜɨɟɧɢɹ ɞɢɫɰɢɩɥɢɧɵ  

 

Ɉɰɟɧɨɱɧɵɟ ɫɪɟɞɫɬɜɚ ɞɥɹ ɬɟɤɭɳɟɣ ɚɬɬɟɫɬɚɰɢɢ 

 
Ɍɟɤɭɳɚɹ ɚɬɬɟɫɬɚɰɢɹ ɫɬɭɞɟɧɬɨɜ ɩɨ ɞɢɫɰɢɩɥɢɧɟ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ 

ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» ɩɪɨɜɨɞɢɬɫɹ ɜ ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ ɥɨɤɚɥɶɧɵɦɢ ɧɨɪɦɚɬɢɜɧɵɦɢ 
ɚɤɬɚɦɢ ȾȼɎɍ ɢ ɹɜɥɹɟɬɫɹ ɨɛɹɡɚɬɟɥɶɧɨɣ. 

Ɍɟɤɭɳɚɹ ɚɬɬɟɫɬɚɰɢɹ ɩɨ ɞɢɫɰɢɩɥɢɧɟ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ 
ɹɡɵɤ» ɩɪɨɜɨɞɢɬɫɹ ɜ ɮɨɪɦɟ ɤɨɧɬɪɨɥɶɧɵɯ ɦɟɪɨɩɪɢɹɬɢɣ (ɬɟɫɬɢɪɨɜɚɧɢɹ, ɷɫɫɟ, 
ɭɫɬɧɵɯ ɜɵɫɬɭɩɥɟɧɢɣ ɢ ɭɱɚɫɬɢɹ ɜ ɤɪɭɝɥɵɯ ɫɬɨɥɚɯ, ɞɢɫɤɭɫɫɢɹɯ, ɞɟɛɚɬɚɯ) ɢ 
ɨɫɭɳɟɫɬɜɥɹɟɬɫɹ ɜɟɞɭɳɢɦ ɩɪɟɩɨɞɚɜɚɬɟɥɟɦ. ɉɪɢ ɷɬɨɦ ɪɟɣɬɢɧɝɨɜɚɹ ɫɢɫɬɟɦɚ 
ɩɨɡɜɨɥɹɟɬ ɫɬɭɞɟɧɬɚɦ ɩɨɥɭɱɢɬɶ ɡɚɱɟɬ ɢ ɨɰɟɧɤɭ ɡɚ ɷɤɡɚɦɟɧ ɩɨ ɢɬɨɝɚɦ ɬɟɤɭɳɢɯ 
ɤɨɧɬɪɨɥɶɧɵɯ ɦɟɪɨɩɪɢɹɬɢɣ. 

Ɉɛɴɟɤɬɚɦɢ ɨɰɟɧɢɜɚɧɢɹ ɜɵɫɬɭɩɚɸɬ: 
- ɭɱɟɛɧɚɹ ɞɢɫɰɢɩɥɢɧɚ (ɚɤɬɢɜɧɨɫɬɶ ɧɚ ɡɚɧɹɬɢɹɯ, ɫɜɨɟɜɪɟɦɟɧɧɨɫɬɶ ɜɵɩɨɥɧɟɧɢɹ 
ɪɚɡɥɢɱɧɵɯ ɜɢɞɨɜ ɡɚɞɚɧɢɣ, ɩɨɫɟɳɚɟɦɨɫɬɶ ɜɫɟɯ ɜɢɞɨɜ ɡɚɧɹɬɢɣ ɩɨ ɚɬɬɟɫɬɭɟɦɨɣ 
ɞɢɫɰɢɩɥɢɧɟ); 
- ɫɬɟɩɟɧɶ ɭɫɜɨɟɧɢɹ ɬɟɨɪɟɬɢɱɟɫɤɢɯ ɡɧɚɧɢɣ; 



- ɭɪɨɜɟɧɶ ɨɜɥɚɞɟɧɢɹ ɩɪɚɤɬɢɱɟɫɤɢɦɢ ɭɦɟɧɢɹɦɢ ɢ ɧɚɜɵɤɚɦɢ ɩɨ ɜɫɟɦ ɜɢɞɚɦ 
ɭɱɟɛɧɨɣ ɪɚɛɨɬɵ; 
- ɪɟɡɭɥɶɬɚɬɵ ɫɚɦɨɫɬɨɹɬɟɥɶɧɨɣ ɪɚɛɨɬɵ. 
 

Ʉɪɢɬɟɪɢɢ ɨɰɟɧɤɢ ɬɟɫɬɨɜɵɯ ɡɚɞɚɧɢɣ (ɉɊ-1)  
 

- 90% – 100% ɩɪɚɜɢɥɶɧɵɯ ɨɬɜɟɬɨɜ – «ɨɬɥɢɱɧɨ»;  
- 89% – 75% ɩɪɚɜɢɥɶɧɵɯ ɨɬɜɟɬɨɜ – «ɯɨɪɨɲɨ»;  
- 74% – 61% ɩɪɚɜɢɥɶɧɵɯ ɨɬɜɟɬɨɜ – «ɭɞɨɜɥɟɬɜɨɪɢɬɟɥɶɧɨ»;  
- ɦɟɧɟɟ 60% ɩɪɚɜɢɥɶɧɵɯ ɨɬɜɟɬɨɜ – «ɧɟɭɞɨɜɥɟɬɜɨɪɢɬɟɥɶɧɨ». 
 

Ɍɟɦɵ ɨɛɨɛɳɚɸɳɢɯ ɬɟɫɬɨɜɵɯ ɡɚɞɚɧɢɣ (ɜ ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ ɢɡɭɱɚɟɦɵɦ 
ɦɚɬɟɪɢɚɥɨɦ): Education; Art and design; Ageing; Globalization; Risk; 
Architecture; Manufacturing; Environment; Energy. 
 

Ʉɪɢɬɟɪɢɢ ɨɰɟɧɤɢ ɫɨɨɛɳɟɧɢɹ ɢɥɢ ɞɨɤɥɚɞɚ, ɜ ɬɨɦ ɱɢɫɥɟ ɩɪɢ ɭɱɚɫɬɢɢ ɜ 
ɞɢɫɤɭɫɫɢɢ, ɤɪɭɝɥɨɦ ɫɬɨɥɟ, ɞɟɛɚɬɚɯ (ɍɈ-4) 

 
Ȼɚɥɥɵ ɋɨɞɟɪɠɚɧɢɟ ɉɪɟɞɫɬɚɜɥɟɧɢɟ  
100-86 

«ɨɬɥɢɱɧɨ» 

«ɡɚɱɬɟɧɨ» 

Ɂɚɹɜɥɟɧɧɚɹ ɬɟɦɚ ɪɚɫɤɪɵɬɚ ɩɨɥɧɨɫɬɶɸ; 
ɜɫɟ ɢɞɟɢ ɹɫɧɨ ɢɡɥɨɠɟɧɵ ɢ 
ɫɬɪɭɤɬɭɪɢɪɨɜɚɧɵ, ɚɪɝɭɦɟɧɬɵ 
ɩɪɟɞɫɬɚɜɥɟɧɵ ɜ ɥɨɝɢɱɟɫɤɨɣ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨɫɬɢ 

Ɉɬɫɭɬɫɬɜɭɸɬ/ɩɪɚɤɬɢɱɟɫɤɢ ɨɬɫɭɬɫɬɜɭɸɬ 
ɹɡɵɤɨɜɵɟ ɨɲɢɛɤɢ; ɞɟɦɨɧɫɬɪɢɪɭɟɬ  
ɫɜɨɛɨɞɧɨɟ ɜɥɚɞɟɧɢɟ ɦɚɬɟɪɢɚɥɨɦ; ɱɟɬɤɨ 
ɫɥɟɞɭɟɬ ɪɟɝɥɚɦɟɧɬɭ ɜɵɫɬɭɩɥɟɧɢɹ  

85-76 

«ɯɨɪɨɲɨ» 

«ɡɚɱɬɟɧɨ» 

Ɂɚɹɜɥɟɧɧɚɹ ɬɟɦɚ ɪɚɫɤɪɵɬɚ ɩɪɚɤɬɢɱɟɫɤɢ 
ɩɨɥɧɨɫɬɶɸ; ɨɫɧɨɜɧɵɟ ɢɞɟɢ ɢɡɥɨɠɟɧɵ ɢ 
ɫɬɪɭɤɬɭɪɢɪɨɜɚɧɵ, ɚɪɝɭɦɟɧɬɵ 
ɩɪɟɞɫɬɚɜɥɟɧɵ ɜ ɥɨɝɢɱɟɫɤɨɣ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨɫɬɢ 

Ⱦɨɩɭɳɟɧɨ ɧɟɡɧɚɱɢɬɟɥɶɧɨɟ ɤɨɥɢɱɟɫɬɜɨ 
ɹɡɵɤɨɜɵɯ ɨɲɢɛɨɤ, ɤɨɬɨɪɵɟ ɧɟ 
ɩɪɟɩɹɬɫɬɜɭɸɬ ɩɨɧɢɦɚɧɢɸ ɫɨɨɛɳɟɧɢɹ; 
ɞɟɦɨɧɫɬɪɢɪɭɟɬ ɩɪɚɤɬɢɱɟɫɤɢ ɫɜɨɛɨɞɧɨɟ 
ɜɥɚɞɟɧɢɟ ɦɚɬɟɪɢɚɥɨɦ 

75-61 

«ɭɞɨɜɥɟɬɜɨɪ
ɢɬɟɥɶɧɨ» 

«ɡɚɱɬɟɧɨ» 

Ɂɚɹɜɥɟɧɧɚɹ ɬɟɦɚ ɪɚɫɤɪɵɬɚ ɱɚɫɬɢɱɧɨ; 
ɞɨɩɭɫɤɚɟɬ ɧɚɪɭɲɟɧɢɟ ɥɨɝɢɱɟɫɤɨɣ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨɫɬɢ ɚɪɝɭɦɟɧɬɨɜ  

Ⱦɨɩɭɫɤɚɟɬ ɹɡɵɤɨɜɵɟ ɨɲɢɛɤɢ, ɤɨɬɨɪɵɟ 
ɧɟ ɩɪɟɩɹɬɫɬɜɭɸɬ ɨɛɳɟɦɭ ɩɨɧɢɦɚɧɢɸ 
ɫɨɨɛɳɟɧɢɹ; ɫɨɨɛɳɟɧɢɟ ɩɪɟɞɫɬɚɜɥɟɧɨ ɫ 
ɨɩɨɪɨɣ ɧɚ ɬɟɤɫɬ  

Ɇɟɧɟɟ 60 

«ɧɟɭɞɨɜɥɟɬɜ
ɨɪɢɬɟɥɶɧɨ» / 
«ɧɟɡɚɱɟɬ» 

Ɂɚɹɜɥɟɧɧɚɹ ɬɟɦɚ ɧɟ ɪɚɫɤɪɵɬɚ, 
ɢɧɮɨɪɦɚɰɢɹ ɧɟ ɩɨɥɧɚɹ  

Ⱦɨɩɭɳɟɧɨ ɛɨɥɶɲɨɟ ɤɨɥɢɱɟɫɬɜɨ 
ɹɡɵɤɨɜɵɯ ɨɲɢɛɨɤ 

 

Ɉɛɳɢɟ ɬɟɦɵ ɭɫɬɧɵɯ ɫɨɨɛɳɟɧɢɣ, ɞɨɤɥɚɞɨɜ ɢɥɢ ɩɪɟɡɟɧɬɚɰɢɣ, ɜ ɬɨɦ ɱɢɫɥɟ 
ɩɪɢ ɭɱɚɫɬɢɢ ɜ ɞɢɫɤɭɫɫɢɢ, ɤɪɭɝɥɨɦ ɫɬɨɥɟ, ɞɟɛɚɬɚɯ (ɜ ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ 
ɢɡɭɱɚɟɦɵɦ ɦɚɬɟɪɢɚɥɨɦ):  
Distance or face-to-face learning - аСКЭ’s ЭСО НТППОrОЧМО; Mв ЦКУШr; EЧРТЧООr’s 
Traits and Education; Conventional vs alternative medicine; How should 
healthcare be funded – privately or by the state?; The art of photography; Are art 
and design important for К МШЮЧЭrв’s ОМШЧШЦв?; DШ вШЮ ЭСТЧФ sЭrООЭ КrЭ КЧН РrКППТЭТ 
should be illegal? Why / why not?; Effects of a young population on a society; 
Perfect retirement age; Ageing in different countries; Challenges of having more 
old people in modern society; Whose responsibility is it to look after elderly 
people? The family or the state?; What do you think can be done to ensure that 



elderly people in society are protected and cared for?; Advantages and 
disadvantages of Globalization impacts; Should governments stop the growth of 
multinational restaurant chains to allow local, traditional restaurants compete for 
customers?; Globalization and environment; Contemporary engineering 
researches; Occupational safety; Housing problems - location or size; Would you 
live in an eco-home if you had to pay more for its environmentally friendly 
features? Why / Why not?; How can architects design buildings to use less energy 
in their construction or use?; Traditional and modern buildings in our country: the 
differences and similarities; Importance when designing building: beauty or 
function; Innovations in Engineering; Variability and intermittency of 
developments; Small-scale production; Nanotechnologies and nanomaterials; 
Engineering and environment; Alternative energy sources. 
 

 

 

Ʉɪɢɬɟɪɢɢ ɨɰɟɧɤɢ ɩɪɟɡɟɧɬɚɰɢɢ (ɉɊ-13) 
 

Ɉ
ɰɟ

ɧɤ
ɚ 

50-60 ɛɚɥɥɨɜ 
ɧɟɭɞɨɜɥɟɬɜɨɪɢɬ
ɟɥɶɧɨ 

61-75 ɛɚɥɥɨɜ 

ɭɞɨɜɥɟɬɜɨɪɢɬɟɥɶ
ɧɨ 

76-85 ɛɚɥɥɨɜ 

ɯɨɪɨɲɨ 

86-100 ɛɚɥɥɨɜ 

ɨɬɥɢɱɧɨ 

Ʉɪɢɬɟɪɢɢ ɋɨɞɟɪɠɚɧɢɟ ɤɪɢɬɟɪɢɟɜ 

Ɋɚ
ɫɤ

ɪɵ
ɬɢ

ɟ 
 

ɩɪ
ɨɛ

ɥɟ
ɦ

ɵ
 

ɉɪɨɛɥɟɦɚ ɧɟ 
ɪɚɫɤɪɵɬɚ. 
Ɉɬɫɭɬɫɬɜɭɸɬ 
ɜɵɜɨɞɵ 

ɉɪɨɛɥɟɦɚ 
ɪɚɫɤɪɵɬɚ ɧɟ 
ɩɨɥɧɨɫɬɶɸ. 
ȼɵɜɨɞɵ ɧɟ 
ɫɞɟɥɚɧɵ ɢ/ɢɥɢ 
ɜɵɜɨɞɵ ɧɟ 
ɨɛɨɫɧɨɜɚɧɵ 

ɉɪɨɛɥɟɦɚ ɪɚɫɤɪɵɬɚ. 
ɉɪɨɜɟɞɟɧ ɚɧɚɥɢɡ 
ɩɪɨɛɥɟɦɵ ɛɟɡ 
ɩɪɢɜɥɟɱɟɧɢɹ 
ɞɨɩɨɥɧɢɬɟɥɶɧɨɣ 
ɥɢɬɟɪɚɬɭɪɵ. ɇɟ ɜɫɟ 
ɜɵɜɨɞɵ ɫɞɟɥɚɧɵ ɢ/ɢɥɢ 
ɨɛɨɫɧɨɜɚɧɵ 

ɉɪɨɛɥɟɦɚ ɪɚɫɤɪɵɬɚ 
ɩɨɥɧɨɫɬɶɸ. ɉɪɨɜɟɞɟɧ 
ɚɧɚɥɢɡ ɩɪɨɛɥɟɦɵ ɫ 
ɩɪɢɜɥɟɱɟɧɢɟɦ 
ɞɨɩɨɥɧɢɬɟɥɶɧɨɣ 
ɥɢɬɟɪɚɬɭɪɵ. ȼɵɜɨɞɵ 
ɨɛɨɫɧɨɜɚɧɵ 

ɉ
ɪɟ

ɞɫ
ɬɚ

ɜɥ
ɟɧ

ɢɟ
 

ɉɪɟɞɫɬɚɜɥɹɟɦɚɹ 
ɢɧɮɨɪɦɚɰɢɹ 
ɥɨɝɢɱɟɫɤɢ ɧɟ 
ɫɜɹɡɚɧɚ. ɇɟ 
ɢɫɩɨɥɶɡɨɜɚɧɵ 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧ
ɵɟ ɬɟɪɦɢɧɵ 

ɉɪɟɞɫɬɚɜɥɹɟɦɚɹ 
ɢɧɮɨɪɦɚɰɢɹ ɧɟ 
ɫɢɫɬɟɦɚɬɢɡɢɪɨɜɚɧ
ɚ ɢ/ɢɥɢ ɧɟ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɚ. 
ɢɫɩɨɥɶɡɨɜɚɧɨ 1-2 

ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵ
ɯ ɬɟɪɦɢɧɚ 

ɉɪɟɞɫɬɚɜɥɹɟɦɚɹ 
ɢɧɮɨɪɦɚɰɢɹ ɧɟ 
ɫɢɫɬɟɦɚɬɢɡɢɪɨɜɚɧɚ ɢ 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɚ. 
ɂɫɩɨɥɶɡɨɜɚɧɨ ɛɨɥɟɟ 2 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵɯ 
ɬɟɪɦɢɧɨɜ 

ɉɪɟɞɫɬɚɜɥɹɟɦɚɹ 
ɢɧɮɨɪɦɚɰɢɹ  
ɫɢɫɬɟɦɚɬɢɡɢɪɨɜɚɧɚ, 
ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɚ ɢ 
ɥɨɝɢɱɟɫɤɢ ɫɜɹɡɚɧɚ. 
ɂɫɩɨɥɶɡɨɜɚɧɨ ɛɨɥɟɟ 5 
ɩɪɨɮɟɫɫɢɨɧɚɥɶɧɵɯ 
ɬɟɪɦɢɧɨɜ 



Ɉ
ɮ

ɨɪ
ɦ

ɥɟ
ɧɢ

ɟ 

ɇɟ 
ɢɫɩɨɥɶɡɨɜɚɧɵ 
ɬɟɯɧɨɥɨɝɢɢ 
Power Point. 

Ȼɨɥɶɲɟ 4 
ɨɲɢɛɨɤ ɜ 
ɩɪɟɞɫɬɚɜɥɹɟɦɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 

ɂɫɩɨɥɶɡɨɜɚɧɵ 
ɬɟɯɧɨɥɨɝɢɢ Power 

Point ɱɚɫɬɢɱɧɨ. 3-

4 ɨɲɢɛɤɢ ɜ 
ɩɪɟɞɫɬɚɜɥɹɟɦɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 

ɂɫɩɨɥɶɡɨɜɚɧɵ 
ɬɟɯɧɨɥɨɝɢɢ Power Point. 

ɇɟ ɛɨɥɟɟ 2 ɨɲɢɛɨɤ ɜ 
ɩɪɟɞɫɬɚɜɥɹɟɦɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 

ɒɢɪɨɤɨ ɢɫɩɨɥɶɡɨɜɚɧɵ 
ɬɟɯɧɨɥɨɝɢɢ (Power 

Point ɢ ɞɪ.). 
Ɉɬɫɭɬɫɬɜɭɸɬ ɨɲɢɛɤɢ ɜ 
ɩɪɟɞɫɬɚɜɥɹɟɦɨɣ 
ɢɧɮɨɪɦɚɰɢɢ 

Ɉ
ɬɜ

ɟɬ
ɵ

 ɧ
ɚ 

ɜɨ
ɩɪ

ɨɫ
ɵ

 ɇɟɬ ɨɬɜɟɬɨɜ ɧɚ 
ɜɨɩɪɨɫɵ 

Ɍɨɥɶɤɨ ɨɬɜɟɬɵ ɧɚ 
ɷɥɟɦɟɧɬɚɪɧɵɟ 
ɜɨɩɪɨɫɵ 

Ɉɬɜɟɬɵ ɧɚ ɜɨɩɪɨɫɵ 
ɩɨɥɧɵɟ ɢ/ɢɥɢ ɱɚɫɬɢɱɧɨ 
ɩɨɥɧɵɟ 

Ɉɬɜɟɬɵ ɧɚ ɜɨɩɪɨɫɵ 
ɩɨɥɧɵɟ, ɫ 
ɩɪɢɜɢɞɟɧɢɟɦ 
ɩɪɢɦɟɪɨɜ ɢ/ɢɥɢ 
ɩɨɹɫɧɟɧɢɣ 

 
ɉɪɨɦɟɠɭɬɨɱɧɚɹ ɚɬɬɟɫɬɚɰɢɹ ɫɬɭɞɟɧɬɨɜ ɩɨ ɞɢɫɰɢɩɥɢɧɟ 

«ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» ɩɪɨɜɨɞɢɬɫɹ ɜ ɫɨɨɬɜɟɬɫɬɜɢɢ ɫ 
ɥɨɤɚɥɶɧɵɦɢ ɧɨɪɦɚɬɢɜɧɵɦɢ ɚɤɬɚɦɢ ȾȼɎɍ ɢ ɹɜɥɹɟɬɫɹ ɨɛɹɡɚɬɟɥɶɧɨɣ. Ⱦɥɹ 
ɫɬɭɞɟɧɬɨɜ, ɧɟ ɚɬɬɟɫɬɨɜɚɧɧɵɯ ɩɨ ɪɟɡɭɥɶɬɚɬɚɦ ɪɟɣɬɢɧɝɨɜɨɣ ɫɢɫɬɟɦɵ, 
ɩɪɟɞɥɚɝɚɟɬɫɹ ɩɟɪɟɱɟɧɶ ɜɨɩɪɨɫɨɜ ɢ ɡɚɞɚɧɢɣ ɤ ɡɚɱɟɬɭ ɢ ɷɤɡɚɦɟɧɭ. 
 
 
 

Ʉɪɢɬɟɪɢɢ ɜɵɫɬɚɜɥɟɧɢɹ ɨɰɟɧɤɢ ɫɬɭɞɟɧɬɭ ɧɚ ɡɚɱɟɬɟ/ ɷɤɡɚɦɟɧɭ ɩɨ 
ɞɢɫɰɢɩɥɢɧɟ «ɉɪɨɮɟɫɫɢɨɧɚɥɶɧɵɣ ɢɧɨɫɬɪɚɧɧɵɣ ɹɡɵɤ» 

 
Ȼɚɥɥɵ  
(ɪɟɣɬɢɧɝɨɜɨ
ɣ ɨɰɟɧɤɢ) 

Ɉɰɟɧɤɚ 
ɷɤɡɚɦɟɧɚ/ 
ɡɚɱɟɬɚ 
 (ɫɬɚɧɞɚɪɬɧɚɹ) 

Ɍɪɟɛɨɜɚɧɢɹ ɤ ɫɮɨɪɦɢɪɨɜɚɧɧɵɦ ɤɨɦɩɟɬɟɧɰɢɹɦ 

 

86-100 
 «ɨɬɥɢɱɧɨ»/  
«ɡаɱɬɟɧɨ»  

Ɉɰɟɧɤɚ «ɨɬɥɢɱɧɨ»/ «ɡɚɱɬɟɧɨ» ɜɵɫɬɚɜɥɹɟɬɫɹ ɫɬɭɞɟɧɬɭ, ɟɫɥɢ 
ɨɧ ɝɥɭɛɨɤɨ ɢ ɩɪɨɱɧɨ ɭɫɜɨɢɥ ɩɪɨɝɪɚɦɦɧɵɣ ɦɚɬɟɪɢɚɥ, 
ɢɫɱɟɪɩɵɜɚɸɳɟ, ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨ, ɱɟɬɤɨ ɢ ɥɨɝɢɱɟɫɤɢ ɫɬɪɨɣɧɨ 
ɟɝɨ ɢɡɥɚɝɚɟɬ, ɭɦɟɟɬ ɬɟɫɧɨ ɭɜɹɡɵɜɚɬɶ ɬɟɨɪɢɸ ɫ ɩɪɚɤɬɢɤɨɣ, 
ɫɜɨɛɨɞɧɨ ɫɩɪɚɜɥɹɟɬɫɹ ɫ ɡɚɞɚɱɚɦɢ, ɜɨɩɪɨɫɚɦɢ ɢ ɞɪɭɝɢɦɢ 
ɜɢɞɚɦɢ ɩɪɢɦɟɧɟɧɢɹ ɡɧɚɧɢɣ, ɩɪɢɱɟɦ ɧɟ ɡɚɬɪɭɞɧɹɟɬɫɹ ɫ 
ɨɬɜɟɬɨɦ ɩɪɢ ɜɢɞɨɢɡɦɟɧɟɧɢɢ ɡɚɞɚɧɢɣ, ɢɫɩɨɥɶɡɭɟɬ ɜ ɨɬɜɟɬɟ 
ɦɚɬɟɪɢɚɥ ɦɨɧɨɝɪɚɮɢɱɟɫɤɨɣ ɥɢɬɟɪɚɬɭɪɵ, ɩɪɚɜɢɥɶɧɨ 
ɨɛɨɫɧɨɜɵɜɚɟɬ ɩɪɢɧɹɬɨɟ ɪɟɲɟɧɢɟ, ɜɥɚɞɟɟɬ ɪɚɡɧɨɫɬɨɪɨɧɧɢɦɢ 
ɧɚɜɵɤɚɦɢ ɢ ɩɪɢɟɦɚɦɢ ɜɵɩɨɥɧɟɧɢɹ ɩɪɚɤɬɢɱɟɫɤɢɯ ɡɚɞɚɱ. 

76-85 
 «хɨɪɨɲɨ»/ 
«ɡаɱɬɟɧɨ» 

Ɉɰɟɧɤɚ «ɯɨɪɨɲɨ»/ «ɡɚɱɬɟɧɨ» ɜɵɫɬɚɜɥɹɟɬɫɹ ɫɬɭɞɟɧɬɭ, ɟɫɥɢ ɨɧ 
ɬɜɟɪɞɨ ɡɧɚɟɬ ɦɚɬɟɪɢɚɥ, ɝɪɚɦɨɬɧɨ ɢ ɩɨ ɫɭɳɟɫɬɜɭ ɢɡɥɚɝɚɟɬ ɟɝɨ, 
ɧɟ ɞɨɩɭɫɤɚɹ ɫɭɳɟɫɬɜɟɧɧɵɯ ɧɟɬɨɱɧɨɫɬɟɣ ɜ ɨɬɜɟɬɟ ɧɚ ɜɨɩɪɨɫ, 
ɩɪɚɜɢɥɶɧɨ ɩɪɢɦɟɧɹɟɬ ɬɟɨɪɟɬɢɱɟɫɤɢɟ ɩɨɥɨɠɟɧɢɹ ɩɪɢ 
ɪɟɲɟɧɢɢ ɩɪɚɤɬɢɱɟɫɤɢɯ ɜɨɩɪɨɫɨɜ ɢ ɡɚɞɚɱ, ɜɥɚɞɟɟɬ 
ɧɟɨɛɯɨɞɢɦɵɦɢ ɧɚɜɵɤɚɦɢ ɢ ɩɪɢɟɦɚɦɢ ɢɯ ɜɵɩɨɥɧɟɧɢɹ. 



61-75 

 

«ɭɞɨвɥɟɬвɨɪɢɬ
ɟɥɶɧɨ»/ 
«ɡаɱɬɟɧɨ» 

Ɉɰɟɧɤɚ «ɭɞɨɜɥɟɬɜɨɪɢɬɟɥɶɧɨ»/ «ɡɚɱɬɟɧɨ» ɜɵɫɬɚɜɥɹɟɬɫɹ 
ɫɬɭɞɟɧɬɭ, ɟɫɥɢ ɨɧ ɢɦɟɟɬ ɡɧɚɧɢɹ ɬɨɥɶɤɨ ɨɫɧɨɜɧɨɝɨ ɦɚɬɟɪɢɚɥɚ, 
ɧɨ ɧɟ ɭɫɜɨɢɥ ɟɝɨ ɞɟɬɚɥɟɣ, ɞɨɩɭɫɤɚɟɬ ɧɟɬɨɱɧɨɫɬɢ, 
ɧɟɞɨɫɬɚɬɨɱɧɨ ɩɪɚɜɢɥɶɧɵɟ ɮɨɪɦɭɥɢɪɨɜɤɢ, ɧɚɪɭɲɟɧɢɹ 
ɥɨɝɢɱɟɫɤɨɣ ɩɨɫɥɟɞɨɜɚɬɟɥɶɧɨɫɬɢ ɜ ɢɡɥɨɠɟɧɢɢ ɩɪɨɝɪɚɦɦɧɨɝɨ 
ɦɚɬɟɪɢɚɥɚ, ɢɫɩɵɬɵɜɚɟɬ ɡɚɬɪɭɞɧɟɧɢɹ ɩɪɢ ɜɵɩɨɥɧɟɧɢɢ 
ɩɪɚɤɬɢɱɟɫɤɢɯ ɪɚɛɨɬ. 

ɦɟɧɟɟ 61 

 

«ɧɟɭɞɨвɥɟɬвɨɪ
ɢɬɟɥɶɧɨ»/ «ɧɟ 
ɡаɱɬɟɧɨ» 

Ɉɰɟɧɤɚ «ɧɟɭɞɨɜɥɟɬɜɨɪɢɬɟɥɶɧɨ»/ «ɧɟ ɡɚɱɬɟɧɨ» ɜɵɫɬɚɜɥɹɟɬɫɹ 
ɫɬɭɞɟɧɬɭ, ɤɨɬɨɪɵɣ ɧɟ ɡɧɚɟɬ ɡɧɚɱɢɬɟɥɶɧɨɣ ɱɚɫɬɢ 
ɩɪɨɝɪɚɦɦɧɨɝɨ ɦɚɬɟɪɢɚɥɚ, ɞɨɩɭɫɤɚɟɬ ɫɭɳɟɫɬɜɟɧɧɵɟ ɨɲɢɛɤɢ, 
ɧɟɭɜɟɪɟɧɧɨ, ɫ ɛɨɥɶɲɢɦɢ ɡɚɬɪɭɞɧɟɧɢɹɦɢ ɜɵɩɨɥɧɹɟɬ 
ɩɪɚɤɬɢɱɟɫɤɢɟ ɪɚɛɨɬɵ. Ʉɚɤ ɩɪɚɜɢɥɨ, ɨɰɟɧɤɚ 
«ɧɟɭɞɨɜɥɟɬɜɨɪɢɬɟɥɶɧɨ» ɫɬɚɜɢɬɫɹ ɫɬɭɞɟɧɬɚɦ, ɤɨɬɨɪɵɟ ɧɟ 
ɦɨɝɭɬ ɩɪɨɞɨɥɠɢɬɶ ɨɛɭɱɟɧɢɟ ɛɟɡ ɞɨɩɨɥɧɢɬɟɥɶɧɵɯ ɡɚɧɹɬɢɣ ɩɨ 
ɫɨɨɬɜɟɬɫɬɜɭɸɳɟɣ ɞɢɫɰɢɩɥɢɧɟ. 

 
Ɂɚɞɚɧɢɹ ɤ ɡɚɱɟɬɭ: 
Ɂɚɞɚɧɢɟ ɤ ɡɚɱɟɬɭ 1 

READING 

1 Read the article about the value of education. Match the descriptions (1–5) 

to the correct paragraph (A–E).  

1 an example of how university education is not necessary for success _____ 
2 an overview of the main topics being discussed _____ 
3 the important personal qualities needed in a job _____ 
4 a general summary and conclusion _____ 
5 the benefits of education _____ 

 
A Do schools really prepare young people for real life? There are many 

examples of successful people who never went to university. Similarly, are 
employers these days really looking for people with qualifications in subjects like 
History or Literature? Research seems to indicate that what employers really want 
are people with ОбpОrТОЧМО аСТМС ТsЧ’Э ЭrКНТЭТШЧКllв pКrЭ ШП К sМСШШl Шr ЮЧТЯОrsТЭв 
curriculum. 

B To illustrate one side of the argument, we can look at the example of an 
entrepreneur from London who is the director of a large electronics company. He 
left school at the age of 16, after having failed his exams and his first job was 
helping out with his pКrОЧЭs’ sЦКll МlОКЧТЧР ЛЮsТЧОss. AПЭОr К ПОа аООФs, СО СКН 
sКЯОН £100. АТЭС ЭСТs, СО sЭКrЭОН ЭШ ЛЮв sЦКll ОlОМЭrТМКl РШШНs, аСТМС СО ЭСОЧ sШlН 
КЭ К prШПТЭ КЭ ЭСО lШМКl ЦКrФОЭ. HО ЧШа СКs КЧ ОsЭТЦКЭОН ПШrЭЮЧО ШП £70 ЦТllТШЧ, 
which he made entirely by himself. 

C Examples like this show us that there are many valuable skills which we 
can learn outside the classroom. The ability to work hard and be self-disciplined is 
arguably more important than learning facts or memorizing poems. Regardless of 
whether or not you have a degree, companies increasingly want employees with 
РШШН МШЦЦЮЧТМКЭТШЧ sФТlls, Шr ‘sШПЭ sФТlls’, Кs аОll Кs qЮКlТПТМКЭТШЧs, OП МШЮrsО, 
these are qualities which can be learnt through experience in the real world. 

D However, schools do have an important role in preparing students for the 
world. As children spend time with other people in school, they learn how to 



interact in society and to respect rules and authority. As we progress into higher 
education, we learn how to manage our time and how to deal with deadlines. We 
learn how to become independent and critical thinkers, how to express our opinion, 
and how to deal with complicated ideas. In summary, education is not only about 
facts and figures – ТЭ’s КlsШ КЛШЮЭ НОЯОlШpТЧР ТЦpШrЭКЧЭ pОrsШЧКl qualities. 

E In short, we should remember that few of us will become millionaires by 
selling electronics without an education. Therefore, it is probable that schools do 
prОpКrО Юs ПШr ЭСО ‘rОКl аШrlН’, ЛОМКЮsО ЭСОв РТЯО ЭСО ЦКУШrТЭв ШП Юs ЭСО ЧОМОssКrв 
tools to fit into society, and allow more people to achieve success without relying 
on luck. 
 
2 Read the article again. Are the statements below true (T), false (F) or the 

article does not say (DNS)? 

1 TСО LШЧНШЧ ОЧЭrОprОЧОЮr МШЮlНЧ’Э РШ ЭШ ЮЧТЯОrsТЭв. ИИИИИ 
2 We can learn many important life skills outside of school or university. 

_____ 
3 Employers do not want to hire people with qualifications any more. ______ 
4 ‘SШПЭ sФТlls’ КrО pОrsШЧКl qЮКlТЭТОs аСТМС ОЧКЛlО sШЦОШЧО ЭШ аШrФ аОll аТЭС 

other people. ______ 
5 Most millionaires do not go to university. ______ 

 
VOCABULARY  

3 Complete the texts below with the words and phrases in the list: academic; 

lecture; vocational; tuition; face-to-face modules; distance learning; scholarships; 

tutorials; virtual. 
Many people, especially those who already work or have children, are 

choosing to take 1_____ courses. These can be taken anywhere, as long as you 
have access to a computer with an internet connection. Students taking these 
courses do not have 2 ______ seminars, whicС ЦОКЧs ЭСКЭ ЭСОв НШЧ’Э pОrsШЧКllв 
meet their lecturers or fellow students. Instead, they have access to a 3______ 
university which exists almost entirely online. Because 4_______  fees are rising, 
it is important to make the most of your time at universitв. DШЧ’Э ЛО КПrКТН ЭШ 
arrange time to have 5 where you can discuss any problems or questions you have 
with your tutors. Make sure you go to every 6______ – even ones which take place 
early in the morning – and take notes. Finally, make sure you choose the right 
7_______ . There is nothing worse than being on a course that you are not really 
interested in. This college has a range of courses, from traditional 8 ______ 
subjects such as History to 9 ______ courses where you can get practical 
experience of hairdressing or professional cookery. If you need help with funding, 
there are many 10______ you can apply for. 
 
LANGUAGE DEVELOPMENT  

4 Choose the correct verb in each sentence. 
1 In this first module, you will have two assignments/dissertations of 1,000 

words which you have to hand in before 31 May. 



2 When you join our university, you will have access to a wide range of 
academic plagiarism/journals online. 

3 There will be an oral aspect/examination at the end of the course, and you 
will need to get a score of over 65% to pass. 

4 The student was found guilty of plagiarism/examination when it was found 
that most of his work was copied from others. 

5 There are two journals/semesters: one in the spring and one in the autumn. 
You will complete three modules in each one. 

6 It is important to keep up your motivation/assignment when you are doing a 
distance-learning course – it is easy to get tired or lazy. 

7 Meeting other students is an enjoyable component/aspect of being at 
university. 

8 In the last part of your MКsЭОr’s МШЮrsО, вШЮ аТll СКЯО ЭШ аrТЭО К 
dissertation/journal of between 15,000–20,000 words. 

9 The taught examination/components of this course include weekly lectures 
and seminars. 

10 On this course, there are three examination/core modules which you must 
take, and three optional modules which you can choose from. 
 
GRAMMAR FOR WRITING 
5 Complete the sentences below with the comparison and contrast language in 

the list: similarly; the same way; conversely; unlike; similarity; whereas; like; 

contrast; difference; different in that. 

1 My brother did a PhD in microbiology. In _____, I left school and started 
work when I was 18. 

2 The main _____ between face-to-face courses and online courses is the 
amount of 
interaction you have with other people. 

3 I have to spend a lot of time in lectures. _____, I have a lot of seminars 
every week. 

4 _____ lectures, you are allowed to ask questions and discuss things in a 
seminar. 

5 I’Ц sЭЮНвТЧР MКЭСОЦКЭТМs, ИИИИИ  Цв ПrТОЧН Тs sЭЮНвТЧР LТЭОrКЭЮrО. 
6 _____ my last examination, my assignment made me feel very stressed, 

especially near the deadline. I hated both of them. 
7 Journals and books are _____ journals are collections of articles by several 

people and are published several times a year. 
8 The main _____ between dissertations and assignments is that they are both 

examples of your own written work. 
9 I hated examinations when I was a student. In _____, I try to avoid any kind 

ШП ЭОsЭ ЧШа ЭСКЭ I’Ц ШlНОr. 
10 University was free when I was a student. _____, students nowadays have 

to pay high tuition fees. 
 

ACADEMIC WRITING SKILLS 



6 Put the sentences (a–e) in order to make an essay introduction.  

a However this essay will describe the benefits of distance learning as well as 
why it may actually be more effective than face-to-face learning. _____ 

b Finally, I will outline my view that face-to-face learning develops many 
important skills, such as independence and self-motivation. _____ 

c It is often believed that online distance learning is not as effective as face-
to-face study. _____ 

d For example, distance learning mostly involves working at home alone, 
whereas face-to-face learning provides a great deal of interaction with teachers and 
other students. _____ 

e Firstly, I will report on some research which has been done on students who 
take online courses, before going on to discuss the advantages and disadvantages 
of this mode of study. _____ 

 
7 Look at the essay task below. Then match the introduction sentences (1–5) 

to problems (a–e).  

Discuss the differences between distance learning and face-to-face learning. In 
what ways may one of these modes of learning be better than the other? 

1 In this essay, I will discuss the differences between distance learning and 
face-to-face learning, and I will say how one of these modes of learning may be 
better. _____ 

2 In this essay, I will discuss distance learning, which has been increasing 
recently, and I will explain why it is so successful. _____ 

3 In this essay, I will describe a distance-learning course I took last year, and 
why I found it to be a very difficult experience. _____ 

4 In this essay, I will describe why so many people are taking university 
courses, and which subjects are the most popular. _____ 

5 Distance learning can be difficult for many people, compared to face-to-face 
learning. _____ 
a This is too personal. 
Л TСТs ЧШЭ ТЧ ЭСО аrТЭОr’s ШаЧ аШrНs. 
c This is not focused on the essay question. 
d This does not address all the parts of the essay question. 
e This does not give the aim of the essay. 

 

Ɂɚɞɚɧɢɟ ɤ ɡɚɱɟɬɭ 2 

READING  

1 Read the news article about the use of antibiotics. Match the descriptions 

(1–5) to the correct paragraph (A–E).  

1 explaining the cause of the problem _____ 
2 defining antibiotics _____ 
3 a possible future situation _____ 
4 explaining the consequences of the problem _____ 
5 introducing the problem _____ 

 



A According to a recent government report, one of the biggest dangers 
currently facing the world is neither war nor food shortages. It is in fact the growth 
in drug-resistant bacteria caused by the overuse of antibiotics, which according to 
many researchers, could become a catastrophic global threat in the near future. 

B Antibiotics are a medicine that destroys harmful bacteria in the body. 
Alexander Fleming was the first scientist to conduct research into antibiotics when 
he discovered penicillin in 1929. Since 1945, antibiotics have been widely used in 
the fight against potentially fatal infections, and this medicine has helped countless 
people around the world. 

C However, according to many researchers, antibiotics are now being 
overused. Doctors often prescribe them to patients, whether or not they really need 
them. In addition, farmers routinely mix antibiotics with animal food in the belief 
that this keeps their livestock healthy, and maximizes profits. These antibiotics 
eventually find their way into the human food supply as well. 

D The problem is that every time a patient takes antibiotics or humans eat 
meat from animals that have been givenɬ food containing them, some bacteria are 
destroyed, but some also remain. These surviving bacteria can quickly grow and 
multiply. As many types of bacteria are now overexposed to antibiotics, they 
become stronger. In other words, the more we use antibiotics, the more bacteria 
evolve and become resistant to modern drugs. 

E New forms of tuberculosis and E-coli infections have recently been 
observed by doctors in the UK. They warn that highly dangerous forms of these 
bacterial diseases are becoming increasingly common and that soon they may be 
much more difficult, or even impossible to treat. According to some scientists, 
drug-resistant bacteria could become an even bigger problem for mankind than 
climate change, unless we stop overusing antibiotics. 
 
2 Read the article again. Choose the best answer (a–c) to complete each 

sentence. 

1 Drug-resistant bacteria refers to bacteria which 
a are not affected by medicine. 
b are destroying medicine. 
c cannot fight medicine. 

2 Antibiotics have the ability to 
a fight medicine. 
b harm the body. 
c save lives. 

3 Antibiotics are 
a not only consumed by patients. 
b used by doctors only when necessary. 
c helping doctors become rich. 

4 The overuse of antibiotics is helping 
a to destroy bacteria. 
b bacteria to change and become stronger. 
c patients to become healthier. 



5 It is possible that 
a bacteria could cause climate change. 
b doctors will now stop looking for new diseases. 
c diseases will be impossible to treat in the future. 
 
VOCABULARY  

3 Choose the best word to complete each sentence. 

1 Alternative/Conventional medicine, such as acupuncture, can be used 
instead of clinical drugs. 

2 Not all doctors believe the government should fund/debate homeopathic 
treatments. 

3 The patient/doctor was prescribed antibiotics after the infection got worse. 
4 I am not a critic/proponent of homeopathy – I think it is dangerous if 

someone is seriously ill. 
5 It might be true that we are overusing antibiotics – but we need to see 

belief/evidence of this. 
6 After Abigail was given consultation/treatment for her illness, she got better 

quickly. 
7 If you have a headache, the best medication/remedy is to lie down and close 

your eyes. 
8 Doctor Singh has been a practitioner/proof of alternative medicine for 20 

years. 
9 She has been going to therapy/illness every week since the accident. 
10 Natural/Synthetic medicines are usually made from herbs and other plants. 

 
LANGUAGE DEVELOPMENT  

4 Complete the sentences with words in the list: cosmetic; drug; sedentary; 

preventable; epidemic. 
1 An _____ is a disease which spreads to a huge number of people in a very 

short time. 
2 The likelihood of obesity is increased if you have a ______ lifestyle. It is 

important to make exercise part of your daily routine. 
3 A _____ illness is one which can be avoided by making changes to your 

lifestyle. 
4 Some people choose to undergo _____ surgery to improve the way they 

look. 
5 Addiction to sleeping pills is a type of _____ dependency. 

 
5 Choose the best word (a–c) to complete each sentence.  

1 Surgeons need to work with great _____ during an operation. 
2 If you want to work in the _____ profession, you will need to train for 

several years. 
3 The government has banned this drug – it is now _____. 
4 Nurses often have to work in _____ conditions – in overcrowded hospitals. 
5 People in this country do not have access to _____ health care. 



1 a patients b precision c profession 
2 a medicine b medication c medical 
3 a alternative b illegal c adverse 
4 a adverse b adequate c adversity 
5 a adequate b complex c physical 
 
GRAMMAR FOR WRITING  

6 Add the missing article (a, an or the) to each sentence.  
1 I went to the pharmacy to pick up antibiotics which my doctor had 

prescribed me. 
2 One of biggest problems with doctors is that they are often far too busy. 
3 I have appointment at the clinic next week – I hope it will be OK. 
4 I am having surgery on my foot tomorrow – after that, I will have short 

holiday from work. 
5 Most governments recognize that obesity is growing problem. 

 
7 Complete the sentences with language of concession from the list: despite; 

despite the; spite; nevertheless; even though. 

1 _____ fact that smoking is very unhealthy, many people find it difficult to 
give up. 

2 I started running three times a week. _____ , I am still finding it difficult to 
lose weight. 

3 Some doctors are still prescribing this drug, in _____ of the risks. 
4 ИИИИИ ЭСО РШЯОrЧЦОЧЭ’s аКrЧТЧР, people are still taking too many 

antibiotics. 
5 _____ I eat healthy food and exercise regularly, I still get colds a few times 

a year. 
 
ACADEMIC WRITING SKILLS 

8 Read the essay question. Then look at the sentences and mark the three 

which do not belong in an introduction to the essay with a cross.  

‘AlЭОrЧКЭТЯО ЦОНТМТЧО Тs ЛОМШЦТЧР ЦШrО аТНОlв ЮsОН. HШаОЯОr, ЦКЧв pОШplО 
КrРЮО ЭСКЭ ТЭ sСШЮlН ЧШЭ ЛО ЮsОН ЭШ ЭrОКЭ sОrТШЮs ТllЧОssОs.’ DШ вШЮ КРrОО? 

1 TСО pСrКsО ‘КlЭОrЧКЭТЯО’ Тs ЮsОН ЛОМКЮsО ТЭ НШОs ЧШЭ ЮsО МШЧventional drugs 
to treat people. 

2 In conclusion, this essay has argued that homeopathy should not be used in 
place of conventional medicine. 

3 It has been used for thousands of years, but has only recently grown in 
popularity in the West. 

4 I would agree that alternative medicines should not be used to treat very 
serious illnesses. 

5 In this section, I will discuss the advantages of alternative medicine. 
6 This essay will discuss the advantages and disadvantages of alternative 

medicine. 



7 For this essay, I conducted interviews with several practitioners of 
alternative medicine, as well as patients. My findings will be presented, along with 
my own personal opinion. 

8 I will first give a brief history of alternative medicine. I will then go on to 
discuss the possible advantages, before listing some of the many disadvantages. 

9 Alternative medicine has recently become more and more fashionable, with 
people experimenting with homeopathy and acupuncture as new forms of 
treatment. 

10 I will now go on to discuss the results of my research. 
 
9 Match the seven correct sentences in the essay introduction to the features 

(a–g) below.  

a a general introduction _____ 
b the main aim of the essay _____ 
c limited background information about the subject _____ 
d an initial response to the question _____ 
e the definition of the topic _____ 
f the methods and results of research _____ 
g the organization of the essay _____ 

 
Ɂɚɞɚɧɢɟ ɤ ɡɚɱɟɬɭ 3  

READING 

1 Read the essay. Match the headings (1–4) to the correct paragraph (A–D).  

1 Critics of graffiti _____ 
2 An old art form _____ 
3 Summarizing the arguments _____ 
4 In support of graffiti _____ 

 
A Graffiti is present in almost every city in the world. The word itself comes 

ПrШЦ ЭСО IЭКlТКЧ РrКППТКЭШ аСТМС ЦОКЧs ‘sМrКЭМСОН’. IЧНООН, some of the earliest 
forms of graffiti can be found in ancient Roman sites. The ruins of Pompeii, in 
southern Italy, contain a large amount of 2000-year-old graffiti which is of great 
historical significance. However, in the modern world, graffiti has become 
something negative, and governments spend a great deal of time and money trying 
to clean it off town and city streets. The question remains: Should graffiti be 
considered an art form? 

B There are some who argue that graffiti is artistic, as it requires as much skill 
and technique, as any other art form. It may not appeal to everybody, but no one 
can ever agree on what is beautiful. Graffiti is usually the work of someone trying 
to express their feelings and personality, and in addition, it usually tries to send a 
message to other people. This is why some graffiti artists become famous. Indeed, 
the well-known French graffiti artist, Blek le Rat, has said that he prefers to show 
his work on the streets, because there it can be seen by as many people as possible. 

C There is, of course, an opposing point of view. Perhaps the most important 
КrРЮЦОЧЭ КРКТЧsЭ РrКППТЭТ Тs ЭСКЭ ТЭ КppОКrs аТЭСШЮЭ КЧвШЧО’s pОrЦТssТШЧ. IЧ ШЭСОr 



words, even though nobody asks for graffiti to appear, it does. Art should be about 
creation, not destruction. However, graffiti may in fact destroy the appearance of a 
beautiful building, and make whole towns and cities look uglier. 

D In conclusion, there seems to be one main question regarding graffiti, and 
that concerns the artist. Does this person have the right to express his or her 
feelings in public? On the one hand, yes, artists should be free to express 
themselves. However, art should not destroy what is already beautiful. In this 
sense, modern graffiti is not art. It is illegal vandalism, and is no more creative 
than breaking windows or destroying public phone boxes. 
 
2 Read the essay again. In which paragraphs (A–D) are the ideas below 

discussed?  

1 Graffiti artists do not respect private property. _____ 
2 You need talent to create graffiti. _____ 
3 Graffiti can tell us a lot about life in the past. _____ 
4 Graffiti artists often want to communicate something. _____ 
5 Graffiti is a crime. _____ 
6 Graffiti can reduce the overall attractiveness of a city. _____ 

 
VOCABULARY  

3 Complete the text using words in the list: sculptures; calligraphy; banal; 

cynical; mechanical; fine; creative; acknowledge; aesthetic; photography. 
The 1 _____ arts are often thought of as paintings or 2 _____ which are 

admired for their beauty, and have no practical use. In other words, we buy this 
kind of art because of its 3 _____value, and not because it has any functional use. 
We 4 _____ the 5 _____ energy and skill which has gone into making it. 

HШаОЯОr, МКЧ ШЭСОr ЭСТЧРs ЛО МШЧsТНОrОН Кs ‘КrЭ’? АСКЭ КЛШЮЭ 6 ИИИИИ, ПШr 
example – the art of producing beautiful writing? Many ancient Japanese and 
Chinese texts originally had a functional purpose, but are now considered highly 
prized works of art. Or 7 _____ – can work which relies on a 8 _____device such 
Кs К МКЦОrК rОКllв ЛО МКllОН ‘КrЭ’? 

OП МШЮrsО, ТЭ Тs МШЦЦШЧ ЭШ НТsКРrОО КЛШЮЭ аСКЭ ‘КrЭ’ Тs. IП аО ЭСТЧФ ШП MКrМОl 
DЮМСКЦp’s BТМвМlО АСООl (аСТМС Тs sТЦplв К ЛТМвМlО аСООl plКМОН ШЧ К МСКТr) ТЭ Тs 
easy to be 9 _____ and say that the work is simply an ordinary, 10 _____ object. 
IЭ’s УЮsЭ К ЛТМвМlО аСООl, КЧН ЭСОrОПШrО ЧШЭ rОКllв КrЭ. BЮЭ ЭСОЧ КРКТЧ, ЭСО КrЭТsЭ СКs 
used an ordinary bicycle wheel to make us think about what art is. If this happens, 
he or she has done their job well. 
 
LANGUAGE DEVELOPMENT  

4 Paraphrase the quotes using the words in the list: argued; insisted; denied; 

suggested. 
1 “TСО MШЧК LТsК ЦКв СКЯО ЛООЧ sЭКrЭОН ТЧ 1503 ЛЮЭ ТЭ prШЛКЛlв аКsЧ’Э 

ПТЧТsСОН ЮЧЭТl 1517.” 
He _____ that the Mona Lisa may have taken 14 years to finish. 

2 “ВШЮ КЛsШlЮЭОlв ЦЮsЭ ЛЮв ЭСТs pКТЧЭТЧР – ТЭ’s ЛОКЮЭТПЮl!” 



She _____ that I buy the painting. 
3 “NШ, I НТНЧ’Э ЛrОКФ ЭСКЭ ЯКsО – I аКsЧ’Э ОЯОЧ ТЧ ЭСО rШШЦ!” 

He _____ breaking the vase. 
4 “AlЭСШЮРС sШЦО pОШplО ЭСТЧФ Эhat graffiti is ugly, my view is that it can be 

ЛОКЮЭТПЮl КЧН ОбМТЭТЧР ЭШ lШШФ КЭ.” 
She _____ that graffiti could be considered art. 
 
5 Write an adjective to describe the words and phrases in bold. Use the words 

in the list: lifelike; moving; avant-garde; monumental; abstract; expressive. 

1 I’Ц sШrrв, ЛЮЭ ЭСОsО pКТЧЭТЧРs КrО ЭШШ modern and original for my taste – I 
prefer something a bit more traditional. _____ 

2 MТМСОlКЧРОlШ’s DКЯТН Тs К very big work of art – the five-meter-high statue 
can be seen in Florence in Italy. _____ 

3 The paintings of Gustave Courbet are often very realistic – they show real 
people in ordinary situations doing normal activities. _____ 

4 I НШЧ’Э ЮЧНОrsЭКЧН аСв representing ideas and feelings, not real objects 
art such as Mark Rothko or Jackson Pollock paintings can be sold for such high 
prices. _____ 

5 The film was very emotional for me – I НШЧ’Э ЮsЮКllв Мrв ТЧ ЭСО МТЧОЦК, ЛЮЭ 
this one left me in tears several times. _____ 

6 Just look at the child in this painting – she has a really showing what she 

thinks and feels face. _____ 
 
GRAMMAR FOR WRITING (10 marks) 

6 Match the sentence halves (1–5) with the best ending (a–j). You will not need 

to use all the endings.  

1 Although many people do not like graffiti, _____  
2 MТМСОlКЧРОlШ’s sculpture David is five meters tall and _____ 
3 Pablo Picasso was born in Spain in 1881 and _____ 
4 Calligraphy is the art of writing and _____ 
5 Henri Cartier-Bresson was a famous photographer, _____  

a people not liking graffiti does not make it a crime. 
Л PТМКssШ’s ЦШsЭ ПКЦШЮs pКТЧЭТЧР Тs prШЛКЛlв GЮОrЧТМК. 
c this does not make it a crime. 
Н MТМСОlКЧРОlШ’s DКЯТН МКЧ ЛО sООЧ ТЧ FlШrОЧМО, IЭКlв. 
e whose pictures of 20th-century Paris are very well-known. 
f this art of writing is popular in many Asian and Arab countries. 
g his most famous work is probably Guernica. 
h can be seen in Florence, Italy. 
i is popular in many Asian and Arab countries. 
j Henri and Cartier-BrОssШЧ’s pСШЭШРrКpСs ШП 20ЭС-century Paris are very well-
known. 
 
7 Complete the sentences using the best phrases in the list. You will not need 

to use all the phrases: was rich and famous; this; it; some graffiti being sold for a 



lot of money; the Mona Lisa; doesn’t like abstract art; was; not; not easy to 
understand; doesn’t. 

1 Some art is easy to understand, but a lot is __________. 
2 I like abstract art, but my wife __________. 
3 Many artists were not rich or famous in their own lifetimes, but Picasso 

__________. 
4 The Mona Lisa was stolen in 1911, but __________ was returned two years 

later. 
5 SШЦО РrКППТЭТ КrЭ Тs sШlН ПШr К lШЭ ШП ЦШЧОв. I ФЧШа ЭСКЭ К lШЭ ШП pОШplО НШЧ’Э 

agree with __________. 
 
ACADEMIC WRITING SKILLS 

8 Complete the paragraph with words in the list: these; although; their own; 

the majority; this; such labels; for example; that’s why; items; In contrast. 
I аШЮlН lТФО ЭШ НТsМЮss аСОЭСОr ПКsСТШЧ МКЧ ЛО МШЧsТНОrОН ‘КrЭ’. FТrsЭlв, I 

believe that the luxury designer products that you can buy in expensive stores 
should not be called art. 1 _____ products simply encourage people to buy exactly 
the same things and show how rich they are. 2 _____, these 3 _____ usually come 
аТЭС К lШРШ (ШПЭОЧ ЭСО НОsТРЧОr’s ЧКЦО) ШЧ ЭСОЦ, КЧН pОШplО аСШ аОКr МlШЭСОs аТЭС 
4 _____ are not expressing 5 _____ personality. They are just copying everyone 
else. 

6 _____, I think that fashion can be artistic if you dress in a style which 
reflects your unique personality. 7 _____ can be simply having a hairstyle or 
аОКrТЧР К МШЦЛТЧКЭТШЧ ШП МlШЭСОs аСТМС Тs НТППОrОЧЭ ЭШ ОЯОrвШЧО ОlsО’s. 

8 _____ most people would like to be truly fashionable, I would say that 9 
_____ are afraid to look too different from everyone else. 10 _____ in most cases, 
аСКЭ pОШplО аОКr Тs ЧШЭ ‘КrЭ’. 

 
Ɂɚɞɚɧɢɟ ɤ ɡɚɱɟɬɭ 4  

READING  

1 Read the article about the ageing population of Japan. Tick the five 

questions answered in the article.  

1 What are some of the recent demographic changes in Japan? _____ 
2 What social activities do the Japanese enjoy? _____ 
3 АСКЭ pОrМОЧЭКРО ШП JКpКЧ’s population can be categorized as elderly? _____ 
4 Why does Japan currently have such a large elderly population? _____ 
5 Do the Japanese have large pensions when they retire? _____ 
6 Does Japan have a large workforce? _____ 
7 In what ways is an ageing population a good sign for a country? _____ 
8 What are some of the consequences of an ageing population? _____ 

 

The population of Japan has increased significantly since the beginning of the 
20th century. From a relatively small population of 51 million in 1910, it reached a 
total of 72 million by 1945. The latter half of the 20th century saw a huge 
population boom as the country became fully industrialized. By 1970, the 



population had surpassed 100 million, and it went on to grow by a further 28 
million by 2010. 

In 2012, however, research showed that the overall Japanese population had 
started to decrease. Apart from during the year 1945, this was the first time in 
recent history that this had happened. In 2012, there were one million fewer people 
living in the country than two years previously. 

A closer look at the statistics reveals that Japanese society is clearly ageing, 
and at a much faster rate than ever before. In 2012, the amount of elderly people 
(over the age of 65) rose above 30 million for the first time. This meant that elderly 
people comprised roughly one quarter of the whole population, whereas only 13% 
аОrО ЮЧНОr ЭСО КРО ШП 14. IЧ ЭСТs вОКr, JКpКЧ ШППТМТКllв ЛОМШЦО ШЧО ШП ЭСО ‘РrОвОsЭ’ 
countries in the world. 

The reasons for this trend are due to JКpКЧ’s sЮММОss Кs К ПЮllв НОЯОlШpОН 
sШМТОЭв. AПЭОr 1945, Кs аТЭС ЦКЧв МШЮЧЭrТОs, ЭСОrО аКs К ‘ЛКЛв ЛШШЦ’, аСОЧ КЧ 
increased number of babies were born in a short period due to a more stable and 
ОМШЧШЦТМКllв ПКЯШЮrКЛlО ОЧЯТrШЧЦОЧЭ. Bв 2010, ЭСОsО ‘ЛКЛв ЛШШЦОrs’ СКН ЛОРЮЧ 
to leave the workforce, and were officially elderly. 

An ageing society can, in theory, be a positive sign. The standard of living 
tends to be higher in countries which can support an elderly population. In 
addition, poverty and crime rates tend to be lower. On the other hand, it can cause 
serious social problems. A large elderly section of society means that more people 
need health care and there is a smaller section of the population paying taxes to 
cover the costs of this. This means that over time all governments, including the 
Japanese government, will increasingly struggle to afford an ageing society. 
 
2 Complete each sentence about the article with a number.  

1 Between 1910 and _____, the Japanese population doubled. 
2 IЧ 2012, JКpКЧ’s population was approximately _____ million. 
3 In 2012, the elderly population was around _____%. 
4 Children under 14 comprised _____% of the population. 
5 Many people reached retirement age around _____. 

 
VOCABULARY 

3 Choose the best word to complete the collocations in each sentence.  

1 One of the most important demographic activities/changes facing the world 
today is that the number of people aged 65 or over is increasing faster than at any 
point in history. 

2 Because of the ageing population/impact, the government is considering 
increasing the retirement age from 65 to 70. 

3 Japan and Switzerland have the highest average life expectancy/population, 
in the world. 

4 The economic expectancy/impact of ageing populations will be enormous – 
the government will be able to collect fewer taxes and will have to spend more on 
health care. 



5 IЭ’s ТЦpШrЭКЧЭ ЭСКЭ ШlНОr pОШplО КrО ОЧРКРОН ТЧ sШМТКl МСКЧРОs/КМЭТЯТЭТОs 
where they socialize with other people, such as joining clubs or taking part in 
voluntary work. 
 

4 Complete the sentences with the words in the list: elderly; shortage; maintain; 

workforce; decline. 
1 More than one million people make up the _____ of the British National 

Health Service. About 150,000 of these are doctors. 
2 In many countries, it is common for people to look after their _____ parents 

at home when they become unable to look after themselves. 
3 Many people are worried that there will be a _____ of qualified 

professionals able to look after old people. 
4 In most developed countries, there has recently been a _____ in the number 

of babies being born – there are fewer than 30 or 40 years ago. 
5 We should try to _____ a good standard of living for everyone, young or 

old. 
 
LANGUAGE DEVELOPMENT 

5 Choose the correct word or phrase (a–c) to complete the collocations in each 

sentence.  

1 There is a compulsory _____ age in this country of 65. 
2 After working all her life, my grandmother now _____ a pension every 

month. 
3 Despite being 91, my grandfather is in _____ health. 
4 Examples of age- _____ diseases include arthritis and Type-2 diabetes. 
5 My mother remembers what happened 30 years ago, but her _____ memory 

is poor. 
1 a retirement b pension c old 
2 a contributes to b brings back c draws 
3 a happy b perfect c advanced 
4 a coming b related c problem 
5 a loss b later c short-term 
 
6 Complete the sentences with the correct preposition.  

1 The ageing population could, _____ theory, create a crisis in many 
developed countries. 

2 In this essay, I would like to focus _____ some of the reasons why life 
expectancy has improved in the last 50 years. 

3 Many young people find it difficult to identify _____ the problems of 
elderly people. 

4 There are a range _____ theories as to why the population has started to 
decrease. 

5 To sum _____, I would like to discuss the benefits of an older society. 
 

GRAMMAR FOR WRITING  



7 Complete the numerical words in each sentence. 

1 A large p_ _ p_ _ t_ _ n of families have more than one child. 
2 Only a small m_ _ _ r _ _y of people will live to be over 100 years old. 
3 The overwhelming m_ _ _ r_ t_ of countries are increasing in population. 
4 The population has t_ i _ _ _d in the last 60 years. 
5 The number of elderly people needing special care has d_ _ _ l_ d. 

 

8 Complete the sentences with the correct language of prediction from the list:  

are set to rise; are unlikely to be; are expected to be; may well decrease; is 

projected to rise. 

1 The latest figures are looking very positive: unemployment __________ in 
the next two years, which means fewer people will be without a job. 

2 Salaries __________ next year, but only by 1.5%, which does match rises in 
living costs. 

3 The global population __________ from 7 to 8 billion by the year 2050. 
4 There __________ so many university students next year, now that 

education fees have risen. 
5 There __________ more elderly people in the next 20 years – in fact 35% of 

the population will probably be over 65, far more than now. 
 
ACADEMIC WRITING SKILLS 

9 Complete the diagram description with the words in the list: shows; steadily; 

consequences; analysis; diagram; impact. 
A This 1_____ 2 _____ the population of Japan from the late 1800s to the 

present day. It also shows the projected demographic changes until the year 2100. 
B Upon close 3 _____, it can be seen that, apart from a small dip in the 1940s, 

the population rose 4 _____ until it reached a peak of 128 million in 2010. 
C If the population of Japan does decrease as predicted, then this will have 

great 5 _____ for its society, especially if the proportion of elderly people 
increases. 

D In summary, the Japanese population may well reach a level which is 
similar to that of more than 100 years ago. This would have a great 6 _____ on 
society. 
 
10 Match the topics (1–4) to the paragraphs (A–D) of the description.  

1 Main implications of the data _____ 
2 Description and main trends of the data _____ 
3 Introduction _____ 
4 General overview _____ 

 

Ɂɚɞɚɧɢɟ ɤ ɡɚɱɟɬɭ 5 

READING 

1 Read the article about English-language signs around the world. Match the 

descriptions (1–5) to the correct paragraph (A–E). 



1 The signs sometimes use incorrect English. _____ 
2 An explanation of why English is on signs everywhere. _____ 
3 These signs are not for tourists. _____ 
4 English is not taking over other languages. _____ 
5 Introducing the topic. _____ 

 
A English is one of the most well-known languages in the world. You can see 

it on signs everywhere, not only in English-speaking countries such as the UK. If 
you look around the streets of Tokyo, for example, you will find that Japanese is 
the most common language on signs. However, the second-most visible language 
is English. According to some studies, around 20% of signs in Tokyo are in 
English. Of course, there is no large native- English population in Tokyo, but other 
studies have found similar patterns all over the world. So who are these signs for? 

B Most people agree that English signs in other countries are not for the 
ЛОЧОПТЭ ШП ЭШЮrТsЭs. IЧ DЮЛКТ, ПШr ОбКЦplО, EЧРlТsС Тs ЯТsТЛlО ТЧ МКПцs, sСШps КЧН ШЧ 
adverts. However, only a very small number of foreigners in Dubai are from 
English-speaking countries, compared with people from countries like India or Sri 
Lanka. 

C Many researchers now believe that English signs are not intended for 
EЧРlТsС spОКФОrs. IЧ ПКМЭ, ЭСОв КrО ‘spОКФТЧР’ ЭШ ЭСО lШМКl pШpЮlКЭТШЧ. IЧ TШФвШ, ПШr 
example, an English-language sign may include mistakes or may use English in a 
sЭrКЧРО аКв. HШаОЯОr, ЭСТs Тs ЧШЭ ТЦpШrЭКЧЭ, ЛОМКЮsО ЭСОsО sТРЧs КrО ‘spОКФТЧР’ ЭШ 
a Japanese audience. 

D One possible reason for this is that English is currently exotic and 
fashionable for many people. If English stops being fashionable, then these signs 
will probably disappear very quickly. In the same way, if you walk around 
LШЧНШЧ, вШЮ аТll ПТЧН ЦКЧв МКПцs аТЭС IЭКlТКЧ-language signs. These signs may not 
make sense to an Italian person, but that is not impШrЭКЧЭ. TСО sТРЧs КrО ‘spОКФТЧР’ 
to people in London who think that Italian is something fashionable. 

E At the same time, many researchers believe that English is not replacing 
other languages culturally. For example, if there are a large number of English-
language signs in a place like Tokyo, this does not mean that British or American 
culture is replacing Japanese. On the contrary, it shows that the Japanese language 
is strong, and the Japanese can allow another language to be publically visible at 
the same time as their own. 
 

2 Read the article again. Are the statements below true (T) or false (F)? 

1 The most visible language in Tokyo is English. _____ 
2 According to the article, these English-language signs are for the local 

population. _____ 
3 Some English-language signs in Tokyo contain language which might 

confuse English people. _____ 
4 In London, many people have a positive attitude to Italian-language signs. 

_____ 
5 The Japanese language is quickly dying out in Tokyo. _____ 



 

VOCABULARY 

3 Complete the text with the words in the list: authentic; food miles; 

perfectionist; freshness; farms; situated; insist; discount; selling point; 

consumption. 

A big social question at the moment is: Is it OK to eat something which was 
grown in a faraway country? People often talk about 1_____  – how far fruit or 
meat has travelled before we buy it. Most people will 2 _____ that the more food 
has travelled, the worse it is. Not only is it bad for the environment, but by the time 
it gets to us, it will have lost all its 3 _____. Many also argue that eating only local 
food is more 4 _____, as this is how we naturally should eat. A true local food 5 
_____ will tell you that eating exotic fruit in winter is just wrong. The problem is, 
of course, that our 6 _____ habits have changed. We are used to eating what we 
want, when we want it. Many of us like to eat foreign food. The main 7 _____ of a 
beautiful piece of French cheese is that it was made in France – not in a factory 8 
_____  20 miles away. Another argument is that eating food from distant lands 
may actually be better for the environment. Yes, flying lamb from New Zealand is 
ОбpОЧsТЯО КЧН ТsЧ’Э РrОКЭ ПШr ЭСО ОЧЯТrШЧЦОЧЭ. HШаОЯОr, ЭСО rОКsШЧ аО ЛЮв lКЦЛ 
ПrШЦ 9 ИИИИИ ТЧ NОа ГОКlКЧН Тs ЛОМКЮsО ТЭ’s МСОКpОr ЭШ rКТsО sСОep in that country. 
TСКЭ’s аСв lКЦЛ ПrШЦ NОа ГОКlКЧН Тs ШПЭОЧ sШlН КЭ К ЛТРРОr 10 ИИИИИ ЭСКЧ lШМКl 
meat. 
 
LANGUAGE DEVELOPMENT 

4 Choose the correct verb in each sentence. Use the phrasal verbs in brackets 

to help you.  

1 The number of people going abroad to find work has continued / increased 
in recent years. (go up) 

2 When the new government came into power, they removed / excluded many 
of the old street signs and put up new ones. (take away) 

3 Mв pКrОЧЭs ЛШЭС spОКФ НТППОrОЧЭ lКЧРЮКРОs. I’Ц ЛТlТЧРЮКl, ЛЮЭ when I speak 
to them, I sometimes confuse / separate one word with another. (mix up) 

4 Some people predict that oil supplies will be refused / exhausted in a few 
decades. (use up) 

5 We cannot exclude / separate the possibility that Chinese will become the 
аШrlН’s ЧЮЦЛОr ШЧО lКЧРЮКРО. (lОКЯО ШЮЭ) 
 
5 Complete the gaps with the words in the list. You will not need to use all the 

words: obesity; diet; monopoly; outlets; supermarkets; consumption; poverty; 

multinational 

1 Becoming overweight is often a consequence of a _____ which is too high 
in fat. 

2 _____ is a growing health problem for many people in richer countries. 
3 Many retail ______ have closed down recently because of the economic 

crisis. 



4 In this country, there is only one train company, so it has a _______ in the 
travel business. 

5 We must do something to help the millions of people who are living in 
______. 
 
GRAMMAR FOR WRITING  

6 Complete the noun phrases in the sentences below with the head nouns in 

the list. There are four nouns you do not need: products; transport; site; figure; 

change; people; city; life; cuisine. 
1 There are a range of _____ in supermarkets now which our grandparents 

could not buy. 
2 The internet has become a part of modern _____. 
3 I only use one social-networking _____  – I СКЯОЧ’Э РШЭ ЭТЦО ЭШ ЮsО Кll ШП 

them. 
4 Tokyo is a major world _____ and its population is set to grow in the next 

few decades. 
5 A recent _____  is the amount of people who use a car to travel to work. 

 
7 Five of the sentences below contain a mistake. Find the mistakes and correct 

them.  

1 Around ago ten years, I was living in Tokyo. 
2 There are more supermarkets in the city center these days. 
3 At present time, the economy seems to be doing well. 
4 Historic, Canada has always been a multilingual country. 
5 More and more people have travelled abroad in recently years. 
6 Nowadays, it is common to learn a second language. 
7 Thai food is currently becoming very popular around the world. 
8 International communication was very slow in a past, before the internet. 

 
ACADEMIC WRITING SKILLS 

8 Read sentences 1–4 from different essay introductions and match them to 

types of essay (a–d). 

1 I will discuss the issue of growing poverty in our country. I will also go on 
to recommend ways in which we can deal with this situation. _____ 

2 I will explore the popularity of ready meals, and try to explain how they 
became so common. _____ 

3 Fast food is not, as many people claim, an unhealthy product. This essay 
will argue that fast food, if eaten as part of a balanced diet, has no negative effects 
on children. _____ 

4 I will first outline the advantages of a vegetarian diet, then discuss its 
disadvantages. _____ 
a Defending an argument b For and against  
c Problem – solution d Cause and effect 
 



9 Match the sentences (1–6) to the parts of an essay in which they would be 

found (a–c).  

1 This essay explores the changing consumer habits of people in London. 
_____ 

2 To summarize, this is not a recent problem, and there is no easy solution. 
_____ 

3 Another reason, which I will now discuss, is that people are not educated 
about healthy foods. _____ 

4 I would like to conclude this essay by mentioning a recent development in 
consumer habits. _____ 

5 In this essay, I will discuss the growing problem of obesity in this country. 
_____ 

6 I аТll ЧШа ЭЮrЧ ЭШ ЭСО аКвs ЭСКЭ КНЯОrЭТsТЧР СКs КППОМЭОН pОШplО’s КЭЭТЭЮНОs. 
_____ 
a Introduction b Body paragraph c Conclusion 

 

Ɂɚɞɚɧɢɟ ɤ ɡɚɱɟɬɭ 6 

READING  

1 Read the article about why people take risks. Tick the five questions 

answered in the article.  

1 What did Felix Baumgartner achieve? 
2 How did Felix Baumgartner prepare for his jump? 
3 What do some risk-takers want to prove to other people? 
4 What are some of the rewards that risk-takers get? 
5 Do men take more risks than women? 
6 Why do some people take risks, even though no-one is watching them? 
7 What are some of the bad things that happen when risk-taking goes wrong? 
8 What happens inside our bodies when we take risks? 

 
In October 2012, the skydiver Felix Baumgartner set a new world record. 

After sitting inside a tiny capsule at the edge of space, he jumped out when he was 
39 kilometers above the Earth. Falling to the ground, he reached a speed of 1,357 
kph and broke the sound barrier. This ten-minute jump was extremely well-
prepared. Nevertheless, it was a very risky thing to do, and raises the question: 
Why are some people attracted to dangerous activities? 

One reason may be to get attention – Felix BКЮЦРКrЧЭОr’s УЮЦp аКs аКЭМСОН 
by around 8 million people on YouTube. Some people feel a need to show that 
they are the fastest or the best at something, and taking public risks is one way to 
do this. For some competitive individuals (especially in the worlds of sport and 
business), the financial rewards of taking a risk and achieving what you want can 
be enormous. Furthermore, if you have taken a risk and won through, then your 
achievements may be remembered for a very long time. The more thrilling the risk, 
the bigger the win. Everybody knows who the first person to walk on the Moon or 
the first team to climb Mount Everest was – but few people know the fifth or ninth 
people to do so. However, there are many occasions when people take risks 



without an audience, for example, in high-risk sports, such as cave diving or 
mountain climbing. It is clear, then, that there must be other rewards for not 
plКвТЧР ТЭ sКПО. OЧО ЦТРСЭ ЛО ЭСО ‘КНrОЧКlТЧО rЮsС’ ЭСКЭ pОШplО РОЭ аСОЧ ЭСОв НШ 
something dangerous. In frightening situations, the chemical adrenaline is released 
into our bodies. This makes our hearts beat faster, and helps our bodies if we have 
to fight or run away. It is possible that this level of excitement might be a reason 
some people continuously try out exhilarating activities. 

In summary, it seems that many people take risks because they dream of 
success. Of course, there is always the possibility of terrible failure too. At the 
same time, if everything goes well in a risky activity, then the rewards can be 
great. 
 
2 Read the article again. Are the statements true (T), false (F) or the article 

does not say (DNS)?  

1 IЭ’s pШssТЛlО ЭШ РОЭ К lШЭ ШП ЦШЧОв ТП вШЮ ЭКФО К rТsФ КЧН sЮММООН. ИИИИИ 
2 PОШplО НШЧ’Э КlаКвs rОЦОЦЛОr ЭСКЭ sШЦОЭСТЧР МКЧ ЛО НКЧРОrШЮs. ИИИИИ 
3 People rarely take risks when they are alone. _____ 
4 Adrenaline makes people want to avoid risk. _____ 
5 Risk-takers take bigger and more dangerous risks each time they do 

something. _____ 
 
VOCABULARY 

3 Choose the best word in each sentence.  

1 In most countries, it is compulsory/responsibility to wear a seatbelt when 
you are driving. 

2 Some people want to action/prohibit the cars in the city centre to make it 
safer for children. 

3 My company has many health and safety regulations/responsibilities. For 
example, you must not pick up heavy boxes by yourself. 

4 If you take a risk, then you are liable/play it safe if anything goes wrong. 
5 When you become a parent, you have a lot of responsibility/legislation for 

вШЮr МСТlН’s СКppТЧОss. 
6 The government is considering new ban/legislation to lower the age that you 

can start driving. 
7 We must take action/liable to stop the problem before it gets worse. 
8 IЭ’s ЛОЭЭОr ЭШ ЭrТКl КЧН ОrrШr/plКв ТЭ sКПО rКЭСОr ЭСКЧ ЭКФО К rТsФ. 
9 After her accident, she was banned/trial and error from driving for two 

years. 
10 I НТНЧ’Э ФЧШа СШа ЭШ sШlЯО ЭСО prШЛlОЦ – it was just a process of trial and 

error/play it safe. 
 

LANGUAGE DEVELOPMENT  

4 Put the words in the correct part of the table, according to their meaning: 

authorize; limit; permit; prohibit; legalize; restrict; criminalize. 

allow curb ban 



authorize limit  

   

 

5 Match the academic nouns (1–5) to their synonyms (a–e). 

1 reduction 
2 legislation 
3 confusion 
4 dissatisfaction 
5 regulation 

a chaos 
b unhappiness 
c law 
d fall 
e rule 

 

GRAMMAR FOR WRITING  

6 Complete the sentences with the correct cause and effect language. You will 

not need to use all the language in the list: because of; results; consequently; a 

result of; means; leads. 
1 It is possible that cars will be banned from the city center next year. This 

_____ that people will have to park outside the center and use public transport 
more. 

2 Research shows that we get an adrenaline rush when we are afraid or 
stressed. _____ this, the heart begins to beat faster and we are more prepared to 
fight or run away. 

3 He took a risk, but unfortunately it went wrong and he had an accident. 
_____, he spent two weeks in hospital, and says he will never do anything 
dangerous again. 

4 I took a big risk when I decided to leave my job but as _____ this, I am now 
working for a better company and earning more money. 

 
7 Rewrite the sentences starting with the word given and using the words in 

brackets.  

1 It is acceptable to take risks if you are well prepared. 
Provided _______________. (that) 

2 MШsЭ rТsФs КrО ПТЧО ТП вШЮ НШЧ’Э pЮЭ ШЭСОr pОШplО ТЧ НКЧРОr. 
As _______________. (long as) 

3 You can use the car if you bring it back safely. 
You _______________. (on the condition that) 
 
ACADEMIC WRITING SKILLS 

8 Look at the paragraphs in the essay below. Match the topics (1–5) to each 

paragraph (A–E). 

1 ЭСО аrТЭОr’s МШЧМlЮsТШЧ ИИИИИ 
2 why exposing children to risk can be harmful _____ 
3 why exposing children to risk can be positive _____ 
4 some general characteristics of children _____ 
5 introducing the essay _____ 

 



A _____ I will first give reasons why some parents might let their children 
experience risk, and what the advantages may be. I will then go on to discuss some 
of the disadvantages. Finally, I will summarize the arguments and give my own 
opinion. 

B _____ This allows them to experiment and learn things which are useful in 
later life. For example, if a young child is playing on a sofa and falls off, then they 
learn the important rule that playing on a sofa is dangerous. This may help them 
realize how to be careful, and how to realize what is safe and what is not. 

C _____ Too much risk is obviously a bad thing if a child becomes hurt or 
frightened. This can lead to the child developing a phobia or being unable to cope 
with certain situations. For example, if a child has a bad experience with an 
aggressive dog when they are young, then this might teach them to be afraid of 
animals in later life. 

D _____ As they develop, they will therefore learn what is dangerous and 
what is not. Most young children do not really understand the idea of risk and are 
happy to get into trouble. This means that children are probably natural risk-takers, 
and this may actually be a valuable way to learn about the world and to 
experiment. 

E _____ After all, one of the roles of the parent is to help and teach their 
children, so supervised risk is probably very useful for them as they learn the 
consequences of their actions. Of course, children should not be put in very 
dangerous situations, but they should certainly be encouraged to try things out. If 
things sometimes go wrong, for example if they hit their heads, then this could 
actually be a useful life lesson. 
 
9 Complete the essay with the correct topic sentence number (1–5).  

1 Almost all children have a natural curiosity. _____ 
2 This essay will discuss whether children should be exposed to risk. _____ 
3 My own opinion is that children should be allowed to experience some risk, 

but only with the supervision of adults. _____ 
4 There are certainly some advantages of letting children experience risk. 

_____ 
5 There are also disadvantages to letting children be exposed to risk. _____ 

 

Ɂɚɞɚɧɢɟ ɤ ɡɚɱɟɬɭ 7 

READING 

1 Skim read the article about preserving old buildings. Tick the five opinions 

mentioned in the article. 

1 Modern Dubai looks nothing like it did in the past. _____ 
2 Some tourists enjoy visiting famous skyscrapers. _____ 
3 Most Japanese people do not like old styles of architecture. _____ 
4 Prague spends a lot of money preserving its architecture. _____ 
5 There needs to be more shopping malls in the Italian capital of Rome. 

_____ 
6 The old buildings of Rome have great historical significance. _____ 



7 We need to build more skyscrapers for future generations to live in. _____ 
8 The Eiffel Tower was not supported by everyone when it was first built. 

_____ 
 

Throughout history, cities have always changed and grown. As the human 
population expands, cities need to get bigger, and often taller. Some of the most 
famous buildings in the world are also the tallest: the 830-metre-high Burj Khalifa 
in Dubai or the twin Petronas Towers in Kuala Lumpur. However, this rapid 
development comes at a price. Many old buildings in cities like Kuala Lumpur, 
Singapore or Shanghai have disappeared, to be replaced by new shopping malls, 
luxury hotels and skyscrapers. Some places like Dubai have changed out of all 
recognition in the last 20 years. 

However, is this a bad thing? After all, beautiful new skyscrapers and 
shopping malls do attract tourists. Also, for residents, it is not always safe to live 
alongside old buildings. In places like Tokyo, there are few very old buildings, 
most having been destroyed by fires or large earthquakes. In addition, older 
buildings tend to be small and inconvenient for large cities where overcrowding is 
already a problem. The cost of maintaining old buildings can also often be huge, 
especially in cities such as Prague which have extensive old town centers. 

On the other hand, some old buildings do have enormous cultural importance. 
There are few people who would suggest tearing down the ancient buildings of 
Ancient Rome to build a new shopping mall. Its buildings are simply too precious. 
They are not only beautiful, but tell us a great deal about how past generations 
lived. We have to take responsibility for conserving important buildings for future 
generations to enjoy and learn from. 

In conclusion, it is difficult to argue that we should forbid the creation of new 
buildings. Cities do change and evolve over time. Of course, there are those who 
НШЧ’Э КpprОМТКЭО ЦШНОrЧ КrМСТЭОМЭЮrО, ЛЮЭ ТЭ’s аШrЭС ЛОКrТЧР ТЧ ЦТЧН ЭСКЭ аСОЧ ЭСО 
famous Eiffel Tower of Paris was opened in 1889, it was widely criticized as being 
‘ЮsОlОss КЧН ЦШЧsЭrШЮs’. EКМС РОЧОrКЭТШЧ МrОКЭОs ТЭs ШаЧ КrМСТЭОМЭЮrКl sЭвlОs, КЧН 
we should continue that. In short, we need to be able to expand our cities in a way 
that respects architecture from the past but looks to the future. 
 
2 Match the sentences (1–5) from the article to the paraphrases (a–e).  

1 However, this rapid development comes at a price. _____ 
2 Also, for residents, it is not always safe to live alongside old buildings. 

_____ 
3 On the other hand, some old buildings do have enormous cultural 

importance. _____ 
4 We have to take responsibility for conserving important buildings for future 

generations to enjoy and learn from. _____ 
5 In short, we need to be able to expand our cities in a way that respects 

architecture from the past but looks to the future. _____ 
К TШЮrТsЭs ЦКв КpprОМТКЭО ШlН ЛЮТlНТЧРs, ЛЮЭ ЭСКЭ НШОsЧ’Э ЦОКЧ ЭСОв Кre suitable for 
citizens. 



b Modernization does have its disadvantages. 
c We need to find a compromise between preserving existing architecture and 
developing cities. 
d It is our role to preserve old buildings for our children and grandchildren to 
appreciate. 
О ArМСТЭОМЭЮrО Тs К sТРЧТПТМКЧЭ pКrЭ ШП К ЧКЭТШЧ’s ТНОЧЭТЭв. 
 
VOCABULARY 

3 Complete the sentences with words from the list:  tower; tomb; skyscrapers; 

straw; affordable; efficient; install; green; compromise; durable. 
1 Buildings in places where there are hurricanes need to be built of very 

_____ materials. 
2 I work in an office _____  in the city center. 
3 More people would be willing to _____  solar panels on buildings if the cost 

was lower. 
4 It is often more _____  to rent a home than to buy one, especially if you live 

in a city. 
5 The _____  in which he was buried is located in northern Egypt. 
6 Originally _____  were buildings which were more than 10 stories high. 
7 There are many advantages to living in a _____  building –energy costs are 

much lower. 
8 This building is not energy _____. It loses a lot of heat through its windows. 
9 After much discussion, we reached a _____ on the cost of the new building. 
10 Before the use of stone and bricks, many houses were built with mud and 

_____. 
 
LANGUAGE DEVELOPMENT 

4 Complete the sentences with the correct form of the words in brackets.  

1 We need to care more about the_____  of our cities. (environment) 
2 The building is very _____ – ТЭ аКsЧ’Э НОsТРЧОН ЭШ ЛО КЭЭrКМЭТЯО. (ПЮЧМЭТШЧ) 
3 I work more _____ when I am at home. (efficient) 
4 This building is really ugly and seems to _____ everyone who works in it. 

(depress) 
5 If we want to construct skyscrapers, then we should do so _____. 

(responsible) 
6 Lecce in Italy has beautiful baroque-style _____. (architect) 

 
5 Choose the best word (a–c) to complete each sentence.  

1 The _____ of old buildings for future generations is very important. 
2 The government should have a _____  around the city to prevent urban 

sprawl. 
3 The factory is on the _____ of the city – it takes an hour to get there from 

the center. 
4 The hotel only has basic _____, such as a 24-hour coffee machine. 

1 a compromise b responsibility c conservation 



2 a green belt b green c environmentalism 
3 a affordable b outskirts c urban sprawl 
4 a amenities b architecture c functionalism 
 
GRAMMAR FOR WRITING 

6 Write an academic synonym for the words and phrases in bold. Use the 

words in the list:  calculate; justified; fundamentally; approximately; of no benefit 

to; considerable; have a positive impact on; critical; undoubtedly; a great deal. 
1 It is really important that we plan for population increases in our city. 

_____ 
2 We urgently need to figure out how much it will cost to renovate this 

building. _____ 
3 There is, for sure, a competition to see who can build the tallest skyscraper. 

_____ 
4 It seems there are loads of people who want to preserve, historical 

buildings. _____ 
5 Basically, the problem is that there are not enough places to live. _____ 
6 It is not clear that the costs of installing solar panels to a building are worth 

it. _____ 
7 There are something like 13 million people living in Tokyo. _____ 
8 A new skyscraper can be really good for the image of a city. _____ 
9 Destroying old buildings is a really bad idea for our national culture. _____ 
10 You need to invest a really big amount of money to create any kind of 

large building. _____ 
 
ACADEMIC WRITING SKILLS 

7 Complete the sentences with a word or phrase from the list:  That is why; For 

these; In spite of this; These; This. 
1 Dubai has undergone an extensive construction program over the last two 

decades. _____, parts of the old city remain unchanged. 
2 As well as large earthquakes, Tokyo is also prone to typhoons. _____ 

reasons, skyscrapers in this city are specially designed to withstand great shocks. 
3 TСО EТППОl TШаОr ТЧ PКrТs Тs ШЧО ШП ЭСО аШrlН’s pШpЮlКr ЭШЮrТsЭ КЭЭrКМЭТШЧs. 

_____ means that there are often very long queues to visit it. 
4 The Great Pyramid of Giza was built of very heavy stone. _____ it has 

survived for several thousand years. 
5 Some people believe that we can preserve anything we want through photos 

or film. _____ people see no problem in replacing old architecture with new 
buildings. 
 
8 Match sentences (1–5) with the most appropriate follow-up sentence, (a–j). 

You will not need to use all the follow-up sentences.  

1 Some cities have very large populations. _____ 
2 Skyscrapers should be designed with high safety standards in mind. _____ 
3 Some cities expand upwards, and some expand outwards. _____ 



4 We need to reduce the amount of cars in our cities. _____ 
5 It is better to spend more money on preserving old buildings than creating 

new ones. _____ 
a This is because historical buildings are important for our culture. 
b This can lead to overcrowding if there are not enough places to live. 
c Natural disasters can be a problem if skyscrapers are built in areas where they are 
common. 
d People can enjoy old buildings more. 
e Urban sprawl can therefore be a problem. 
f This is especially important in places where natural disasters are common. 
g The latter can result in urban sprawl if construction continues without limit. 
h Pollution from traffic is destroying our buildings. 

 

Ɂɚɞɚɧɢɹ ɤ ɷɤɡɚɦɟɧɭ: 
Ɂɚɞɚɧɢɟ ɤ ɷɤɡɚɦɟɧɭ 1 

READING  

1 Read the article about tea production. Match the headings (1–5) to the 

correct paragraph (A–E). 

1 The finished product _____ 
2 Collecting the tea _____ 
3 The tea plant _____ 
4 A much-loved drink _____ 
5 Creating two forms of tea _____ 

 
A Tea, which is mostly grown in China, India, Sri Lanka and Japan, is 

popular all over the world. Although most people are aware of where their tea 
comes from, few understand how it is made. 

B The tea bush (Carmellia sinensis) is much smaller than a tree, at just over 
one meter high. It is cultivated mainly in subtropical climates at altitudes of over 
1,000 meters. Each bush grows for up to 15 years before the leaves are ready to 
harvest. Even then, only the top leaves are actually used in tea production. 
Therefore, a lot of bushes are needed to make even a small quantity of tea, and it is 
not surprising that tea plantations can cover hundreds of kilometers. 

C The tea leaves are always hand-picked to ensure that only the best-quality 
leaves are taken to the factory. There, they are dried for up to a day. What happens 
after this process determines the color of the tea. Perhaps the most well-known 
forms of the drink are black and green varieties. In fact, there is no difference in 
the tea leaves at the time they are picked. 

D Black tea is made by allowing the dried leaves to come into contact with 
the air for another three or four hours. The oxygen reacts with the tea leaves and 
makes them turn a dark brown. The process is different for making green tea. After 
drying, the leaves are heated to stop them reacting with oxygen in the air, so that 
the original green color does not change. During this process, special ingredients 
(such as jasmine flowers) might also be added to enhance the flavor of the tea. 



E After this process, most tea is blended (or mixed) with other teas to create 
the best possible taste. It is then stored or placed in tea bags, ready to be distributed 
over hundreds or perhaps thousands of kilometers to the person who will 
eventually add the tea to boiled water. 
 
2 Read the article again. Are the statements below true (T), false (F) or the 

article does not say (DNS)?  

1 China is one of the biggest tea-drinking nations in the world. _____ 
2 Most of the tea plant is not used. _____ 
3 All tea is black when it is picked. _____ 
4 Green tea is healthier than black tea. _____ 
5 Most of the tea we drink is from lots of different tea plants. _____ 

 

VOCABULARY (10 marks) 

3 Complete the sentences with the words in the list: dry; harvest; mould; 

products; package; grind; shell; melt; manufacturer; roast. 
1 I НrТЧФ МШППОО, ЛЮЭ I НШЧ’Э СКЯО ТЭ аТЭС ЦТlФ. I МКЧ’Э СКЯО НКТrв ИИИИИ . 
2 After the tea leaves have been picked, you need to _____ them for several 

hours until there is no more water left in them. 
3 You _____ the meat by cooking it in an oven for an hour. 
4 The liquid chocolate was poured into the _____ and when it became cool 

and hard, the chocolate was in the shape of a heart. 
5 Eggs, nuts and seeds all have a _____,which you break to get the food 

inside. 
6 We had a good _____this year. The weather was fine, which meant that we 

were able to grow a lot of food. 
7 CСШМШlКЭО аТll ИИИИИТЧ К аКrЦ plКМО. SШ НШЧ’Э lОКЯО ТЭ ТЧ вШЮr ЭrШЮsОr 

pocket! 
8 Chocolates usually come in an attractive _____, such as a large box. 
9 You need to _____ the coffee beans into a powder, and then they are ready 

to add to water. 
10 CКНЛЮrв’s Тs К ПКЦШЮs МСШМШlКЭО ИИИИИ аСТМС sЭКrЭОН sОllТЧР ЭОК, МШППОО 

and chocolate in the UK in 1824. 
 

LANGUAGE DEVELOPMENT 

4 Write an academic synonym for the verbs in bold. Use the words in the list: 

consult with; distributing; extracted; cultivated; emerged. 

1 Tea is grown in the mountains of Sri Lanka and India. _____  
2 I had to talk to my manager before I was able to make any decision. _____ 
3 TСО МКПц аКs giving out free small samples of coffee on the street in an 

attempt to attract customers. _____ 
4 New findings about the positive health effects of coffee have appeared in 

the last few years. _____ 
5 Caffeine can be removed from coffee to make a decaffeinated version of 

the drink. _____ 



 
5 Choose the best word (a–c) to complete each sentence.  

1 Tea _____ was developed by the Chinese thousands of years ago. 
2 The _____ design was not a great success – most people preferred the 

original. 
3 Temperature changes were monitored during the _____ the coffee to 

France. 
4 We are hoping to improve our product _____, so that the customer receives 

the items more quickly. 
5 Coffee _____is something people can do at home, if they have the right 

equipment. 
1 a cultivated b cultivation c cultivate 
2 a alter b altered c alteration 
3 a transport b transportation c transportation of 
4 a distribution b distribution of c distribute 
5 a grinding b grind c ground 
 
GRAMMAR FOR WRITING 

6 Join the sentences together starting with the words given. Use passive 

structures in each sentence.  

1 The machine cuts the paper to the correct length. It is sold on rolls. 
Before ____________ by a machine. 

2 Make sure the chocolate is cool. Take it out of the mould. 
Before ____________completely cool. 

3 Grind the coffee. Use it immediately. 
After ____________ immediately. 

4 The product is checked very carefully. It is distributed. 
Before ____________ very carefully. 

5 The tea leaves are picked. Then someone takes them to the factory. 
After ____________ the factory. 
 
ACADEMIC WRITING SKILLS 

7 Look at the sentences below. Match the underlined details (1–5) to the 

descriptions (a–e).  

1 Tea, which is mostly grown in China, India, Sri Lanka and Japan, is popular 
all over the world. _____  

2 Tea is cultivated in subtropical climates at altitudes of over 1,000 meters. 
_____ 

3 Each bush grows for up to 15 years before it is ready for harvesting. _____ 
4 After drying, the leaves are heated to stop them reacting with oxygen in the 

air. _____ 
5 The tea is hand-picked to ensure that only the best quality leaves are taken 

to the factory. _____ 
a explaining where something happens 
b saying what happens next 



c explaining why something happens 
d giving an extra detail 
e saying what happened earlier 
 
8 Complete the sentences (1–5) with the extra details (a–e).  

1 Coffee is grown in many areas ____________. 
2 Coffee trees, ____________, take four years to grow. 
3 Then, ____________, they are ready to pick. 
4 Next, ____________, they are picked by hand. 
5 The beans are picked by hand ____________. 

a before the beans are processed 
b including Central America, the Caribbean and Africa. 
c to make sure only the best ones are selected. 
d which are actually fruit trees 
e after the coffee beans turn red 
 

Ɂɚɞɚɧɢɟ ɤ ɷɤɡɚɦɟɧɭ 2 

READING 

1 Read the article about an idea for predicting a tsunami. Match descriptions 

(1–5) to the correct paragraph (A–E).  

1 A more complicated disaster. _____ 
2 Considering a new early warning system. _____ 
3 Animals seemed to be aware of what was going to happen. _____ 
4 No proof is available. _____ 
5 Animals may have an ability which we cannot yet understand. _____ 

 
A When a devastating tsunami hit the island of Sri Lanka in December 2005, 

it caught people by surprise. An earthquake had struck underneath the Indian 
Ocean, and no-one was able to predict the catastrophe in time. However, according 
to many witnesses, animals somehow knew what was happening a long time before 
humans did. Elephants were seeing running away from the sea, and birds such as 
flamingos were noticeably upset. And at Yala National Park on the southern Sri 
Lankan coast, very few dead animals were found, despite the park being home to 
leopards, elephants, bears and hundreds of other large animals. 

B This has led some people to ask whether animals have some kind of sixth-
sense – an ability to understand what is happening without using the traditional 
senses of sound, sight and so on. It has also led some people to wonder whether 
animals might be able to provide humans with an early warning that disasters are 
about to strike. 

C Another catastrophic tsunami struck Japan in 2011. It, too, was also an 
unpredictable event, but its large-scale devastation also forced the country to deal 
with a major environmental disaster, when the Fukushima nuclear plant was hit. 

D Although there were no reports of animals running away from the sea 
before this tsunami, the Japanese city of Susaki has debated whether or not to try 
out an early-warning system which involves animals. According to various reports, 



birds such as chickens have been seen getting excited just before large earthquakes. 
Cats and  dogs have also been observed behaving unusually before such events. 
The mayor of Susaki has thought about asking residents to prepare themselves if 
they notice animals suddenly behaving in a strange way. 

E However, as yet, there is no reliable scientific evidence that animals really 
can sense a disaster is about to strike. Because of this, the Japanese government 
cannot base important decisions on the way some animals might behave. 
 
2 Find the words below (1–5) in the interview. Match them to the ideas they 

refer to (a–h). You will not need to use all the ideas.  
1 it _____ 
2 this _____ 
3 its _____ 
4 they _____ 
5 Because of this ____ 

a It has not been proven that animals know when a tsunami is coming. 
b The park is home to many large animals. 
c a 2005 tsunami which caused a lot of damage 
d residents of Susaki 
e Japan. 
f a second major tsunami 
g Many animals seemed to have known the tsunami was about to occur. 
h People were caught by surprise. 

 
VOCABULARY 

3 Complete the texts with words from the list: a) large-scale; severe; major; 

disaster; barriers; dams. 

TСО RТЯОr DКЧЮЛО Тs ШЧО ШП EЮrШpО’s 1ИИИИИ rТЯОrs, КЧН ЭrКЯОls ЭСrШЮРС ЭОЧ 
different countries. Floods are common along this river, but the flooding of June 
2013 was especially 2 _____. After a long period of heavy rain, the river rose by 
up to two meters and caused 3 _____ damage to several towns. The center of 
Passau in Germany was completely underwater for several days, and the flooding 
destroyed several 4 _____ along the way. Luckily, capital cities such as Vienna, 
Bratislava and Budapest were safe from 5 _____, because of effective flood 6 built 
over 100 years ago. 
b) seasonal; hurricanes; long-term; devastating. 

Strong, violent winds known as 7 _____ are common near the Atlantic Ocean. 
They are 8 _____ and tend to occur between June and November. In October 2012, 
a 9 _____ storm struck the US, including cities such as New York City and 
Washington in its path. Several parts of New York were flooded, and the New 
York Stock Exchange closed for two days. The disaster caused 10 _____ damage 
to New York State, as more than 100,000 homes were destroyed. In total, the storm 
created an estimated US $68 billion in damage. 
 
LANGUAGE DEVELOPMENT 



4 Complete the table by writing the verb phrases as noun phrases.  

1 a report written by the government 
2 mitigating a disaster 
3 reducing risk 
4 protecting against floods 
5 manufacturing products 
6 analyzing risks 

 

 

 

 

 

 

 

5 Choose the best word (a–c) to complete the collocations.  

1 The 2011 Japanese tsunami was a _____ disaster which affected millions of 
people. 

2 Passau, in Germany, experienced _____ flooding when the River Danube 
burst its banks in 2013. 

3 The new dam is _____ project which involves engineers from four different 
countries. 

4 _____ drought has meant that this region has been unable to grow enough 
food this year. 
1 a major b long-term c seasonal 
2 a severe b natural c ambitious 
3 a a severe b a terrible c an ambitious 
4 a Natural b Prolonged c Major 
 
GRAMMAR FOR WRITING 

6 Complete each sentence using the prompts.  

1 important / prepare / natural disasters 
It __________________________________.  

2 sЮrprТsТЧР / ЦШrО pОШplО НТНЧ’Э ФЧШа / КЛШЮЭ ЭСО ЭsЮЧКЦТ 
It __________________________________.  

3 worth / remember / earthquakes can happen at any time 
It __________________________________.  

4 good idea / prepare for emergencies 
It __________________________________.  

5 sad fact / many homes were destroyed in the hurricane 
It __________________________________.  
 
ACADEMIC WRITING SKILLS  

7 Put the sentences (a–e) in order to make a paragraph.  

a It was caused by an undersea earthquake approximately 70 km out to sea. 
_____ 

b In March 2011, Eastern Japan was hit by a major tsunami. _____ 
c All in all, it was one of the worst disasters ever to hit the country. _____ 
d This was the fifth-most powerful earthquake ever recorded. _____ 
e The earthquake caused waves of up to 40 meters to travel 10 km inland and 

caused large-scale damage. _____ 



 
8 Match the functions 1–5 to the sentences (a–e) above.  

1 final summary sentence _____  
2 topic sentence – introducing what happened _____ 
3 illustrating what happened with examples _____ 
4 explanation of why it happened _____ 
5 further details of the explanation _____ 

 
Ɂɚɞɚɧɢɟ ɤ ɷɤɡɚɦɟɧɭ 3 

READING  

1 Read the article. Match the descriptions (1–4) to the correct paragraph (A–
D).  

1 Explaining the idea _____  
2 Well-known sources of energy _____ 
3 Using the technology in a real-life situation _____ 
4 How much power could we create? _____ 

 
A Most people are aware that fossil fuels are problematic. Not only are we 

running out of these resources, they also contribute to global pollution. Equally, 
most of us are familiar with alternative, renewable power sources, which aim to 
capture energy from the sun, the wind or even the sea. However, here is one 
unusual idea you may not have heard of. 

B There are well over seven billion people living in the world, and most of us 
move a lot each day. Scientists have known for a long time that electricity can be 
produced whenever pressure is applied to an object, for example with a footstep. If 
buildings or streets were equipped with sensitive floors, then a large amount of 
ОЧОrРв МШЮlН ЛО prШНЮМОН ПrШЦ pОШplО’s ПШШЭsЭОps. TСТs Тs МКllОН pТОгШОlОМЭrТМТЭв 
(pТОгШ МШЦОs ПrШЦ ЭСО GrООФ аШrН ПШr ‘prОss’). 

C One footstep alone cannot generate a great deal of power. According to 
research, a single footstep produces enough energy to keep a small light bulb 
working for just one second. However, around 28,500 footsteps would be enough 
to operate an electric train for one second. If we consider that over three million 
passengers walk through Shinjuku train station in Tokyo each day, then it is clear 
that a large amount of power could be generated this way. 

D This idea may seem unusual, but some nightclubs in the Netherlands and 
the UK have already introduced motion-sensitive dance rooms. Each floor contains 
crystals which produce electricity when they are pressed. As you can imagine, the 
large number of people dancing in these places results in a lot of piezoelectricity, 
which is then fed to nearby batteries to power ЭСО ЧТРСЭМlЮЛ. AlЭСШЮРС ЭСОsО ‘ОМШ-
НТsМШs’ КrО ЧШЭ pШаОrОН МШЦplОЭОlв Лв КlЭОrЧКЭТЯО ЦОКЧs, ЭСОв СКЯО sТРЧТПТМКЧЭlв 
reduced their energy bills. 
 
2 Find the words below in the article. Use the context to match them to the 

meanings (a–f).  

1 pressure _____ 



2 sensitive _____ 
3 generate _____ 
4 footstep _____ 
5 operate _____ 
6 motion _____ 

a create 
b movement 
c the force produced when one object pushes against another 
Н ЭСО КМЭТШЧ ШП К pОrsШЧ’s ПШШЭ ЭШЮМСТЧР ЭСО РrШЮЧН 
e easily changed or affected by something 
f to make something work 
 
VOCABULARY  

3 Match the words (1–10) to the definitions (a–j). 1 biofuel _____ 
2 geothermal energy _____ 
3 fossil fuels _____ 
4 carbon footprint _____ 
5 hydroelectricity _____ 
6 solar energy _____ 
7 wind turbine _____ 
8 carbon neutral _____ 
9 pollution _____ 
10 motorized transport _____ 

a The use of the power of the sun to create electricity 
b A measurement of how much carbon dioxide someone produces in their 

everyday life (for example, by driving, heating their home, etc.) 
c Vehicles such as cars, planes, etc. 
d Coal, gas or oil, formed underground and made from ancient plants or 

animals 
e Power created from natural heat sources below the ground 
f A large machine that creates electricity from moving air 
g Power taken from moving water sources, such as rivers 
h Fuel made from living things or their waste 
i Doing things to reduce your carbon dioxide output by the same amount as 

you produce it (e.g. by planting trees) 
j Damage caused to the air, water, etc. by harmful substances 

 
LANGUAGE DEVELOPMENT 

4 Choose the best word (a–c) to complete the collocations.  

1 Industrial _____ is one of the leading causes of global warming. 
2 Oil _____ is set to decline in the next 50 years. 
3 We need to find renewable _____ of energy in order to reduce our 

dependence on oil and coal. 
4 It is possible for cars to run on alternative _____ such as solar energy or 

natural gas. 



5 A nuclear accident would be a major environmental _____ . 
1 a energy b pollution c fuel 
2 a production b fuel c energy 
3 a fuels b problems c sources 
4 a production b fuels c problem 
5 a problem b source c pollution 
 
5 Write an academic synonym for the verbs in bold. Use the words in the list: 

contesting; utilizes; consulting; instigate; diminishing. 

1 Oil and coal reserves are decreasing rapidly. _____ 
2 There is a need to start a plan to reduce our carbon footprint. _____ 
3 Fewer people are disagreeing with the evidence for climate change. _____ 
4 After looking at the report, we agreed with its findings. _____ 
5 This vehicle uses 50% petrol and 50% biofuel. _____ 

 
GRAMMAR FOR WRITING 

6 Choose the correct relative pronoun. 

1 As ПКr Кs I’Ц КаКrО, ЭСОrО КrО ПОа pОШplО аСШ/аСТМС МКЧ lТЯО аТЭСШЮЭ 
electricity. 

2 IЭ аКsЧ’Э TШФвШ, ЛЮЭ SОЧНКТ аСТМС/аСОrО аКs СТЭ Лв ЭСО ЭsЮЧКЦТ. 
3 I studied Environmental Science which/when I was at university. 
4 It is not desirable to build wind turbines in areas where/which large amounts 

of people live. 
5 Several thousand people, whose/who homes were near the new dam, had to 

be relocated. 
 
7 Complete the phrases to introduce advantages and disadvantages in the 

texts.  

The most 1 o _ _i_ _ _ advantage of nuclear power is that it is relatively clean. 
One other 2 i_ _ e_ e_ _ advantage is that after building a power station, it provides 
quite cheap energy. Of course, the most 3 s_ _ i_ _ _ disadvantage is the risk of 
nuclear pollution if anything goes wrong.  

The 4 d_ _ t _ _ _ _disadvantage of solar power is that you need to invest in a 
lot of solar panels before you even begin to collect any energy. One other 5 a_ _ a 
_ _ _ _disadvantage is that you need to live in a sunny climate for the panels to 
work successfully. 
 
ACADEMIC WRITING SKILLS 

8 Find the mistakes with spelling or a preposition in the sentences and correct 

them.  

1 Most government are committed to reducing their carbon footprint. 
2 One the most serious problems we face today is the risk of climate change. 
3 We need to protect our environment for our children. 
4 The problem our dependence on oil is that eventually it will run out. 



5 Most people nowadays believe that we should not rely so much on fossil 
fuels. 
 
9 Find the mistakes with countable and uncountable nouns in five sentences 

and correct them.  

1 We need to book accommodations for our holiday next month. 
2 TСТs ШППТМО НШОsЧ’Э СКЯe much furniture, does it? 
3 More researches have to be conducted before we can make a decision. 
4 I lost my luggage at the airport. 
5 This computer had a lot of softwares installed. 
6 How many equipment do we need to take with us? 
7 I really appreciate all the feedbacks you gave me. 
8 IЭ’s НТППТМЮlЭ ЭШ ТЦКРТЧО аСОrО Кll ЭСТs sЭЮПП МКЦО ПrШЦ. 
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